TECHNOLOGY

Model 252
Label Printer/Applicator

Operator / Technical
Manual

CORPORATE 2057 Franklin Drive, Fort Worth, TX 76106 Phone: (817) 628-7779 Fax: (817) 626-0563 adivision of Pro Mach @
www.idtechnology.com



ID Technology
2051 Franklin Drive

Fort Worth, TX 76106
1-888-438-3242
1-817-626-7779

www.idtechnology.com

www.promachinc.com

©2012, 2013, ID Technology, LLC



http://www.idtechnology.com/�
http://www.promachinc.com/�

Welcome to ID Technology.

By selecting equipment from ID Technology, you've made a significant
investment in your business — an investment that will pay you back
through enhanced performance and increased production efficiencies.
Year after year.

Not only do you have industry-leading systems for labeling, coding and
marking, you also have the complete backing of IDT’s nationwide service
network to help keep you up and running. We're the specialists who know
how to help you solve your product identification challenges.

The very best investments are the ones you never need to worry about. Call
on ID Technology to be your specialists for labeling, coding and marking,
with products and services that deliver proven results.

TECHNOLOGY

Labeling Coding and Marking Specialists




TECHNOLOGY

Model 252
Label Printer/Applicator

Operators/Technical Manual

I. GENERAL

Il. OPERATING FUNDAMENTALS

Noogk~whE

Introduction

Initial Operation of Equipment

Safety Symbols

Safety Tips - General

Safety Tips — General Service & Maintenance

Safety Tips — General Electrical
Cleaning Of Equipment

1. Introduction

2. Unwind Assembly
3. Rewind Assembly
4. Electronics Assembly

5. Pneumatic Assembly
6. Optional Accessories

4.1 Operator Interface

4.2 PCB

4.3 Main Power Connection

6.1 Low Label Sensor

6.2 Three Stage Beacon

6.3 System Status Output

6.4 TS Series Mounting System

6.5 Tamp Module

6.6 Heavy Duty Tamp Module

6.7 Service Tamp Module

6.8 Tampjet Upgrade

6.9 Smart Tamp Sensor

6.10 Tamp Home Sensor

6.11 Swing Tamp Module

6.12 Dual Panel Module

6.13 Corner Wrap Module

6.14 Main Air Cutoff

6.15 Water Separator

I1. INITIAL SETUP

1. General Specifications

TECHNOLOGY

. 1.6 Label Roll Size

1.1 Standard Features

1.2 Overall Dimensions

1.3 Weight

1.4 Electrical

1.5 Air Requirements

NFPFRPPRPFPRPPPOOGOOCIOCORRDREEREREDRDPOOWOWWWWWWDNDNPNDNDNMNNNPEPOOOLONOOOGIWDNDN O




Model 252

Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual
1.7 Label Style 2
1.8 Standard Label Size 2
1.9 Environmental Requirements 2
1.10 Noise 2
1.11 Safety 2
1.12 Declaration of Conformity 3
2. Lifting and Moving 4
2.1 Assembling the Stand Components 5
2.2 Mounting the 252 Applicator 7
2.3 Mounting the 252N Applicator 8
2.4 Mounting the 252E Applicator 9
2.4.1 252E U-Arm Installation 9
2.4.2 252E Pedestal Base Installation 11
3 Installing the Accessories 12
3.1 Inner Unwind Flange 12
3.2 Extra (Support) Hub 12
3.3 Outer Unwind Media Retainer 12
3.4 Rewind Clip 13
3.5 Product Detect Photocell 14
3.6 Interface and Power Cables 14
3.7 Three Stage Indicator Beacon 14
3.8 Filter/Regulator 15
3.9 Tamp Module / Heavy Duty Tamp Module 16
3.9.1 Tamp Module Installation 16
3.9.2 Air Assist Bracket and Tube 18
3.10 Service Tamp Assembly 19
3.11 Tampjet Upgrade 20
3.11.1 Tampjet Upgrade Installation 20
3.12 Smart Tamp Sensor Installation 22
3.13 Tamp Home Sensor Installation 23
3.14 Swing Tamp Assembly 24
3.15 Dual Panel Tamp Assembly 27
3.16 Corner Wrap Assembly 30
3.17 System Status Output 31
3.18 Low Label Detector Installation 32
4 User Interface Overview 33
4.1 Initial Startup Screen 33
4.2 Main Menu 33
4.2.11D Logo 33

4.2.2 Status 34

TECHNOLOGY




TECHNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual

4.2.3 Security &

34

)
4.2.4 Online/Offline /D

35

4.2.5 Save Setup %

35

4.2.6 Vacuum Mode %

36

4.2.7 Print Mode

36

4.2.8 Apply Mode .

36

4.2.9 Recall Setup 5

37

4.2.10 Outputs &

37

4.2.11 Dwells/Delays

38

4.2.12 Multiplier *

38

4.2.13 Back/Cancel ;b

38

4.2.14 Enter <J

38

4.2.15 Jog Q)

39

4.2.16 Dual Panel mﬁ

39

5 Application Setup

40

5.1 Loading Labels

40

5.2 Vacuum Mode %

42

=34
5.3 Printer Mode

42

5.3.1 Normal Mode

43

5.3.2 Reverse Mode

43

5.3.3 Data Driven Mode

43

5.4 Apply Mode '

44

5.4.1 Tamp Mode

44

5.4.2 Tampjet Mode

45

5.4.3 Reverse Tampjet Mode

45

5.4.4 Airjet Mode

46

5.5 Setting Online/Offline /@

47

5.6 Setting the Label Sensor (Apply Only Module)
5.7 Air Assist Delay

47

47

5.8 Tamp Dweell =

48

TECHNOLOGY




TECHNOLOGY

Model 252
Label Printer/Applicator

Operators/Technical Manual

5.9 Blast Dwell %

49
5.10 Label Feed Delay % 49
5.11 Apply Delay 50
5.12 Smart Delay % Smart Tamp 52
5.13 Tamp Home Sensor Setup 52
5.14 Setting up Tamp Applications 53
5.14.1 Setting the Tamp Position 53
5.14.2 Setting the Pressures 55
5.14.3 Setting the Tamp Motion 57
5.14.4 Adjusting the Air Assist 59
5.14.5 Setting the Vacuum 59
5.15 Swing Tamp Setup 60
5.16 Dual Panel Tamp Setup 60
5.17 Corner Wrap Setup 62
5.17.1 Label Dispense Adjustments 62
5.17.2 Label Application Adjustments 65
5.18 Low Label Detection Verification 67
6 Save/Recall 68
6.1 Save Configuration 5 68
6.2 Recall Configuration 5 69
6.3 System Configuration Information 70
7 Dual Panel Application 71
7.1 Dual Panel Mode ﬁ]ﬁ 71
7.1.1 Mode 1 71
7.1.2 Mode 2 71
7.1.3 Mode 3 71
7.1.4 Mode 4 71
7.1.5 Mode 5 72
=
7.2 Dual Panel Tamp Dwell 72
7.3 Dual Panel Smart Delay % 72
IV. CARE, MAINTENANCE AND TROUBLESHOOTING 0
1. Maintenance Schedule 1
2. General Cleaning and Inspection 2
3. Bearings 2
4. Troubleshooting 3

TECHNOLOGY




Model 252

Label Printer/Applicator
Operators/Technical Manual

TECHNOLOGY
5. Main Voltage Selection 4
6. Motor Direction Selection 4
7. Changing the Fuses S)
8. Electronics Assembly 6
9. 252 Firmware Update 7
10. Printer/Applicator Interface Cable Pin Mapping 12
11. Unwind Brake and Dancer Arm 13
12. Rewind Assembly Maintenance 15
12.1 Drive Belt Removal 15
12.2 Drive Belt Replacement 16
12.3 Drive Pulley Replacement 16
12.4 Drive Motor Replacement 17
V. DRAWINGS AND DIAGRAMS 0
Figure 1: 252 with Standard Tamp Dimensions 1
Figure 2: 252 with Heavy Duty Tamp Dimensions 2
Figure 3: 252N Basic Dimensions 3
Figure 4: 252E Basic Dimensions 4
Figure 5: 252E/U-Arm Basic dimensions 7
Figure 6: 252E/Pedestal Base Basic Dimensions 9
Figure 7: 252 Wiring Diagram 11
Figure 8: Interface Board Layout 12
Figure 9: External Connectors 13
Figure 10: Internal Connectors 15
Figure 11: Exploded View, 252 Base Module 1D100002/1D100003 17
Figure 12: Exploded View, 252 Faceplate Assembly 1D100033/1D100034 18
Figure 13: Exploded View, 252 Unwind Assembly 1D100013/ID100014 20
Figure 14: Exploded View, 252 Rewind Assembly 1D100021/1D100022 22
Figure 15: Assembly View, ID100001 Electronics Assembly 24
Figure 16: Exploded View, 252 Pneumatics Module 1D100037/1D100038 25
Figure 17: Exploded View, 62200-XX Tamp Assembly 26
Figure 18: Exploded View, 62260-XX Heavy Duty Tamp Assembly 27
Figure 19: Exploded View, 62190-XX Service Tamp Assembly 28
Figure 20: Exploded View, 62201-XX Swing Tamp Assembly 29
Figure 21: Exploded View, 1D100240-12-XX Dual Panel Tamp Assembly NU/ND_ 30
Figure 22: Exploded View, 1D100241-12-XX Dual Panel Tamp Assembly Reels Up 32
Figure 23: Exploded View, 62870-XX Corner Wrap Assembly 34
Figure 24: Exploded View, 252N Assembly 1D100060/ID100065 37
Figure 25: Exploded View, 252E Assembly 1D100070 38
Figure 26: Installation Instructions, 62130 Main Air Cutoff Assembly 40
Figure 27: Installation Instructions, 62150 Water Separator Assembly 41
Risk Assessment 42

TECHNOLOGY

_Figure 28:




Model 252

Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual
VI. COMPONENT INFORMATION 0

MiniBeam Photocell 1
11/2013




. GENERAL



Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

HNOLOGY

MANUAL
INTRODUCTION

Your ID Technology Model 252 Label Printer/Applicator was designed
for ultimate efficiency and minimum maintenance. High quality
performance can be maintained and prolonged if the Operation and
Preventative Maintenance Care and Instructions provided in this manual are
followed carefully and consistently.




Model 252
Label Printer/Applicator
Operators/Technical Manual

A CAUTION

READ BEFORE OPERATING EQUIPMENT

1. Introduction
All operating and maintenance personnel must read this manual carefully and pay
special attention to the warnings and cautions before operating or servicing the
machinery.

2. Initial Operation of Equipment
ID Technology equipment is carefully assembled and checked before it is shipped
from the factory. Upon completion of field installation all fasteners, set screws, etc.
should be checked for tightness. After an initial operating period of 40 to 60 hours,
the equipment should again be thoroughly inspected for any signs of loose fasteners,
set screws or other components and necessary corrections made.

HNOLOGY




Model 252
Label Printer/Applicator
Operators/Technical Manual

3. Safety Symbols

The directions in this manual must be observed for the safety of people and
machines. The followings symbols are used throughout this manual and located on
your machinery to call attention to important safety issues. These warnings or

cautions must be strictly observed.

A
A\
L

L~

00 NOT OPERATE THIS
HACHE WiThouT
GUARDS [N PLAE

n
®
o

f AUTOMATICALLY
STARTS

a]

HNOLOGY

DANGER
WARNING
CAUTION

DANGER

ATTENTION

INFORMATION
COMMENT

WARNING

General Danger

Used when the life or health of the operator is
in danger or considerable damage to property
can occur

Electricity - Danger

Used when a task is mandatory
for safe and disturbance free
operation

Used when additional information
is needed or an item needs
special attention

Do not touch, keep hands and limbs clear of

machinery

Warning: Do not operate this machine
without guards in place

Warning: Machine or device automatically
starts.




HNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual

DANGER

DANGER

DANGER

DANGER

DANGER

MANDATORY
ACTION

Moving parts can crush and cut. Do not
operate with guards removed. Follow lock-
out procedure before servicing.

Pinch Point: Keep hands clear of rollers.
Follow lock-out procedure before servicing.

Moving parts can crush and cut. Do not
operate with guards removed.
Follow lock-out procedure before servicing.

Burn Hazard: Hot surface, do not touch.

Moving parts can crush and cut. Do not
operate with guards removed.
Follow lock-out procedure before servicing.

Consult service manual.




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

4, Safety Tips - General
Prior to “starting” equipment, make sure that all personnel are clear of
equipment and that all foreign objects and tools have been removed.

2. All guards shall be in place before operating equipment. SEE PAR. 3 -
SAFETY SYMBOLS.

3. All starting and stopping devices must be clearly marked. SEE PAR. 3 -
SAFETY SYMBOLS. The area around these devices shall be kept free of
obstructions and permit ready access to them and a clear view of them at all
times.

4. The area around all loading and unloading points on equipment must be kept
free of obstructions to permit ready access to them and a clear view of them at
all times.

5. No “riding” shall be permitted on any equipment.

6. No overload or safety device shall be removed from the equipment. Provisions
should be made to prevent anyone, except a competent authorized person, from
adjusting safety devices.

7. At no time shall any equipment be used for a purpose beyond its design
limitations.

8. Good housekeeping shall be maintained at all times.

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5. Safety Tips — General Service & Maintenance
1. Do not service a machine until you are thoroughly qualified, trained and
familiar with the tasks to be performed. Only trained personnel should be
operating machines.

2. Never operate any controls while other persons are performing maintenance on
the machine.

3. All personnel working on or near equipment shall be instructed in the location
and operation of all stopping devices.

4. Maintenance work should not be performed while equipment is in operation.
If it is necessary to operate the equipment while servicing it, special safety
provisions shall be used.

5. When equipment is stopped for servicing purposes, the starting device shall be
locked and tagged out by the person servicing the equipment. The equipment
shall be restarted only by the person who locked and tagged the equipment.

6. Before restarting equipment that has stopped due to an overload condition, an
inspection of the equipment shall be made and the cause of the overload cleared
before attempting to restart the equipment. The starting device shall be locked
and tagged out before any attempt is made to remove the cause of an overload.

7. Do not by-pass safety devices.
8.  Always use the proper tools for the job.
9.  Never open covers with the power on.

10. All air and hydraulic pressure must be relieved before performing maintenance or
loosening connections on any pressurized system.

11. Air, hydraulic and electrical power is to be turned off unless absolutely required for
the specific service being performed.

For maximum protection, the power source should be locked out using a

lock for which only one person has the key. This prevents anyone from
accidentally turning on the power to the machine while it is being

serviced.

HNOLOGY




Model 252
Label Printer/Applicator
Operators/Technical Manual

6. Safety Tips — General Electrical

1.

4.

All electrical/electronic maintenance and service should be performed only by
trained and authorized electricians.

Assume at all times that the power is “ON”. Treat all conditions as live.

To remove load from circuit or equipment, open disconnect or breaker and
lock in open position. For maximum protection, a locked out switch in open
position using a lock for which only one person has the key, prevents anyone
from accidentally turning on the power.

Make certain that the circuit is open by using the proper test equipment.

ﬂ Test equipment must be checked at regular intervals.

10.

Give capacitors time to discharge, otherwise discharge manually with care.

There may be circumstances where “troubleshooting” on live equipment may
be required. Under such conditions, special precautions must be taken as
follows:

a. Make certain your tools and body are clear of the ground.
b. Take extra safety measures in damp areas.
c. Bealert and avoid any outside distractions.

Before applying power to any equipment, make certain that all personnel are
clear of the machine.

Open control panel doors only to check out electrical equipment or wiring.
After the panel door is closed, make certain that (on those panels, where
applicable) the disconnect handle mechanism is operating properly.

Close all covers on junction panels before leaving any job.

Replace fuses only when electrical power is “OFF” (locked out).




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

7. Cleaning Of Equipment

ﬁ Before attempting to clean any machinery, the machine must be turned
off and the power and air locked out.
ID Technology equipment is designed to be compatible with typical industrial
packaging lines. Normally, paper and packaging residue can be removed with manual
methods such as brushing, blowing or vacuuming the surfaces and components affected.

If compressed air is used to blow loose material from machines, personnel
A must wear eye protection and follow normal safety practices for the use of

compressed air.
The use of strong caustic liquid or foam type chemical cleaners must be avoided as this
type of cleaner can damage surface finishes and elastomeric materials such as bearing
seals. The use of liquid cleaners is generally not recommended except for Isopropyl
Alcohol to remove label adhesive buildup. If unusual circumstances require the use of
liquid cleaner, the cleaner should first be tested on a small inconspicuous part of the
machine finish. 1D Technology equipment is not designed for general wash down. If a
pressure type washer is used, damage to bearings, air cylinders, motors or other similar
devices may result. Consult ID Technology Technical Services for questions concerning
equipment cleaning.

f Keep all liquids away from electrical components.




1. OPERATING FUNDAMENTALS



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

1. Introduction
The Model 252 label printer/applicator is designed to print and apply informational or
decorative pressure sensitive labels to a wide variety of products and packaging. A
variety of engines and label application modules can be fitted to the Model 252 to meet
application specific labeling requirements. Application modules include multiple tamp
options and corner wrap units. A further upgrade to the tamp options is available with
the addition of tampjet pneumatics. Additional options to enhance control, operation, and
interface are available as well.

PNUEMATIC
ASSEMBLY

ELECTRONICS

APPLICATION MODULE ASSEMBLY

(SERVICE TAMP SHOWN)

BACK COVER REMOVED

FOR ILLUSTRATION PURPOSES
OPERATOR
INTERFACE

LOW LABEL

FILTER

REGULATOR
ASSEMBLY\

REWIND
ASSEMBLY




Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

HNOLOGY

2. Unwind Assembly
The unwind assembly holds the roll of label stock and controls the tension of the web.
The unwind assembly consists of an unwind spindle on two sealed roller bearings, a
spring-loaded dancer arm and a brake mechanism. As the web pulls on the dancer arm,
the brake pressure is released and the roll is free to spin. When sufficient stock is fed, the
dancer returns to the rest position and the brake is reapplied.

3. Rewind Assembly
The sole purpose of the rewind is to accumulate the waste liner, keeping it from spooling
on the floor. There are no adjustments needed. The waste rewind is controlled by a v-
belt drive from the drive pulley. The drive pulley has a v-groove to provide positive
drive to the belt and the rewind roller has a flat bottom groove and relies on belt tension
and friction to spin the take up. Waste liner feed, used in conjunction with a tensioner
arm and dancer roller, controls the activation of the rewind belt.

4. Electronics Assembly
The electronics assembly contains the components that control the functionality of the
applicator, provide power to the various components, and connect to various sensors and
indicators.

4.1 Operator Interface
The operator interface is the primary means of operator control and feedback. Various
settings, such as speed and timing, are adjusted using the interface. The current machine
operating status is displayed upon demand by way of the interface.

4.2 PCB

The PCB is the heart of the controls for the applicator. The PCB runs a proprietary
control program written specifically for the Model 252 label printer/applicator. Timing
cycles, interaction with various sensors, indicators and motor controller, as well as
communications with the operator interface are all controlled by the PCB. Connections
for the control of standard and optional equipment are located on the PCB.

4.3 Main Power Connection
A power entry module with an “ON-OFF” switch is located on the rear panel of the
electronics module. Power for the entire label printer/applicator is provided through this
connector. A separate power supply for the PCB is contained within the electronics
module and a permanently attached power cord is used to provide power to the engine. A
power cord with the appropriate connections is provided with each Model 252.

5. Pneumatic Assembly
The pneumatic assembly is the primary control and distribution center for the pressurized
air used by the Model 252. All electrical control of the pneumatic assembly is done
through connections to the electronics assembly.




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

6. Optional Accessories

6.1 Low Label Sensor
The low label sensor mounts to the Unwind Assembly and connects to the interface
board. The sensor provides advance notification that the label supply will soon run out.
This indication is displayed with the optional three-stage beacon and/or through the
optional system status output connection.

6.2 Three Stage Beacon
The three-stage beacon provides visual indications for “Fault condition”, “Low
condition”, and “All systems OK” machine conditions.

6.3 System Status Output
The system status output provides an interface with external devices or controls. The
status of specific printer/applicator conditions can be monitored through the provided
connection.

6.4 TS Series Mounting System
The TS series mounting system provides the components to allow the applicator to mount
in virtually any application. A variety of modular components, including T-bases, H-
bases, floor plates and adjustment components provide the flexibility to meet most
mounting requirements.

6.5 Tamp Module
A tamp module allows a direct contact method for applying labels to products or
packages. See the Tampjet Upgrade for a non-contact option. A label is fed onto the
tamp pad and held in place by means of an adjustable vacuum. As the object to be
labeled passes by, the tamp pad is extended to apply the label to the object. The tamp pad
then retracts and the cycle is repeated for the next object. The tamp module is available
in2”,4”,6”, and 8” stroke lengths. The vacuum tamp pad is machined specific to a label
size which requires a different pad for each label size to be run on the applicator.
Specific application requirements may require the use of another type of tamp module.

6.6 Heavy Duty Tamp Module
A heavy duty tamp module, while operationally identical to the standard tamp module,
may be needed in some applications. Larger diameter guide rods and bearings combined
with a stabilizer clamp characterize this module. Stroke lengths over 10” require the use
of the heavy duty tamp module. In addition, some application positions, such as “reels
up”, will benefit from the added strength and rigidity of a heavy duty unit to ensure
correct label placement.

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

6.7 Service Tamp Module
The service tamp module performs exactly like a standard tamp module. The additional
service feature allows the tamp pad and air cylinder/bearing block portion of the tamp
assembly to be rotated in an outward direction. This allows for easier access when
servicing the engine or performing tamp pad change-over operations. Tamp pad
requirements remain the same.

6.8 Tampjet Upgrade
The tampjet upgrade kit converts the tamp pneumatics to add tampjet functionality.
Tampjet adds a blast of compressed air at the end of the tamp stroke to propel the label
from the tamp pad to the product. This is useful for applying labels to delicate products,
fast moving products, or products with slightly irregular surfaces. The tampjet upgrade
kit contains the tampjet valve and all required plumbing and electrical connections.

6.9 Smart Tamp Sensor
With the addition of a smart tamp sensor, tamp type applications can be used with
products that may vary in size. The sensor is mounted just above the tamp pad and
positioned to detect the product to be labeled. During label application, the sensor detects
the product and provides a signal to the electronics module. This signal is used to control
the activation timing of the tamp solenoid valve. This effectively adjusts the stroke
length of the tamp assembly air cylinder to the correct label application position.
Adjustments are provided for fine tuning the actions.

6.10 Tamp Home Sensor
The tamp home sensor is used to signal that the tamp unit has returned to the fully
retracted or “home” position. This signal can be sent to the system status outputs for use
with external printer applicator or other control systems. The only available adjustment
is to the sensitivity of the sensor. See the Component Information section for more
information.

6.11 Swing Tamp Module
Swingarm tamp modules can be used for some applications that require applying labels in
restricted spaces or at odd angles. Several swingarm tamp modules are available and can
be configured to match the Left Hand or Right Hand model 252. They can be mounted to
the baseplate in swing out, swing left, or swing right directions.

The swing left or swing right mounting must match the label feed

direction and will place the adhesive side of the label facing that direction

as well. The swing out direction will result in the adhesive facing to the
front of the Model 252.

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

6.12 Dual Panel Module

The Dual Panel Module is a special application unit that combines a straight tamp and a
swing arm tamp to apply labels to two adjacent panels of a carton. The dual panel
module utilizes special firmware to provide the controls required to perform the desired
application cycles.

6.13 Corner Wrap Module

The Corner Wrap Module is a special application unit used to place labels on the corners
of containers. The module allows equal lengths of a label to be applied on two adjacent
sides of a box corner. A roller is used to apply pressure to the label as it comes in contact
with the product. Supplied with the needed connections and hardware, the module is
mounted to the baseplate in the same attachment location as the tamp units. Special
orientation and setup may be required when using a corner wrap module.

6.14 Main Air Cutoff

The main air cutoff upgrade can be installed on the filter regulator assembly supplied
with the tamp upgrade. The cutoff provides a quick method of disconnecting the
applicator from plant air, venting all residual pressure in the applicator and providing a
lockout point for maintenance. Installation instructions can be found in the drawings
section of this manual.

6.15 Water Separator
The water separator upgrade can be installed on the filter regulator assembly supplied
with the tamp upgrade. The water separator is useful when there is excessive dirt, oil or
water present in the compressed air supply. The assembly provides an additional three
stages of contamination removal to the standard filter regulator. Installation instructions
can be found in the drawings section of this manual

HNOLOGY




[11. INITIAL SETUP



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

1. General Specifications

1.1 Standard Features
o Choice of printers to suit every application. The 252 Applicator will
accommodate standard Sato, Zebra, and Datamax print engines without
modification.
Microprocessor driven on a single board
e 4” Tamp stroke standard, capable of conversion to various stroke lengths from 2”
to 8”

e Regulators and air gauges controlling Tamp, Air Assist, and Vacuum Pressures
o Right and Left Hand options for 252 and 252N models

1.2 Overall Dimensions

29.13

-
;:' 16.25
[
q ]:I
e | —
° @ 1P 9.25
° M)
® ﬁ E
23.12 11.00 14.50

1.3 Weight
Model 252 Base w/o Print engine: 71 Ibs

1.4 Electrical
100-240 VAC, 50-60Hz, Single Phase, 3.0A-1.5A
See the manual for the type of print engine used for individual electrical requirements and
adjustments.

1.5 Air Requirements
Clean, dry air at 80psi minimum to 120psi (approximately 6.1 bar) 3-5 CFM dependant
on the application method and rate.
e The supply pressure must always be greater than the highest pressure being used
on the applicator
e The applicator has a filter with drain on the plant infeed supply. To ensure
reduced maintenance time, a pre filter upstream is recommended.

HNOLOGY




Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

HNOLOGY

1.6 Label Roll Size
14” OD x 3” ID

1.7 Label Style

Pressure sensitive Die cut, waste removed, outside wound, 1/8” minimum gap in the
running direction, 1/16” precision edge trim with no splices.

1.8 Standard Label Size

Label sizes are print engine dependent. Refer to the manual for the specific print engine
installed.

1.9 Environmental Requirements
Temperature: 32°F - 104°F
Relative Humidity: 15%-85% (non-condensing)
See the manual for the specific print engine installed for additional individual
requirements.

1.10 Noise
Noise emissions are dependent upon method of operation and settings. Noise is typically
less than 76dBA. Hearing protection is not required by OSHA guidelines, but 1D
Technology recommends the use of hearing protection during periods of prolonged
exposure.

1.11 Safety
The Model 252 can be used in a variety of applications and in conjunction with other
machinery. The 252 has been designed and evaluated to comply with a number of
industry and international directives. Due to the variety of possible uses of the Model
252, installation of the Model 252 may change the criteria for compliance. Once
installed, it is the responsibility of the purchaser to evaluate and implement measures to
return the Model 252 and the host system to compliance. Evaluation should include but
is not limited to;

e Power and air cutoffs

Emergency stops

Electrical ground protection

Guarding and interlocks

Environmental enclosures




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

—
—
o
—
—
——
I+
—
—
—
I+
—
L

PEEE PR b A b

1.12 Declaration of Conformity
Declaration of Conformity

The manufacturer of the products covered by this declaration is

ID Technology, LLC
2031 Franklin Drive
Fort Worth, TX 76106
United States of America

—
—
m—
—
—
—
—
—
—

W +1 817626 7779
susen o P Mach & www.idtechnology.com

The directives covered by this declaration

2006/42/EC ~ Machinery directive (consolidated edition)
2004/108/EC  Electromagnetic Compatibility (EMC) directive, as amended

The products covered by this declaration
1D Technology Model 252 Label Printer Applicator

This basis on which conformity is being declared

The products identified above comply with the protection requirements of the EMC directive, and the
manufacturer has created the Technical Construction File number; TCF-252-1

which includes report/certificate number; 31360658

from the EMC Competent Body: TUV Rheinland LGA Products GmbH, Tillystrale 2, 90431 Nurnberg, Germany

The products identified above also comply with the principal elements of the safety objectives of the Low
Voltage directive, and with the essential health and safety requirements of the Machinery directive. The
manufacturer has applied the following standards:

EN ISO 12100 - 2010 Safety of machinery -- General principles for design -- Risk assessment and risk
reduction.

IEC 60204-1 (Fifth Edition) +A1:2008 Safety of machinery - Electrical Equipment of machines - Part 1
General requirements

IEC 61000-6-4:2007 Electromagnetic compatibility (EMC) - Part 6: Generic standards - Section 4:
Emission standard for industrial environments

IEC 61000-6-2:2005 Electromagnetic compatibility (EMC) - Part 6: Generic standards - Section 2:
Immunity for industrial environments

The technical documentation required to demonstrate that the products meet the requirements of the Low
Voltage directive has been compiled and is available for inspection by the relevant enforcement
authorities. The CE mark was first applied in; 2073

Sigmed:. o oot
4."are ! Shipmar

Authorized:.. I»Qf 'n-)_ s i}.. .« Vice President and General Manager

Db s R A AT L. 15112013

Attention!

The attention of the specifier, purchaser, installer, or user is drawn 1o special measures and limitations to use which must be
observed when these products are installed, taken into service, operated, and maintained, to maintain compliance with the above
directives. Details of these special measures and limitations to use are available on request, and are contained in the product
manuals.

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

2. Lifting and Moving
The ID Technology Model 252 has been delivered to you in a shipping carton on a skid
along with any optional stand components purchased. It is recommended that the cartons
not be removed from this pallet until it is in close proximity to the intended installation
area. The first steps towards installation should involve unpacking and assembly of the
stand components. Use caution when assembling the stand as some components are quite
heavy and the stand may be unstable until it is fully assembled.

To prevent back injury, always use a lifting belt and lift with the legs, not
with the back or arms.

Be sure to remove and retain the % hex nut and washers from the
adjustment slide/applicator mounting block of the stand. Be sure they are
easily reachable prior to bringing the applicator to the stand.

Once the stand is assembled and positioned near the point of use, open the carton
containing the Model 252 label printer/applicator. Locate and set aside the package
containing the standard and optional accessories, as well as any additional items that may
have been included with the applicator. Carefully remove the applicator from the carton
by lifting using the u-shape mounting yoke.

To prevent back injury, always use a lifting belt and lift with the legs, not
with the back or arms.

may have loosened, allowing the faceplate to rotate freely. Use caution

when lifting as fingers could be pinched. Support the faceplate when first

lifting until you are sure it is secure.lt is recommended that all packing

material and the original shipping

carton be retained in case the unit must be sent back to the factory for
upgrades, refurbishment or repair.

Lifting the applicator by the rollers, applicator assembly, unwind or
@ rewind spindle is not recommended. This can cause damage or

misalignment that will cause the unit to not operate properly.

f During shipment, the bolts that lock the faceplate to the mounting u-arm




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

2.1 Assembling the Stand Components
There are a multitude of mounting options available, depending on the application
requirements. For use in a fixed location, two floor plate options are available. Both
options require permanent attachment to the floor. The machine center of gravity must
be taken into consideration when deciding which of the other configurations is to be used
for the application.

Failure to follow mounting method requirements can cause unstable
machine mounting resulting in damage and/or injury.

WHEN THE TS8000 OR TS8001 FLOOR PLATE

IS NOT USED, THE APPLICATOR CENTER OF GRAVITY
MUST BE LOCATED WITHIN THE TRIANGULAR AREA
INDICATED TO ENSURE MACHINE STABILITY.

TEE—

i)

The basic “T” Base assembly consists of a TS2000 “T”” Base and a TS1000 Upright
Assembly. Normally, the TS1000 mounts directly to the TS2000. The Upright must be
attached to the “T” Base with the applicator mounting bolt over the long leg of the base.
If in and out adjustment is needed, and the upright position can vary, a TS3000 Slide
Base can be mounted between the TS2000 and the TS1000 Upright.

If the upright position must remain stationary, adding the TS4000 Traversing Post will
allow the same range of adjustment. Also, the TS4000 is used when the applicator must
be mounted from above.

An additional 12” of height is available by utilizing the TS5000 Extension Post. It can be
mounted on the TS3000 Slide Base or directly to the TS2000 “T” Base.

Refer to the following illustration for guidance.

HNOLOGY




—
— *
—
—
—l¥
e
— K-
—
—
[+
— +*
[

TECHNOLOGY

Model 252

Label Printer/Applicator
Operators/Technical Manual

TS4000 TRAVERSING POST
(OPTIONAL)

APPLICATOR MOUNTING
BOLT

TS5000 12" EXTENSION POST /

(OPTIONAL)

TS2000 "T" BASE

TECHNOLOGY

TS1000 VERTICAL POST

TS3000 SLIDE BASE
(OPTIONAL)

PARTS LIST
PART NUMBER DESCRIPTION
TS1000 POST,VERTICAL MOUNTING 60"
TS2000 "T" BASE
TS3000 SLIDE BASE
TS4000 TRAVERSING POST
TS5000 12" EXTENSION POST
TS8000 BASE,FLOOR PLATE ROTATIONAL
TS8001 PLATE,FLOOR

TS8000 ROTATIONAL
FLOOR PLATE
(OPTIONAL)

(OPTIONAL)

TS8001 FLOOR PLATE




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

2.2 Mounting the 252 Applicator
Once the applicator is out of the carton, it is time to attach it to the stand. There are a
multitude of mounting styles and orientation depending on the application, line
configuration, product handling and label placement. The first determination of
mounting will be the construction of the stand. In general, the applicator will be mounted
from below, behind or above.

PRODUCT

Once the desired mounting position is identified, lift the applicator by the u-arm and
place it on the stand by inserting the mounting stud of the stand into the hole on the u-
arm. Immediately install the washers and locking nut that came with the stand and
tighten until the applicator is firmly secured. The Model 252 features an added set tilt
mounting block. This allows the main attachment bolts on either side to be loosened in
preparation for position adjustment while preventing uncontrolled rotation of the
applicator. Slowly loosen the bolt securing the set tilt block until the applicator can be
pivoted to the correct application position. Fully tighten the main attachment bolts and
then tighten the set tilt bolt.

If the applicator is to be mounted from the top, a second person must be

assisting. One person must support the applicator while the other installs

the washers and locking nut. Injury and/or damage can occur if
installation is attempted alone.

When mounting from the side or bottom, the applicator will suspend itself

from the mounting stud prior to the locking nut being installed. Do not

leave the unit unattended or attempt operation until the locking nut has
been firmly secured.




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

2.3 Mounting the 252N Applicator
The 252N applicator can only be mounted in a “reels up” position. A short or tall upright
must be used and provides height adjustment. An adjustment screw is used to make
small applicator leveling adjustments. Before installing the applicator on the stand,
retract the adjusting screw to minimum depth. Lift the applicator and place it on the
stand by inserting the mounting stud of the stand into the hole in the mounting plate.
Immediately install the washer and locking nut that came with the stand and tighten until
the applicator is secured but still movable. Readjust the leveling screw as needed to
position the applicator correctly and tighten the locking nut until secure.

LEVELING

UPRIGHT

STAND\

MOUNTING
sTuD | [ [g,

FLAT WASHER
LOCK NUT

When mounting, the applicator will suspend itself from the mounting stud
prior to the locking nut being installed. Do not leave the unit unattended or
attempt operation until the locking nut has been firmly secured.




a]

HNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual

2.4 Mounting the 252E Applicator

The 252E Printer/Applicator can be mounted with two different basic mounting options.
The first of the two is a “U” arm similar to the 252 “U” arm. The other option is an
adjustable height pedestal base. The pedestal base option is normally used for fixed
position application configurations.

2.4.1 252E U-Arm Installation

The 252E U-Arm Mounting Assembly is utilized to mount the 252E in the same manner

as the 252. The “U” arm has an alternate enclosure mounting position which can be used
to extend the applicator away from the upright. This is especially useful when used with
a wide conveyor. A stabilizer block is provided with the 252E as extra support when the
“U” arm is mounted in a vertical position. An adjustable tilt attachment is also included

to aid in fine tuning to the optimum operating position.

If the “U” arm is not attached to the 252E from the factory, it should be installed before
mounting to any other support. To install the “U” arm on the cabinet, remove the 20mm
mounting bolts along with all of the associated washers from the cabinet. Position the
“U” arm over the cabinet aligning the mounting holes. Place the washers in line with the
mounting holes and, in the correct order, secure each set with the 20mm hex head bolt.
Failure to install the washers in the correct order can affect proper sealing of the
enclosure and result in damage to the equipment.

M20 BOLT

M20 SPLIT WASHER
/MZO FLAT WASHER
3/4" FLAT WASHER
SEALING WASHER

1D100172




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

After the “U” arm has been secured to the cabinet, the complete assembly can be
mounted to the upright or other supporting structure.

The “U” arm attaches to the upright using the washer and locking nut supplied with the
upright. To mount the 252E to an upright, support the enclosure, and insert the mounting
stud on the upright into the hole on the “U” arm. Immediately install the washer and
locking nut that came with the stand and tighten until the applicator is secured but still
movable. Adjust the tilt attachment screws and upright stand as needed to position the
applicator correctly and tighten the locking nut until secure.

TILT
ADJUSTING
SCREWS
ALTERNATE ENCLOSURE
MOUNTING POSITION
UPRIGHT/ bz )
STAND -
A FLAT
: WASHER
o Lock NUT
MOUNTING :
STUD
STABILIZER
BLOCK

APPLICATOR AND ENCLOSURE
REMOVED FOR ILLUSTRATION

If the applicator is to be mounted from the top, a second person must be

assisting. One person must support the applicator while the other installs

the washers and locking nut. Injury and/or damage can occur if
installation is attempted alone.

When mounting from the side or bottom, the applicator will suspend itself

from the mounting stud prior to the locking nut being installed. Do not

leave the unit unattended or attempt operation until the locking nut has
been firmly secured.

10



a]

HNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual

2.4.2 252E Pedestal Base Installation

The 252E Pedestal Base Mount option allows the applicator to be mounted in a fixed
position with adjustments to the vertical height of the application module. Two height
range versions are available to fill application specific requirements.

The 252E can be attached to the base in either a nose up, or nose down orientation. To
attach the cabinet to the base, orient the cabinet flush to the base rails and insert the bolt
and washers through the mounting plate. Care should be taken to install the washers and
bolt in the proper order to ensure the sealing of the cabinet is maintained. Notice that
there are two holes in the attachment plate in the center of the base. One hole is used
when orienting the cabinet in a nose down position. The other hole is used for a nose up
position. Installation in the proper mounting hole will result in the sides (non-door sides)
being flush with the pedestal base and the doors overhanging the base equally.

NEOPRENE FOAM STRIPS SEALING WASHER

3/4" FLAT WASHER

M20 FLAT WASHER

M20 SPLIT WASHER

M20 HEX HEAD BOLT

11



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3 Installing the Accessories
Once the applicator is firmly attached to the stand, locate the accessory pack and other
optional components provided.

3.1 Inner Unwind Flange
After unwrapping the flange pack, locate the inner flange. This can be identified by the
lack of a locking instruction label on the hub. With the hub facing out, place the flange
on the unwind shaft and slide it as far as it will go towards the faceplate. The flange will
come to rest against the snap ring on the unwind shaft. Locate the tapped hole on the
outer rim of the flange and align it with the flat on the shaft. Using a 4mm hex wrench,
tighten the setscrew in this hole firmly against the flat on the unwind shaft. Note the
locking spur on the edge of the hub. The spur is designed to increase pressure on the
inside of the label roll core and prevent it from slipping on the hub. See the Loading the
Labels section for instruction on using the locking spur.

Due to vibrations in shipping, the setscrew may have moved in, out or
n completely fallen out of the hub. It may be necessary to back the screw out

in order to put the hub on the shaft. If there is no screw in the hub, please
check the packaging that the flanges were in.

3.2 Extra (Support) Hub
Depending on the width of the labels being used and/or the orientation of the applicator,
it may be helpful or necessary to use the extra hub to support the outboard side of the
label roll. Similar to the Inner Unwind Flange, the extra hub slides onto the unwind shaft
and the set screw should be tightened against the flat on the shaft. At this point of
installation, slide the extra hub near the inner flange and snug the setscrew against the
shaft flat. Final adjustment of this hub will be done when labels are loaded.

Due to vibrations in shipping, the setscrew may have moved in, out or

completely fallen out of the hub. It may be necessary to back the screw out

in order to put the hub on the shaft. If there is no screw in the hub, please
check the packaging that the flanges were in.

3.3 Outer Unwind Media Retainer
The outer unwind media retainer (Outer Unwind Flange) is rectangular in shape and has
the locking directions label on the hub as well as the soft hub locking insert. Using the
diagram on the locking directions label, align the flat on the diagram with the flat on the
unwind shaft and insert the unwind shaft into the retainer hub. Once the retainer is on the
shaft, rotate the retainer either clockwise or counterclockwise until it locks into place.

HNOLOGY

12



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.4 Rewind Clip

Locate the rewind clip. Holding the rewind clip by the u-shaped bend, align the two legs
with the grooves in the rewind spindle and slide the clip on until it stops.

REWIND CLIP

LABEL STOCK
REWIND ROLL

Use caution when handling the rewind clip. The pointed ends may cause
skin puncture or eye injury if dropped or otherwise mishandled.

13



EC|

Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.5 Product Detect Photocell
Locate the optional product detect photocell and optional mounting bracket. Depending
on the type of photocell purchased, there may be a reflector and a second bracket kit
included. Mount the photocell to the mounting bracket and install on the production line
so the midpoint of the bracket adjustment sees either the leading or trailing edge of the
product at approximately the same time as the label dispense should begin. If the
photocell is a through beam type with a reflector, mount the reflector bracket on the
opposite side of the conveyor with the reflector directly across from the sensor.

On the rear of the applicator, insert the nine pin D style connector into either of the two
sockets available. It is not important which socket is chosen as any one will function
properly with compatible accessories. Tighten the retaining screws on the connector
body to insure it does not come loose during operation.

3.6 Interface and Power Cables
Plug the Printer Interface cable into the 15 pin “D” style connection on the rear panel of
the electronic assembly. Plug the other end into the printer. Tighten the retaining screws
on the connector bodies to insure they do not come loose during operation. Plug the main
power cord into the power entry module on the rear panel of the electronic assembly. Do
not plug the permanently attached power cord into the power entry module.

3.7 Three Stage Indicator Beacon
Locate the optional three-stage indicator beacon assembly and mount it in the desired
location where it will be easily visible to the line operators. On the rear of the applicator,
insert the nine pin D style connector into either of the two sockets available. It is not
important which socket is chosen as any one will function properly with compatible
accessories. Tighten the retaining screws on the connector body to insure it does not
come loose during operation.

The 252N applicator provides a suggested position for the three stage
beacon. Alternate positions are available with the use of the included
mounting bracket.

HNOLOGY

14



Model 252
Label Printer/Applicator
Operators/Technical Manual

3.8 Filter/Regulator

Be sure to mount the filter regulator with the bowl and drain pointing
straight down. Mounting at an angle or upside down will cause the
regulator to function incorrectly.

Mount the filter/regulator to the u-arm with the provided M5 socket head screws and
washers. If the bracket has been pre-installed, remove the mounting nut from the
filter/regulator. Insert the threaded portion of the filter/regulator into the bracket from
bottom to top, replacing the mounting nut on top. Tighten the nut, making sure the ports
are easily accessed. Install the black 5/16” tubing from the output port on the
filter/regulator to the “P” port fitting on the pneumatic assembly.

MOUNT
UPRIGHT

TO "P" PORT
FITTING

TO FILTER/REGULATOR
OUTPUT PORT FITTING

HNOLOGY

15



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.9 Tamp Module / Heavy Duty Tamp Module
The tamp module provides the actuation to move the tamp pad from the retracted
position, where it receives a label, to the extended position, where the label is transferred
to the product. The tamp module consists of a tamp module and a vacuum tamp pad. If
the printer/applicator was purchased as a tamp machine, the necessary components have
all been assembled and installed prior to shipping. Only tamp pad position adjustments
may be needed. The tamp module is available in varying stroke lengths to meet the
application requirements. The vacuum tamp pad is machined specific to the label being
applied; a different pad is needed for each label size. If the tamp module was purchased
as a spare, replacement, or an upgrade, correct installation is required for satisfactory
results.

3.9.1 Tamp Module Installation
All standard variations of the tamp modules mount to the Model 252 baseplate in the
same location and with the same fasteners.

Locate the tamp module and remove the four M8 cap screws from the back. Align the
tamp module with the two slots in the baseplate and install the four M8 screws. The
series of six holes in the lower plate of the module should face towards the peel tip. If
they do not, the tamp module must be reversed prior to installation. Tighten the M8 cap
screws using a 6mm hex wrench. The exact position of the tamp module is not important
at this stage. Finally, locate the vacuum tamp pad, which is specific to the label size
being used, and remove the two M6 cap screws. Align the tamp pad with the bottom of
the adapter plate, making sure the M6 hole closest to the faceplate matches the tamp
adapter plate hole closest to the faceplate. Install both M6 cap screws, be sure the pad is
square to the plate and tighten using a 5mm hex wrench.

HNOLOGY

16



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Next, locate the tubing that was supplied with the tamp module. There should be a black,
blue, yellow, and grey tube in 1/4” diameter and a black tube in 5/16” diameter. The
5/16” black tube should be routed from the “P” port fitting of the pneumatic assembly
manifold to the filter regulator assembly. The filter regulator should be mounted in a
convenient location near the applicator where it will not interfere with operation and can
easily be drained. Multi-position mounting holes are provided on the u-arm for this
purpose.

Be sure to mount the filter regulator with the bowl and drain pointing
straight down. Mounting at an angle or upside down will cause the
regulator to function incorrectly.

YELLOW
TUBING

BLACK TUBING
@ 4")\

GREY TUBING

30

)
g

) SR
)
- {3 [

\BLACK TUBING
a, @ @

|
T s

BLACK TUBING
(5/16")

BLUE TUBING

Shown with U-Arm removed for routing illustration.

17



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Insert the 1/4" black, blue and grey tubes into the appropriate fitting in the manifold. A
color cap on the fitting will aid in selecting the correct port. Install the yellow tube into
the “Y™ fitting on the vacuum generator, again looking for the colored cap designating
the correct location. Replace the back cover and reconnect any cables disconnected
during removal.

GREY TUBING™\|

YELLOW TUBING\

M

| q j BLACK TUBING
(1/4")

| o \
S

BLUE TUBING

BLACK TUBING
(5/16")

3.9.2 Air Assist Bracket and Tube
Next, install the air assist bracket and tube. Locate the air assist bracket, a black slotted
part that resembles a lower case “j” and install it on the rear of the baseplate. Using a
3mm hex wrench, install the M4x20 cap screws, split and flat washers, to affix the
bracket to the baseplate. Using the same 3mm hex wrench, loosen the small M4x12
clamping cap screw at the lower end of the clamp. Locate the air assist tube, a stainless
steel tube with a series of small holes along the length. Note that the holes are located
nearer to one end of the tube than the other. Also, the end of the tube with the nearest
holes is plugged. Insert the non-plugged end into the front of the bracket and slide the
tube through the bracket until the plugged end reaches the outboard side of the peel tip.
The holes in the air assist tube should roughly match the upward and outward angle of the
slot in the air assist bracket. Tighten the clamp screw with the 3mm hex wrench. Finally,
install the blue tube over the end of the air assist tube until approximately 1/4 to 1/2 inch
of the air assist tube is inside the blue tube.

18



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.10 Service Tamp Assembly
The service tamp assembly, like the standard tamp assembly, allows a direct contact
method for applying labels to products or packages. The additional service feature allows
the tamp pad and air cylinder/bearing block portion of the tamp assembly to be rotated in
an outward direction. This allows for easier access when servicing the engine or
performing tamp pad change-over operations. The service tamp module is available in
27,47, 6", and 8" stroke lengths. Refer to the standard tamp assembly positioning
adjustment instructions to adjust the service tamp assembly. Unlike the standard tamp
assembly, the air assist bracket and tube is included as part of the service tamp assembly.
Once again, adjustments are done in the same way as the standard tamp assembly. Refer
to the applicator specific Tampjet Upgrade for a non-contact option.
Specific application requirements may require the use of another type of tamp module.

OPERATING POSITION SERVICE POSITION

TO ROTATE i
GRIP HERE ~ ——__

HNOLOGY

19



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.11 Tampjet Upgrade
The tampjet upgrade adds an additional valve and plumbing to the pneumatics assembly.
This gives the applicator the ability to propel the label from the vacuum tamp pad to the
product using a directed blast of compressed air. A flow control is included in this kit to
provide adjustment of the tamp pad vacuum pressure.

3.11.1 Tampjet Upgrade Installation

Start by removing the back cover from the applicator using a 3mm hex wrench.

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

Remove the yellow tubing (1/4”) from the “R” port on the pneumatics assembly
manifold. Next, remove the large black supply tube from the “P” port fitting on the
manifold. Place the tampjet valve in position to be attached to the baseplate. Install the
black tubing from the “P” port fitting on the tampjet valve to the “P” port fitting on the
pneumatics assembly. Locate the yellow tubing extending from the tamp pad to the “Y”
union. Remove the yellow vacuum tube from the single leg of the “Y” and install it in
the “A” port fitting on the tampjet valve. Install the yellow tubing from the flow control
to the vacuum generator fitting. Using a long 3mm hex wrench, attach the tampjet valve
assembly to the baseplate with the included M4 cap screws.

HNOLOGY

20



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

YELLOW

TUBE VACUUM

GENERATOR

TAMPJET
VALVE

YELLOW
TUBE

Tampjet Upgrade Installation
Install the black tubing from the filter/regulator assembly in the remaining “P” port fitting

on the tampjet valve. Reinstall the back cover using a 3mm hex wrench. Adjusting the
flow control will vary the vacuum pressure applied to the tamp pad.

TECHNOLOGY

21



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.12 Smart Tamp Sensor Installation

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

The smart tamp sensor comes with all the needed hardware for installation. Start by
removing the back cover from the applicator using a 3mm hex wrench. Remove the M6
socket head screw from the inboard side of the tamp adapter plate. Place the smart tamp
sensor bracket in place and reinstall the M6 screw. Ensure that the angle of the bracket is
installed as shown for proper operation. With the tamp air cylinder extended, route and
secure the sensor cable along the air tubing through the baseplate to the rear of the
applicator. Place the four conductor connector through the grommeted hole on the
electrical module. Locating the J6 / SS connector on the pc board, plug the sensor in.
Coil up any excess cable and store inside the electronics module. Replace the back cover
and reconnect any cables disconnected during removal. Push the tamp pad back to the
tamp home position and check for any interference or pinch points that may damage the
sensor or cable.

ﬂ
(e ]
ﬂ

SMART TAMP SMART TAMP NOTE ANGLE

SENSOR SENSOR DIRECTION
RIGHT HAND LEFT HAND
CONFIGURATION CONFIGURATION

If a left hand configuration is desired, remove the two screws attaching the sensor to the
bracket and reassemble as shown. The bracket/sensor assembly will attach to the tamp
adapter plate as indicated.

22



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.13 Tamp Home Sensor Installation

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

The tamp home sensor comes with all the needed hardware for installation. Start by
removing the back cover from the applicator using a 3mm hex wrench. To determine the
correct location for the tamp home sensor, locate the six holes used to attach the tamp pad
to the tamp assembly. The sensor should be located over the six holes for either a left or
right hand tamp configuration. Place the tamp home sensor in place on the side of the
bearing block and secure with the two M3 screws and washers provided. The mounting
peg, located on the sensor near the attached cable, should face toward the baseplate as
shown. Route and secure the sensor cable along the air tubing through the baseplate to
the rear of the applicator. Place the four conductor connector through the grommeted
hole on the electrical module. Locating the J5/ TAMP connector on the pc board, plug
the sensor in. Coil up any excess cable and store inside the electronics module. Replace
the back cover and reconnect any cables disconnected during removal.

TAMP HOME
SENSOR

RIGHT HAND
CONFIGURATION

EC|

HNOLOGY

23



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.14 Swing Tamp Assembly

Start by removing the back cover from the applicator using a 3mm hex wrench.

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

The swing tamp assembly mounts to the baseplate using the same mounting slots as a
regular tamp assembly. A spacer block, placed between the baseplate and the swing tamp
frame, serves to position the unit at the proper distance from the baseplate. This spacer
block is used for all mounting orientations.

To mount the swing tamp, remove the four supplied M8x50 socket head screws, flat, and
spring washers, from the unit. Place the spacer block in position on the front of the
baseplate over the slots. Insert one of the M8 screws, with washers, through the slots
from the rear of the baseplate far enough to support the spacer block. Align the correct
swing tamp unit mounting hole, and loosely attach the unit to the baseplate. Continue the
process until all four screws have been attached. The series of six holes in the lower plate
of the module should face towards the peel tip. Finally, locate the vacuum tamp pad,
which is specific to the label size being used, and remove the two M6 cap screws. Align
the tamp pad with the bottom of the adapter plate, making sure the M6 hole closest to the
faceplate matches the tamp adapter plate hole closest to the faceplate. Install both M6
cap screws, be sure the pad is square to the plate and tighten using a 5mm hex wrench.

The pneumatic connections are very similar to the other tamp assemblies. Locate the
tubing that was supplied with the tamp module. There should be a black, blue, yellow,
and grey tube in 1/4” diameter. Two flow controls are also included and used to regulate
the swing action speed.

HNOLOGY

24



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

The flow controls must be installed correctly to provide the necessary speed
control of the swing action. Incorrect installation will result in improper
operation.

TO AIR CYLINDER H: Q H D :H TO SOLENOID VALVE

LARGE ARROW
SIDE

GREY TUBING

BLACK TUBING (1/4”)\

BLACK TUBING (1/4") —_|

YELLOW TUBING \

(2) FLOW
CONTROLS

GREY TUBING\

il
,
]
/(
=l
YELLOW TUBING

With the air cylinder extended, install the yellow tube in the fitting located on the tamp
pad. Route the tubing to the rear of the applicator through the provided access holes and
plug the tube into the “Y” fitting on the pneumatic assembly. Push the grey tube over the
end of the barb fitting on the lower end of the air cylinder until approximately 1/4 to 3/8
inch of the barb fitting is inside the grey tube. Push the black tube over the end of the
barb fitting on the upper end of the air cylinder until approximately 1/4 to 3/8 inch of the
barb fitting is inside the black tube. Route the grey and black tubes through the access

25



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

hole (with the yellow tube) to the back of the applicator. A color cap on the fittings will
aid in selecting the correct port or fitting to connect the tubes to. Plug the black and grey
tubes into the color-coded fittings on the pneumatic manifold. By hand, push the tamp
pad to the non-extended position and back to the extended position. Ensure that the
black, grey, and yellow tubes are not restricted or pinched in any way. Position a flow
control along the black tube in the approximate location of the tampjet solenoid valve
mounting. Cut the tubing in two and insert the flow control in between the two ends
observing the proper arrow orientation as indicated in the diagram. Repeat the process to
install the flow control in the grey tube. Again, by hand, push the tamp pad to the non-
extended position and back to the extended position. Ensure that the black, grey, and
yellow tubes are not restricted or pinched in any way. It may be necessary to trim the
tubing lengths for the best routing option. Replace the back cover and reconnect any
cables disconnected during removal.

26



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.15 Dual Panel Tamp Assembly

Start by removing the back cover from the applicator using a 3mm hex wrench.

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

The dual panel tamp assemblies mount to the baseplate using the same mounting slots as
a regular tamp assembly. The 1D100241-12-XX units mount directly to the slots in the
same manner as the other tamp units. The 1D100240-12-XX units utilize a clamping
plate arrangement to secure the unit to the baseplate using the same slots.

To mount the dual panel tamp, remove the four supplied M8x50 socket head screws, flat,
and spring washers, from the unit. Place the tamp unit in position on the front of the
baseplate over the slots. Insert one of the M8 screws, with washers, through the slots
from the rear of the baseplate far enough to support the spacer block. Align the correct
unit mounting hole, and loosely attach the unit to the baseplate. Continue the process
until all four screws have been attached. The series of six holes in the lower plate of the
module should face towards the peel tip. Finally, locate the vacuum tamp pad, which is
specific to the label size being used, and remove the two M6 cap screws. Align the tamp
pad with the bottom of the adapter plate, making sure the M6 hole closest to the faceplate
matches the tamp adapter plate hole closest to the faceplate. Install both M6 cap screws,
be sure the pad is square to the plate and tighten using a 5mm hex wrench.

Dual Panel Tamp units require the addition of an extra solenoid valve to the pneumatic
manifold unit. It may be necessary to loosen or remove the screws attaching the
pneumatic manifold. Locate the circles on the nameplate label surrounding the
pneumatic gauges. With a sharp object, cut out the inner portion of the circle indicating
where the solenoid valve/regulator is to be added. Use a small screwdriver to remove the
blanking plate and gasket next to a valve/regulator on the pneumatic manifold assembly.
Carefully align the provided solenoid valve, valve gasket, regulator, and regulator gasket.
Attach the components to the manifold with the screws included with the regulator.
Ensure that the gaskets are properly aligned, intact, and not pinched. Locate the tubing
fittings on the manifold for the new valve/regulator just installed. On the upper tubing
connection fitting, install the supplied green color cap. Place the red color cap on the
lower tubing connection fitting. Install the wiring harness on the solenoid valve and
route the wiring with the harnesses from the other valves. Plug the connector into the J20
connection on the Electrical Module PCB. Ensure that the regulator gauges fit in the
cutout holes and reinstall the pneumatic module.

The pneumatic connections are very similar to the other tamp assemblies. Locate the
tubing that was supplied with the tamp module. There should be a black, blue, yellow,
red, green, and grey tube in 1/4” diameter. Two flow controls are also included and used
to regulate the swing action speed.

HNOLOGY

27



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

The flow controls must be installed correctly to provide the necessary speed
control of the swing action. Incorrect installation will result in improper
operation.

%

TO AIR CYLINDER H: Q L D :H TO SOLENOID VALVE

LARGE ARROW
SIDE

With both of the air cylinders extended, install the yellow tube in the fitting located on
the tamp pad. Route the tubing to the rear of the applicator through the provided access
holes and plug the tube into the “Y” fitting on the pneumatic assembly. With the yellow
tubing installed, align the smart tamp sensor wiring along the same path. Push the
connector and wire through the same hole in the faceplate to the rear of the machine.
Route the connector through one of the holes in the electronics module and connect it to
the J6/SS connector on the PC board.

Push the green tube over the end of the barb fitting on the lower end of the swing tamp
air cylinder until approximately 1/4 to 3/8 inch of the barb fitting is inside the tube. Push
the red tube over the end of the barb fitting on the upper end of the swing tamp air
cylinder until approximately 1/4 to 3/8 inch of the barb fitting is inside the tube. Route
the green and red tubes through the access hole (with the yellow tube) to the back of the
applicator. A color cap on the fittings will aid in selecting the correct port or fitting to
connect the tubes to. Plug the red and green tubes into the color-coded fittings on the
pneumatic manifold. By hand, push the tamp pad to the non-extended position and back
to the extended position. Ensure that the wiring and the red, green, and yellow tubes are
not restricted or pinched in any way. Position a flow control along the red tube in the
approximate location of the tampjet solenoid valve mounting. Cut the tubing in two and
insert the flow control in between the two ends observing the proper arrow orientation as
indicated in the diagram. Repeat the process to install the flow control in the green tube.
Again, by hand, push the tamp pad to the non-extended position and back to the extended
position to verify no tubing issues.

Install the grey tube in the flow control on the lower end of the 12” tamp air cylinder.
Install the black tubing in the flow control on the upper end of the tamp air cylinder. By
hand, push both of the air cylinders to the extended position. Route the black and grey
tubing with the other tubes already installed. Connect the black and grey tubes to the
indicated tubing fittings on the pneumatic manifold. By hand, extend and retract all of
the air cylinders to ensure that none of the tubes or wires are restricted or pinched in any
way.

HNOLOGY

28



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

It may be necessary to trim the tubing lengths for the best routing option. After all the
tubing has been installed, coil up any excess wire and store inside the electronics module.
Replace the back cover and reconnect any cables disconnected during removal.

29



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.16 Corner Wrap Assembly
The corner wrap unit attaches to the 252 or 252N baseplate utilizing the same dedicated
slot configuration as a standard tamp unit. Start by removing the back cover from the
applicator using a 3mm hex wrench.

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

To mount the corner wrap unit, remove the four supplied M8x30 socket head screws, flat,
and spring washers, from the unit. Place the mounting block in position on the back of
the baseplate with the four mounting holes aligned with the slots. Insert the M8 screws
with washers, through the slots from the front of the baseplate, and attach the unit to the
baseplate. Adjusting the final position of the unit will not be important at this time.
Locate the fan power cord and route the connector through the grommeted hole on the
closest side of the electronic module. Insert the plug into the 2 conductor connector on
the PCB marked “J7” / “Fan”. Replace the back cover and reconnect any cables
disconnected during removal.

HNOLOGY

30



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

3.17 System Status Output

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

Start by removing the back cover from the applicator using a 3mm hex wrench. Next,
install the three yellow relays in the sockets marked K2, K3, and K4 on the main circuit
board. Looking down on the top of the relay with the text showing, the black line on the
relay must be to the inside of the board. Carefully install the black solid-state relay in the
socket marked K1 on the main circuit board. Locate and remove the round hole plug on
the back of the electronics module. From the outside of the electronics module, push the
rectangular twelve conductor connector through the hole. Install the internal wiring
harness with the four fasteners supplied in the kit. Plug the twelve conductor connector in
the socket on the board marked J15. Replace the back cover and reconnect any cables
disconnected during removal. Return power to the printer/applicator and set the outputs
per the user manual. See the Drawings and Diagrams section for the user connection pin-
out for the system status output Kkit.

31



Model 252
Label Printer/Applicator
Operators/Technical Manual

3.18 Low Label Detector Installation
The low label sensor has been factory installed if ordered with the applicator. No
adjustments are available.

SENSOR MOUNTING
BRACKET

LOW LABEL
SENSOR

If the low label sensor has been purchased as a separate item, it must be installed prior to
use. Start by removing the inner flange and outer retainer as well as the support hub.
Next, remove the back cover from the applicator using a 3mm hex wrench.

Before attempting to service machinery, the machine must be turned
off and the power and air locked out.

Using a 3mm hex wrench, install the low label sensor on the side of the unwind mounting
block as shown above. Route the sensor cable though the access hole in the baseplate
and the access hole in the electronics module. Plug the 4 pin connector into the J17 / LL
connector on the PCB. Secure any excess wire (coil inside electronics module), reinstall
the back cover, the unwind module flanges, and return power to the unit.

32



Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

HNOLOGY

4 User Interface Overview
The touch screen graphical user interface is the primary means of interaction between the
user and the applicator settings. Through the various screens and icons, the operator can
make changes to the configuration, obtain status of the applicator and control the
functionality.

Where up and down arrows appear, pressing the arrows scrolls through the
available selections. When making a selection, with a checkmark, numerical

value, or descriptive word, the “Enter” icon P must be pressed to save
the selection.

4.1 Initial Startup Screen
Upon initial power up, the screen will display the ID Technology logo.

TECHMNOLOGY
MODEL 252
WERSION & 8X

A boot delay is provided to allow time for the print engine to perform a power on self
test. After that delay, the main menu will be displayed and ready to accept input signals.

€ &%
SRS L
5 &
* X JO

4.2 Main Menu
The main user interface menu allows the operator to control the basic behavior of the
applicator. The display is an icon based control that should take operators a short time to
understand once they are familiar with the operation of the applicator.

4.2.1 1D Logo
The ID logo, located in the upper left of the display, is present on many of the screens.
While in the Main menu, double pressing the ID logo icon rotates the screen in 90 degree
increments to orient the screen to a convenient viewing position. This feature is desirable
in cases where the printer/applicator may be positioned such that the operator interface
would not be easily viewed.

33



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

4.2.2 Status

The status icon, directly to the right of the ID logo, provides a visual verification of the
current machine operation settings. Use the up and down arrows to scroll through the
various settings

Status Menu %

Print 5 ﬁ
Normal G
*xr O

4.2.3 Security &
The security icon opens the security menu which gives users the ability to limit
access to the operation parameters of the Model 252. At the most limited setting,
the operator only has the ability to view the status menu and recall any of the four
saved setups. If it is enabled, the operator may also have the ability to change the
Delay Apply value in order to alter the label position on the product. All other
functions require a PIN number to be entered before access is allowed. Once
logged in, pressing the  icon several times to back down to the Password Entry
menu will effectively log out of the protected area.

SECURITY MENU PIN ENTRY SCREEN
Change Pin E '1 '1 E

Enable Security
Delay Access v E
*¥ X JQ 2] 100114 /281

O Change Pin — Once logged in, you have the ability to select a different PIN for
the system. By using the same method as Password Entry above, select a new
four digit PIN combination.

O Enable Security — Here, the user must enter the correct PIN. Pressing the <
icon will validate the entry and either allow or deny access. The default PIN
when shipped from the factory is 1231. If you forget your PIN number, you
will need to call for a service technician, reload the firmware or return the
module to the factory.

34



Model 252
Label Printer/Applicator
Operators/Technical Manual

O Delay Access — This menu item lets the user determine if the Delay Apply
setting can be altered without requiring the PIN number. When set to Yes,
there will be an additional item at the main menu level to access the Delay
Apply setting. This setting is saved with each setup and can be set different
for each of the four saved slots.

Keys to remember about Delay Access:
e Changing the values here will not affect stored setups. To apply the
change to a stored setup, it is necessary to log in and re-save the
appropriate setup.

e The Delay Access setting is stored with each setup. It is possible to
allow access for some setups and deny access for others.

4.2.4 Online/Offline 70
The online/offline icon allows the operator to disable the photocell input to the
printer/applicator. When the “Offline” function is selected, the icon will be shown with a
dark shaded background. In addition, if the optional three stage beacon is installed, the
red indicator lamp will be illuminated.

4.2.5 Save Setup T
The save setup icon opens the Save Setup screen. Specific machine configurations can
be saved to aid in changeover operations.

B e
23 2
*¥xJO

HNOLOGY

35



=
(=]

Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

HNOLOGY

4.2.6 Vacuum Mode e

Pressing the Vacuum mode icon accesses the menu for control of the vacuum generator.
The vacuum generator is used to hold the label on the tamp pad prior to application to the
product. There are two modes of operation controlling the valve that supplies
compressed air to the vacuum generator.

Select and

Normal
Conserve Air v

*¥XJQ

4.2.7 Print Mode

The print mode icon opens the print mode menu to allow setting the print sequence
options. The sequence of operation between the printer and the applicator can be set to
one of three options. As with the Vacuum mode, selection of an option will be indicated
with a check mark. Save the selection by pressing the Enter icon.

7

NORMAL

{
¥xJO

4.2.8 Apply Mode &
The apply mode icon opens the (tamp) apply mode menu to allow setting the tamp
application type. The mode (sequence of operation between the printer and the
applicator) can be set to one of four options: Tamp, Tampjet, Reverse Tampjet, or Airjet

G%

TAMP

¥1JO

36



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

4.2.9 Recall Setup 5

The recall setup icon opens the Recall Setup screen.

53 5t
* X JQ

The three buffers containing custom setup configurations can be accessed from this
menu. The fourth recalls the factory defaults or the settings saved by the technician at
installation. Refer to the setup table in the Save/Recall section of the manual to
determine the desired configuration and which buffer it is stored in.

4.2.10 Outputs o

Pressing the Outputs icon will open the Outputs screen.
i
&1 (&2
=3 (>4

Each of the four outputs can be selected to open the configuration screen for that output.

OUTPUT 1

i

READY APPLY+

&
* X JO

Each individual output can be configured to provide a total of four signals to the system
status output connector. Selectable signals include Online, Supply Out, Supply Low,
Ribbon Out, Label Out, Ribbon Low, Label Low, No Select, Accessory, Apply Ready,
and Tamp Home.

HNOLOGY

37



Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

HNOLOGY

4.2.11 Dwells/Delays
Press the Dwells/Delays icon to access the screen for timing of specified actions or
signals.

%
Lo g &= &5
ik 2 &

* X JQ

The individual Dwell and Delay icons and settings are examined in the Application Setup
section.

4.2.12 Multiplier ¥
When changing the times in the Dwells and Delays section, there are two features to take
note of:

Pressing the Multiplier icon when changing a time value will change the amount that
each press of the up or down arrows will alter the value. The default when entering a
screen is a jump of one. Pressing the icon once changes the jump value to ten. Pressing
the icon a second time, the jump value will change to one hundred. Pressing the icon for
a third time results in a change of one thousand. Pressing the icon again returns the jump
value to single digits.

Changing the values affect the machine while it is running. For example, while the line is
running, increasing or decreasing the Delay Apply value will affect the label position on

the product in real time. Once the desired value is displayed, pressing the enter + icon
will set the value as current. If you do not wish to keep the change, simply press the back

X icon to discard the change and return to the previous value.

When the home screen is displayed, the multiplier key is used to adjust the
display contrast.

4.2.13 Back/Cancel A
The Back icon will cancel any unsaved changes and display the previous screen each
time it is pressed.

4214 Enter +

The Enter icon is used to select the item or save the value chosen.

38



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

42153 &

The Jog icon activates the printer/applicator for one machine cycle subject to built-in
repeat time limitation and current print engine status.

4.2.16 Dual Panel @ﬁ

The Dual Panel firmware will display this icon to allow configuration of the dual panel
modes.

HNOLOGY

39



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5 Application Setup
Once the applicator has been unpacked, attached to the stand and positioned on the
production line, it is ready to be set up to apply labels to the product.

A Before attempting to service machinery, the machine must be turned off and
the power and air locked out.

5.1 Loading Labels
The first step in setting up the application is to load labels on the applicator. Begin by
removing the unwind outer media retainer.

1) Extra Support Hub
In cases where wide labels are used, it may be helpful or necessary to install the
extra support hub. The extra hub can help support the added weight of wide
labels on larger rolls. Place the extra support hub on the unwind shaft with the
setscrew over the flat on the shaft. Position the hub so that it is located over half
the width of the labels from the inner hub. Tighten the setscrew on the flat to
secure the hub.

2) Lock Spur Positioning
To load a roll of labels, rotate the inside unwind flange and hub until the lock
spur on the hub is on the top. In a reels-up position, it may be necessary to rotate
the lock spur to a “least exposed” position. This will aid in placing the label roll
core on the hub prior to locking the core to the hub. As an added measure to
ensure that the label roll core engages the lock spur, “flag” a small portion of the
core liner toward the inside of the core. This adds an uneven surface to provide
better grip with the lock spur.

3) Label Roll Installation
Place the roll of labels on the unwind spindle. The roll should be positioned so
the web unwinds from the top of the roll towards the peel tip. With the label core
flush with the inner flange surface, rotate the flange and unwind shaft until the
lock spur is no longer facing upward. Holding the unwind inner flange, turn the
label roll until the lock spur grips the inner core tightly. Reinstall the outer media
retainer and twist roughly % turn to lock it in place.

4) Label Threading
Next, peel off approximately 30 inches of labels from the liner and dispose. This
will make threading and setup easier. Thread the web around the dancer roller,
over the 2” idler roller, under the 1" idler roller, and to the print engine media
entrance. Refer to the appropriate print engine documentation for routing of the
web. If using the apply only module, follow the supplied threading diagram on
the unit.

HNOLOGY

40



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

From the exit of the print engine or apply module, pass the web around the
rewind dancer roller, around the 1 idler roller and then back over the roller

to the waste take up. Continue to wrap the liner around the waste take up starting
from the bottom. Install the lock pin to attach the liner to the waste take up.
Align the front edge of the first label on the web with the peel edge.

On the applicator, be sure the liner passes between the peel edge and the air
assist tube. If the liner goes around the tube, the label will not dispense
properly onto the vacuum pad.

The end of each roller along the label web path has a washer on which you
will find a directional arrow. The arrow indicates the direction that the
label web should pass over the roller when correctly installed.

Refer to the appropriate label threading diagram for assistance as needed.

TECHNOLOGY TECHNOLOGY
MODEL 252 - Zan — - MODEL 252

252N LH THREADING DIAGRAM 252N RH THREADING DIAGRAM

When a printer is used, follow the instructions for the print engine to install printer ribbon
in the unit. Once the labels have been loaded onto the printer/applicator, the application
specific configuration can be done.

Apply power to the printer/applicator and the print engine. Press the Applicator
Online/Offline icon to take the system offline. Connect the air supply to the filter
regulator and adjust to the appropriate pressure as shown in the Setting the Pressures
section.

41



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.2 Vacuum Mode 5
To set the Vacuum Mode to the desired function, press the Vacuum mode icon. The
screen displayed will show the available options. Pressing “Normal” or “Conserve Air”
on the screen will result in a check mark indicating which option is selected. Pressing the

Enter icon < saves the selection. To provide for a more economical and longer
operational life, the Conserve Air mode is recommended.

Select and «~/

Normal
Conserve Air v

¥ X JQ

U Normal - In this state, the vacuum is always running when the unit is powered up and
there is a supply of compressed air available.

O Conserve Air — This mode turns on the vacuum at the start of label feed and turns it
off when the apply cycle is complete. When operating in reverse print mode or not
printing labels in batches, this will reduce the amount of compressed air the machine
consumes and also reduce the amount of dirt and debris that will be drawn in through
the tamp pad.

5.3 Printer Mode

When using a print engine, the print mode must be set to the proper function sequence.
Use the up and down arrows to select the mode required. Either press the screen to the
right of the text (Normal, Reverse, or Data ...) to select the mode and save it by pressing
the Enter icon or simply press the Enter icon. A checkmark should indicate the selection
has been made.

.

NORMAL

{
*¥XJO

42



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.3.1 Normal Mode
In Normal mode, data is downloaded to the print engine buffer from a computer or other
label generating device, a label is printed, and dispensed to the application module. The
air assist and rewind module will be activated only during the time the label is being
dispensed. When the product detector photocell senses a product, the applicator is
triggered, and the label is applied to the product. At the end of the application cycle,
another label is automatically printed and dispensed to the application module. This
cycle is repeated until the label quantity (operator designated) has been reached.

5.3.2 Reverse Mode
With the Reverse mode selected, label data and quantity is loaded into the print engine
buffer. When the product detector senses a product, the label is dispensed to the
application module. The air assist and rewind again will be active only while the label is
being dispensed. The application module is activated and the label is applied to the
product. User adjustable delays allow the operator to adjust the time delay from when the
photocell input is triggered to when the applicator begins the labeling cycle. This setting
allows the operator to accurately place the label on the product in the desired location.

5.3.3 Data Driven Mode
If you select the Data Driven mode print sequence, the system will be controlled by
another system and typically used with a PLC. Data is downloaded to the print engine
buffer and is printed only when given information from another upstream system. (i.e.: a
weight scale or a bar code scanned on the side of a product) When the external system
transfers data to the print engine, a label is printed and dispensed to the application
module. The air assist and rewind module are active while the label is being dispensed.
As soon as the transfer is complete, the application module is activated and the label is
applied to the product. The cycle completed, the printer/applicator waits for another
trigger signal from the external system. The cycle will continue until the external system
is deactivated or a fault condition exists within the printer/applicator.

Specialty firmware versions may not support this mode of operation. These
versions will not display this option.

HNOLOGY

43



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.4 Apply Mode 2
When using a tamp application module, the apply mode must be set to the proper
operation sequence. Using the up and down arrows, scroll through the available options.
Pressing the screen to the right of the text selects that option which is indicated with a

check mark. Press the Enter icon + to save the entry.

G%

TAMP "

*¥1JQ

5.4.1 Tamp Mode
Tamp — This selection enables the configuration of the applicator to apply a label using a
vacuum tamp pad mounted on an air cylinder. Also, enables the pneumatics used in tamp
mode and disables all other configurations.
The Tamp Mode Cycle:
1) The label is printed and dispensed onto the tamp pad.
2) The vacuum valve is enabled, creating a vacuum through the holes in the
tamp pad, which holds the label in place.
3) When the application cycle is triggered, the air cylinder extends and makes
contact with the product.
4) Adhesive on the label attaches the label to the product as the air cylinder
retracts.

HNOLOGY

44



g : Model 252

= Him Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual
5.4.2 Tampjet Mode

HNOLOGY

Tampjet — This selection enables the configuration of the applicator to apply a label using
a vacuum tamp pad mounted on an air cylinder. Also, enables the pneumatics used in
tampjet mode and disables all other configurations.

The Tampjet Mode Cycle:

1)
2)

3)
4)

5)
6)

The label is printed and dispensed onto the tamp pad.

The vacuum valve is enabled, creating a vacuum through the holes in the
tamp pad, which holds the label in place.

When the product detection signal is received, the air cylinder extends and
stops just short of the product.

As the air cylinder reaches the end of its travel, the tampjet valve opens
releasing a blast of air which is routed through the holes in the vacuum tamp
pad.

The label is aerodynamically propelled toward the product.

Adhesive on the label attaches the label to the product as the air cylinder
retracts.

The primary difference between the Tampjet and Reverse Tampjet is;

In Tampjet mode, the air cylinder extends only when receiving a signal from

the product detector.
In Reverse Tampjet mode, the air cylinder extends at the end of the label dispense
cycle, staying extended until the product detector send a trigger signal to active the
tampjet valve.

5.4.3 Reverse Tampjet Mode
Reverse Tampjet — This selection enables the configuration of the applicator to apply a
label using a vacuum tamp pad mounted on an air cylinder. Also, enables the pneumatics
used in reverse tampjet mode and disables all other configurations.
The Reverse Tampjet Mode Cycle:

1)
2)

3)
4)

5)
6)

7

The label is printed and dispensed onto the tamp pad.

The vacuum valve is enabled, creating a vacuum through the holes in the
tamp pad, which holds the label in place.

As soon as the label has been dispensed the air cylinder extends and stops
just short of the product.

When a product detector signal is received, the tampjet valve opens releasing
a blast of air which is routed through the holes in the vacuum tamp pad.

The label is aerodynamically propelled toward the product.

Adhesive on the label attaches the label to the product as the air cylinder
retracts.

Specialty firmware versions may not support this mode of operation.
These versions will not display this option.

45



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.4.4 Airjet Mode
This selection enables the configuration of the applicator to apply a label using a vacuum
tamp pad mounted on an air cylinder. The pneumatics used in the airjet mode are
enabled and all other configurations are disabled.
The Airjet Mode Cycle:
1) The label is printed and dispensed onto the tamp pad.
2) The vacuum valve is enabled, creating a vacuum through the holes in the
tamp pad, which holds the label in place.
3) When a product detector signal is received, the tampjet valve opens releasing
a blast of air which is routed through the holes in the vacuum tamp pad
overcoming the vacuum.
4) The label is aerodynamically propelled toward the product.
5) Adhesive on the label attaches the label to the product.

Specialty firmware versions may not support this mode of operation.
These versions will not display this option.
6)

HNOLOGY

46



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.5 Setting Online/Offline ®/@
When taking the applicator offline, the optional three stage beacon will change to red.
While the printer/applicator is offline, the operator may make changes to the setup,
change speeds and/or delays, jog the printer/applicator and simulate label application.
The printer/applicator will remain offline and not respond to any photocell inputs until
the Online/Offline button is pressed again and indicates and “Online” condition.

5.6 Setting the Label Sensor (Apply Only Module)
If the printer/applicator is to be used with a Model 250A Label Feed Module, refer to the
Model 250A Operator/User Manual for set up procedures.

5.7 Air Assist Delay =

Open the Dwells and Delays Menu ©to locate the Assist Delay icon =3 Pressing the
Assist icon opens the adjustment screen. Air Assist Delay is used to allow the label to
partially feed out before the air assist is turned on. Adjust the delay time with the up or
down arrows and press the Enter icon to save the value. Press the Back icon to discard
the changes.

AIR ASSIST

200 ms

4
¥ 1 JQ

n Use the multiplier icon * to make changes in the “times” factor when
adjusting the dwells and delays timing - x1, x10, x100, or x1000ms. Refer to
the Multiplier section for further assistance.

HNOLOGY

47



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.8 Tamp Dwell &5
The Tamp Dwell screen allows the operator to adjust the length of time the tamp valve is
energized. The dwell time should be set just long enough for the tamp cylinder to reach
full stroke prior to retracting. Located within the Dwells and Delays menu, the Tamp
Dwell icon is pressed to access the adjustment screen. Adjust the time value with the up
and down arrows, pressing the Enter icon to save the value. Increasing the value of this
setting will cause the tamp to remain in the extended position longer. Decreasing the
value will shorten the time the cylinder stays extended. This adjustment does NOT affect
the speed or power of the cylinder extending or retracting. To adjust the speed at which
the cylinder extends, adjust the flow control valve on the top of the cylinder. To control
the speed at which the cylinder retracts, adjust the flow control valve on the bottom of the
cylinder. This also affects the power at which the cylinder extends. Care should be taken
in using these adjustments to avoid crushing the product or damaging the cylinder
module.

TAMP DWELL

200 ms

&
* X JO

A good starting point is 50mS of dwell per inch of stroke. A four inch tamp
will be set near 200mS. Variances in air pressure and flow control settings
will affect this value.

n Use the multiplier icon * to make changes in the “times” factor when
adjusting the dwells and delays timing - x1, x10, X100, or x1000ms. Refer to
the Multiplier section for further assistance.

HNOLOGY

48



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.9 Blast Dwell &%
The Blast Dwell screen allows the operator to adjust the length of time the blast valve is
energized. The Blast Dwell time should be set just long enough for the label to fly to the
product and adhere. Upon accessing the Blast Dwell screen, the current set value is
displayed. The time value displayed is in milliseconds. Press the up and down arrows to
adjust the time value. Once the desired value is reached, press the Enter icon to save the
setting.

BLAST DWELL

200 ms

0
*21JQ

A good starting point is 80mS of blast at 80-90psi main air pressure. It is
important to note that more blast time does not necessarily mean the label
will fly or apply better.

n Use the multiplier icon * to make changes in the “times” factor when
adjusting the dwells and delays timing - x1, x10, X100, or x1000ms. Refer to
the Multiplier section for further assistance.

5.10 Label Feed Delay &
Label Feed Delay is used to synchronize the print engine print and dispense process to
the tamp applicator action. The delay is used to suspend label feed before the tamp pad
has fully returned to the home position. It is especially useful with tamp units using
slower speeds or longer cylinder lengths. To adjust label feed delay, open the Dwells and
Delays menu. Press the Label Feed Delay icon to access the adjustment screen. Pressing
the up or down arrows will adjust the time value in milliseconds. When the desired value
has been reached, press the Enter icon to save the setting.

LABEL FEED

200 ms

&
* X JO

n Use the multiplier icon * to make changes in the “times” factor when
adjusting the dwells and delays timing - x1, x10, X100, or x1000ms. Refer to
the Multiplier section for further assistance.

HNOLOGY

49



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.11 Apply Delay
There are two product detector selections as well as a smart delay selection. Delay can be
independently introduced for each of the three selections, but leading or trailing edge
triggering is only available for the product detectors.

Once the printer/applicator is properly loaded, accurately printing and dispensing labels,
the last step is to fine tune the placement of the label on the product. Establish the
approximate physical location of the product detector sensor and the optimum edge
detection method.

When set to Leading Edge, the label placement is referenced to the front edge of the
product. The trigger signal is sent when the product to be labeled obscures the photocell.
When set to Trailing Edge the operation is opposite. The trigger signal is sent when the
product completely passes by the photocell. Label placement is referenced to the back
edge of the product. To change the reference edge, press the icon (1 or 2) associated with
the photocell to be set. The Apply Delay menu for the photocell will open.

Apply Delay 1

3¢ 0100 ms
£ ¥
¥t JQ

The Apply Delay screen for each photocell will indicate that the photocell is % enabled

or ® disabled. Press the icon to change the status of the photocell to the desired setting.
Press the Enter icon to save the setting. To scroll through the photocell triggering modes,

press the triggering icon. Select the leading edge trigger icon + or the trailing edge

trigger icon 1 depending on the sensing method desired. Pressing the Enter icon will
save the setting.

Once the triggering method has been set, introduce a product into the labeling system and
watch where the label is applied to the product. With the apply delay setting at zero, the
label will begin dispensing as soon as the product detect photocell, or other trigger
device, goes active. To achieve desired placement, it may be necessary to alter several
settings.

Before applying any delay, adjust the physical location of the trigger photocell itself. If
label application is too close to the leading edge of the product, it may be necessary to
adjust the sensor closer to the in feed side of the product handling system. If the label is
being applied too close to the trailing edge, it may be necessary to adjust the sensor closer
to the out feed side of the product handling system. It is always desirable to move the
photocell trigger position as close as possible to achieve desired label placement rather
than to compensate with time delays.

HNOLOGY

50



Model 252
Label Printer/Applicator
Operators/Technical Manual

MOVE THE PRODUCT SENSOR
UP OR DOWN STREAM ON THE
CONVEYOR TO MOVE THE LABEL
POSITION ON THE PRODUCT.

The most precise adjustment can be achieved by using the Apply Delay setting. This
allows for fine-tuning the amount of time from when the trigger is received until label
application begins. Once the trigger sensor is properly positioned and the appropriate
edge is detected, the delay apply setting causes the applicator to pause briefly before
beginning the label dispense process. If the label is applied too close to the leading edge
of the product, increase the delay value. If the label is applied too far from the leading
edge of the product, decrease the delay value. If the delay value is zero and proper
placement cannot be achieved, it may be necessary to adjust the position of the photocell
or other trigger device. To adjust the Apply Delay for the product detector, again open
the Apply Delay menu. The Apply Delay screen allows the operator to insert an
adjustable time delay into the selected product detector output signal. Upon accessing the
apply delay screen for the enabled photocell, the current set delay value is displayed. The
value is entered in milliseconds.

Apply Delay 1

If 0100 ms
£ ¥
*¥Xx JQO

To adjust the value, press the up or down arrows until the desired value is displayed.
Once the new value is entered, be sure the applicator is online and allow several products
to pass. If the label is being applied too soon, increase the delay value or move the
photocell in the direction of product travel. If the label is being applied too late, decrease
the value or move the photocell against the direction of product travel. Repeat the above
adjustments until the label is applied in the proper position on the product. Once the

51



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

correct apply delay time is set, press the Enter «J icon to save the value. Press the Back
icon X to return to the main menu.

n Use the multiplier icon #* to make changes in the “times” factor when
adjusting the dwells and delays timing - x1, x10, X100, or x1000ms. Refer to
the Multiplier section for further assistance.

5.12 Smart Delay = Smart Tamp

Pressing the Smart Delay icon opens the Smart Delay screen.

Smart Delay

200 ms

g
*21JQ

There are two adjustments available when using a Smart Tamp Sensor option. The first is
the sensitivity or gain adjustment located on the sensor itself. See the Component
Information section for more information. It is very useful when compensating for
variation in products. The second adjustment, the Smart Delay, is used to adjust the
timing of the smart tamp sensor output signal. As soon as the smart tamp sensor detects
the product, the tamp solenoid valve is deactivated, and the tamp pad returns to its home
position. If the sensor detects the product too soon, it is possible that the label will not be
properly applied. Inserting a delay into the sensor signal allows the tamp cylinder to be
activated for a greater period of time, or “over-travel”, increasing the stroke length (up to
the maximum stroke length) traveled. This allows the operator to adjust the stroke
distance for proper application of the label to the product. As with the product detector
photocell delay, pressing the up or down arrows will adjust the time value in
milliseconds. When the desired value has been reached, press the Enter icon to save the

setting. Press the Back icon X to return to the main menu.

Use the multiplier icon * to make changes in the “times” factor when
adjusting the dwells and delays timing - x1, x10, X100, or x1000ms. Refer to
the Multiplier section for further assistance.

5.13 Tamp Home Sensor Setup
Once installed, the only available adjustment for the tamp home sensor is the sensor
sensitivity. See the Component Information for further information about sensitivity
adjustment. The output signal from the tamp home sensor is available on any or all of the
system status outputs when supplied. See the drawings and diagrams section for
information on the outputs.

52



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.14 Setting up Tamp Applications

5.14.1 Setting the Tamp Position
Begin by loosening the four M8 bolts holding the tamp module to the faceplate using a
6mm hex wrench. Slide the tamp module in the mounting slots until the tamp pad is
approximately 1/8” from the peel tip. Be sure the tamp module is straight up and down
then re-tighten the mounting bolts.

SH

O

HALF OF B
I’CHAMFER

f

1/8"—| |—

PEEL EDGE

With the cylinder all the way home, note the position of the chamfer to the peel edge.
The top surface of the peel plate should, if drawing an imaginary line, intersect the tamp
pad midway up the chamfer (the angled cut across the front edge). If the position is not
correct, use a small adjustable wrench to loosen the cylinder adjust nut.

CYLINDER
ADJUST NUT

53



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Extend the tamp cylinder and twist the cylinder rod to move the position of the tamp pad.
Return the cylinder to the home position and check the pad position again. Readjust as
necessary until the position is correct.

Once the position is correct, return the cylinder to the home position and re-tighten the
adjust nut.

a]

HNOLOGY

54



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.14.2 Setting the Pressures
The main system pressure is set at the filter regulator assembly. Pull up on the adjusting
knob to unlock it, and then rotate the knob to set the pressure. The setting is displayed on
a gauge on the side of the assembly. The main pressure should be set around 80 to 90

psi.

The pressure settings for the tamp cylinder, air assist and vacuum are individually
adjustable and can be fine tuned for the application. To adjust the pressures, remove the
two M4 screws that secure the back cover using a 3mm hex wrench. Remove the back
cover.

Using a small adjustable wrench, loosen the locking nut on the regulator to be adjusted.
Adjust the pressure setting by inserting a flat blade screwdriver into the adjusting screw.
To increase the pressure setting, turn counterclockwise, to decrease turn clockwise.

TAMP

REGULATOR VACUUM

REGULATOR

AIR ASSIST
REGULATOR

ADJUSTING
SCREW

LOCKING

NUT

55



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Check the pressure setting on the gauges located on the front of the baseplate. Each
pressure regulator should normally be set as close as possible to 0.5 MPa.

©
= == L=
MODEL 252 O O O @1@@

The small gauges display the pressure in MPa (Mega Pascals). The main
filter regulator displays the pressure in PSI (Pounds per Square Inch). 1
MPa equals 145psi, 0.5 MPa equals 72.5 psi.

It is not possible to set the individual regulators to a higher pressure than
the main filter regulator setting. Increase the main regulator pressure if
higher individual pressures are necessary.

A manual check for correct operation of standard pneumatic functions as well as optional
equipment is possible with the use the manual override button on each valve. Using a
small Phillips screwdriver or similar tool, press the override button (manual actuator) on
the valve. The valve will remain activated as long as the button is pressed.

Once the pressure settings are correct, re-tighten the locking nut and reinstall the back
cover.

56



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.14.3 Setting the Tamp Motion
The tamp motion is controlled by three factors; air pressure, dwell time and flow controls.
The air pressure adjustment procedure is covered in the Setting the Pressure section. The
tamp dwell adjustment can be found in the section under Tamp Dwell. The third setting,
speed, is adjusted by the flow controls. One flow control is located at each end of the
tamp cylinder. Using a flat blade screwdriver, adjust the flow control screw to change
the speed of the tamp motion. Turning the screw clockwise will slow the motion;
counterclockwise will speed up the motion. The upper flow control, with the black tube,
controls the return speed of the cylinder. The lower flow control, with the grey tube,
controls the extend speed of the cylinder.

CYLINDER RETRACT
FLOW CONTROL

CYLINDER EXTEND
FLOW CONTROL

The speeds should be set such that the cylinder operates smoothly and does
n not bang excessively at either end.

Setting the retract speed slower than the extend speed can cause timing
n issues and the next label will begin feeding before the tamp pad is fully

retracted and in the feed position. Always set the retract speed the same or
slightly faster than the extend speed.

57



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

To check the speed of the cylinder, press the jog button on the user interface. It is also
possible to use the manual override button on the tamp valve to activate the cylinder.
The back cover must be removed to access the manual override button. Using a small
Phillips screwdriver or similar tool, press the override button (manual actuator) on the
valve.

VACUUM

VALVE
TAMP MANUAL
VALVE\ ACTUATOR

Keep clear of the peel tip, tamp pad or tamp module as the
A actuator will cycle when performing any of these steps.

58



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.14.4 Adjusting the Air Assist

The air assist is controlled by two factors; air pressure and air assist tube position. The
air pressure adjustment procedure is covered in the Setting the Pressures section. To set
the air assist tube position, be sure the tamp pad is in the home position. Locate the row
of small holes in the side of the air assist tube and loosen the clamp screw. Rotate the air
assist tube until the row of small holes is roughly aimed at the midpoint of the tamp pad
and then tighten the clamp screw.

.
N
i

AIM POINT

To check the assist tube setting, use the manual override button on the valve. The back
cover must be removed in order to perform a manual override. Using a small Phillips
screwdriver or similar tool, press the override button on the valve.

Use appropriate eye protection. This step will release a jet of compressed
air from the air assist tube.

5.14.5 Setting the Vacuum

The vacuum pressure is controlled by the air pressure setting on the vacuum valve
regulator. The pressure must be set high enough so the label will stick to the tamp pad
once it is dispensed.

If the unit is fitted with the tampjet option, there is an additional adjustment that can be
made. A flow control, located between the tamp pad and the vacuum generator venturi,
regulates the vacuum pressure applied to the tampjet pad. Using a flat blade screwdriver,
rotate the flow control screw counterclockwise as far as it will go. Cycle the applicator
and note the way the label feeds onto the tamp pad. If the label flaps or flutters during
dispense, adjust the flow control screw clockwise until the label dispense is smooth, even
and consistent.

59



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.15 Swing Tamp Setup
The Swing Tamp Module requires adjustments to provide correct operation and
application of the label to the product. Begin by loosening the four M8 bolts holding the
swing tamp module to the faceplate using a 6mm hex wrench. Slide the tamp module in
the mounting slots until the tamp pad is approximately 1/8” from the peel tip. Be sure the
tamp module is straight up and down then re-tighten the mounting bolts.
With the cylinder all the way home, note the position of the chamfer to the peel edge.
The top surface of the peel plate should, if drawing an imaginary line, intersect the tamp
pad midway up the chamfer (the angled cut across the front edge). If the position is not
correct, extend the tap pad to the apply position, locate the red bumper, and loosen the
locking nut. Adjust the bumper height until the tamp pad chamfer is properly aligned
with the peel edge when the fully retracted to the home position. Tighten the locking nut
to secure the red bumper.

-
[N

©]

HALF OF
I’CHAMFER

i
/;
PEEL EDGE

1/8"—| |—

5.16 Dual Panel Tamp Setup
The Dual Panel Tamp Module requires adjustments to provide correct operation and
application of the label to the product. Begin by loosening the four M8 bolts holding the
dual panel tamp module to the faceplate using a 6mm hex wrench. Slide the module in
the mounting slots until the tamp pad is approximately 1/8” from the peel tip. Be sure the
tamp module is straight up and down then re-tighten the mounting bolts.
With the cylinders all the way home, note the position of the chamfer to the peel edge.
The top surface of the peel plate should, if drawing an imaginary line, intersect the tamp
pad midway up the chamfer (the angled cut across the front edge). If the tamp pad height
position is not correct, extend the tamp cylinder to the apply position by hand. Locate
and loosen the lock nut on the air cylinder piston rod. Push the tamp cylinder back into
home position. Adjust the threaded rod in or out until the tamp pad chamfer is properly
aligned with the peel edge when in the fully retracted to the home position. Tighten the
locking nut to secure the air cylinder piston rod.

HNOLOGY

60



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

The angle of the tamp pad in the home position should be parallel to the edge of the
faceplate. To adjust the angle, extend the swing arm to the apply position, locate the red
bumper, and loosen the locking nut. Adjust the bumper height until the tamp pad angle is
correct in the home position. It may be helpful to perform this adjustment in conjunction
with the tamp pad height adjustment.

The angle of the tamp pad/paddle should be adjusted for proper application of the label
on the product. Normally, the label should be applied at the same angle as the product.
To adjust the tamp paddle angle, extend the paddle to maximum by hand. Place a
product in position to be labeled. If the angle is incorrect, locate and loosen the lock nut
on the air cylinder rod end clevis. Adjust the rod in or out until the proper angle is
reached and retighten the lock nut. Return all cylinders to the home position.

HNOLOGY

61



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.17 Corner Wrap Setup
Corner wrap setup is a two part process that requires setup of the label dispense function
before adjusting the label application process.

The roller arm can be reconfigured to the bottom of the grid if overhead
clearance is an issue.

5.17.1 Label Dispense Adjustments
The angle between the corner wrap vacuum grid and the label as it comes off the peel
edge must be adjusted for a smooth label feed. To adjust the angle, loosen the two
M6x25 screws securing the cylinder pivot. Slide the block to adjust the grid to an
approximate 45 degree angle from the edge of the baseplate. Sliding the block out
increases the angle, whereas sliding the block in will decrease the angle. If the angle is
improperly adjusted, labels may jam during the dispense cycle.
The grid stop position must be adjusted to ensure that the roller fully contacts the label
during application. Locate the #6 phillips head screw directly behind the grid stop rubber
bumper. With a small phillips head screwdriver, loosen the #6 screw. Adjust the bumper
so that the gap between the grid and the roller is approximately 1/16”. Tighten the #6
screw to lock the bumper in place.

The label must be fed onto the grid and roller to the proper starting point for application.
This is necessary to ensure that the label is properly attached to the carton. Feed a label
onto the grid and note the position of the leading edge of the label. Loosen the roller
position adjustment screw and position the roller such that the end of the label is at or
slightly past the tangent point on the roller. Tighten the roller position adjustment screw
and verify the label stop position is correct by feeding a label or two.

HNOLOGY

62



TECHNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual

CYLINDER
PIVOT
BLOCK

RETRACT

CONTROL

EXTEND

FLOW —— |

CONTROL

RED BUMPER

GRID STOP

FLOW— |

Grid stop adjustment gap

63



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

ROLLER POSITION
ADJUSTMENT SCREW

Roller position adjustment

64



a]

Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

HNOLOGY

5.17.2 Label Application Adjustments
Once the label dispense adjustments have been made, the application setup adjustments
can be made. Proper applicator positioning is required for proper label positioning on the
product. The applicator should be positioned to apply a label to the product.

Position a box on the conveyor in place to be labeled. Move the applicator in or out so
that the corner of the carton strikes the centerline of the label.

CENTER

65



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Push the carton through the corner wrap unit until the roller is on the side panel of the
box. Locate the large red bumper and jam nut on the rear of the corner wrap unit.
Loosen the jam nut and adjust the red bumper until it presses on the rocker arm. Tighten
the jam nut to lock the red bumper in position.

To ensure the proper action of the grid and roller arm, the air cylinder is used as a
damper/spring system. Two flow controls are provided to adjust the movement of the air
cylinder. The retract flow control is used to provide pressure during the application of
the label. Adjusting the retract flow control will increase or decrease the amount of force
applied by the roller. The extend flow control, (located on the piston rod end), can be
adjusted to provide an anti-bounce feature to the grid and roller of the corner wrap
module. To adjust the extend flow control, remove the carton and pull back the roller
arm until it stops. Release the arm and adjust the extend flow control until the return
action is smooth and there is no bounce.

66



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5.18 Low Label Detection Verification
Once the low label sensor is installed, it is necessary to verify correct operation. To test
for correct operation, place the unwind assembly inner flange in a position to block the
low label sensor beam. Press the jog icon and verify that no low label indication is
shown (Use of a three stage beacon or system status output is required). Rotate the
flange until the low label sensor beam is not blocked. As soon as the low label sensor is
not covered, the Low Label condition is set and is indicated by the appropriate output
signal. If the low label sensor is again blocked and remains blocked after five label feeds
via the jog or product sensor triggers, the low label signal is reset. Alternatively, the low
label condition will reset when the printer is changed from an offline to an online state.
No low label indication would be present at the three stage beacon or system status
outputs.

67



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

6 Save/Recall

The Save and Recall menus allow users to save three, and recall four, different label,
application and product configurations.

The applicator configuration is stored as well as the set values. Recalling a

wipe on setup when a tamp upgrade is installed will cause the tamp not to

operate. Recalling a tamp setup with no tamp installed will cause the
applicator to behave like there is excessive apply delay.

n Record the settings for each location in the table provided at the end of this
section.

6.1 Save Configuration =
Three individual machine configurations can be saved in numbered buffers. For
example; a machine configuration for label #1 has Delay and Dwell settings that vary
from the configuration used for label #2. After completing the configuration for label #1,
save the settings to buffer #1. When the configuration for label #2 has been completed,
save the settings to buffer #2. This will allow the operator to recall and apply the settings
for the label being applied (label #1 or label #2) in order to reduce changeover time.
To save a setup to a buffer, complete the settings needed for proper printing and
application of the desired label/product combination.
Press the Save Setup icon to open the save menu.

12
(53 i
*¥XJQ

To save the setup you selected in a session to one of the three buffers

listed, press the icon 3 with the buffer number where you want to save the settings.
Note: The Save Factory buffer can only be accessed by factory technicians and
representatives.

Press the “Enter” icon + to save the settings. Annotate the saved setup on the table
provided in this manual. Enter the parameter set with either an “X” or the numeric value
used. Note: This will overwrite any previously stored settings.

HNOLOGY

68



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

6.2 Recall Configuration 5
To Recall a configuration from a saved buffer location, press the recall icon on the main
menu to open the locations menu. Refer to the configurations listed on the table created
when the setup was saved for the desired settings.

Z
a1 G2
53 5k
*XJQ

From the four buffers shown, select the desired configuration buffer (1, 2, 3, or Factory)
and press the enter icon. This sets the current configuration to the predetermined settings
saved in the buffer selected.

The recalled setup may be for a very different setup. Unexpected motion
may occur when the machine is cycled for the first time.

HNOLOGY

69



a]

HNOLOGY

Model 252
Label Printer/Applicator

Operators/Technical Manual

6.3 System Configuration Information

Use this page to record your settings

DESCRIPTION

ASSIST
DELAY

TAMP
DWELL

BLAST
DWELL

FEED
DELAY

APPLY
DELAY

SMART
DELAY

70



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

7 Dual Panel Application
The Dual Panel modes are for labeling two adjacent panel of a carton utilizing a single
applicator.

The Dual Panel functionality requires the use of special dual panel
firmware. On the bootup display, the firmware version will end with DP

7.1 Dual Panel Mode ﬁ]ﬁ
The Dual Panel Mode menu allows the applicator to be configured in one of 5 Dual Panel
modes. Available Print modes are Normal and Reverse and available apply modes are
Tamp and Tampjet. The two cycles of a dual panel are the equivalent of a tamp
application and a swing arm application. Refer to the appropriate sections for cycle
setup.

Cycle 1 and Cycle 2 are defined by the plumbing and electrical setup. Cycle

1 is controlled by connector J9 (Tamp) and cycle 2 is controlled by connector

J20(V5). Either the straight cycle or the swing cycle can be plumbed to be
cycle 1 depending on application requirements.

7.1.1 Mode 1

In this mode, photocell 1 fires cycle 1 and photocell 2 fires cycle two. Each photocell
can be configured individually using Apply Delay 1 and Apply Delay 2.

Mode 1 requires the use of two photocells and a dual photocell adapter

cable. The adapter cable is p/n: 1D100067. Alternately a Dual Photocell

bare end cable, p/n: 1D100076, can be utilized to control the triggers from an
external source such as a PLC.

7.1.2 Mode 2
In this mode, a single photocell is used to initiate both cycles in sequence. In Mode 2,
cycle 1 fires first, followed by cycle 2. Apply delay 1 is used to delay cycle 1 and apply
delay 2 is used to delay the second cycle.

7.1.3 Mode 3
In this mode, a single photocell is used to initiate both cycles in sequence. In Mode 2,
cycle 2 fires first, followed by cycle 1. Apply delay 1 is used to delay cycle 1 and apply
delay 2 is used to delay the second cycle.

7.1.4 Mode 4

In this mode, the dual panel module may be used to only apply a single label by only
activating cycle 1.

HNOLOGY

71



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

7.1.5 Mode 5

In this mode, the dual panel module may be used to only apply a single label by only
activating cycle 2.

z
7.2 Dual Panel Tamp Dwell £
The Dual Panel Firmware adds a second setting to the Tamp Dwell menu. There is a
setting for each action of the dual panel module and both can be changed independently.
Selecting Cycle 1 Qﬁ modifies the dwell settings for that cycle. Selecting Cycle 2 Qf

modifies the dwell settings for the other cycle. Pressing the « key will accept both
settings and pressing the X key will discard changes to both settings.

Cycle 1 and Cycle 2 are defined by the plumbing and electrical setup. Cycle

1 is controlled by connector J9 (Tamp) and cycle 2 is controlled by connector

J20(V5). Either the straight cycle or the swing cycle can be plumbed to be
cycle 1 depending on application requirements.

7.3 Dual Panel Smart Delay %
The Dual Panel Firmware adds a second setting to the Smart Delay menu. There is a
setting for each action of the dual panel module and both can be changed independently.
Selecting Cycle 1 {?,2 modifies the delay settings for that cycle. Selecting Cycle 2

modifies the delay settings for the other cycle. Pressing the > key will accept both
settings and pressing the X key will discard changes to both settings.

Cycle 1 and Cycle 2 are defined by the plumbing and electrical setup. Cycle

1 is controlled by connector J9 (Tamp) and cycle 2 is controlled by connector

J20(V5). Either the straight cycle or the swing cycle can be plumbed to be
cycle 1 depending on application requirements.

HNOLOGY

72



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

IVV. CARE, MAINTENANCE AND TROUBLESHOOTING

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

1. Maintenance Schedule
Disconnect power for all steps unless necessary for inspection of component
A functionality. Do not operate machine without guards in place.

The maintenance schedule shown is a suggested timetable based on a single shift five day
week operation under normal operating conditions. Schedule should be accelerated when
operating under multi-shift or harsh environments. Blank lines have been provided for
additional items as required. See the print engine manual for recommended print engine
maintenance schedule.

TASK ROLL WEEK | MONTH | PARA.
CHANGE

1 | Blow off paper dust X
2 | Clean Photocell
3 | Clean Drive Roller
4
5

Clean Peel Tip

Clean adhesive residue from web
path

Check all fasteners

Check belts and bearings for wear
Check Tamp Pad

Drain Filter Regulator

10 | Inspect Hoses and Fittings

11 | Clean platen roller and printhead X

XX [X[X

XXX XX

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

2. General Cleaning and Inspection
Any maintenance procedure should include a thorough inspection of the complete unit. In
addition to inspecting all of the items listed in the maintenance schedule, check the entire
applicator for loose fasteners, cuts or abrasion on wires or wire carriers, chipped paint that
may lead to corrosion and other indicators of potential problems. Oil and grease drips should
be wiped clean. Dirt and dust should be wiped away or blown off with compressed air.
Debris from products should be removed so they will not become entangled in moving parts.

f Use of eye protection is required when using compressed air to clean the unit.

3. Bearings
Ball bearing units are pre-lubricated and sealed by the manufacturer. No maintenance is
necessary and the bearings should only need replacement if they show signs of excessive wear
or are damaged in any way.

HNOLOGY




C

HNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual
4. Troubleshooting
SYMPTOM POSSIBLE CAUSE REMEDY PARA.
No waste take-up Broken/missing drive Replace drive belt 1IvV.10.1
belt
Broken/missing tension | Replace tension spring 1vV.10.1
spring
Label Falls Off Tamp Pad No / Low Vacuum Check unit is in tamp, rev. 11.4.4
Tampjet, or tampjet mode
Check Air Pressures 111.4.13.2
Check Valve Operation 111.4.13.2
Clean Tamp Pad 1.7
Pad Position not correct | Reposition Tamp Pad 111.4.13.1
Tamp Pad wrong size Install correct Pad 111.2.9.1
No Tamp Cycle Tamp Mode disabled Enable Tamp Mode 11.4.4
Tamp Dwell too short Increase Tamp Dwell 111.4.8
No Tampjet Blast Tampjet Mode disabled | Enable Tampjet Mode 111.4.4
Blast Dwell too short Increase Blast Dwell 111.4.9
Motor rotation wrong Unit set to wrong hand Change motor direction V.6
connection
Unwind free spins Broken/missing tension | Replace tension spring V.9
spring
Broken/missing brake Replace brake band V.9
band
Label Pulls off pad/sticks to | Label Stop too short Adjust per printer manual See printer
Peel tip during cycle Label Stop too long instructions manual
Tamp pad too high Reposition Tamp Pad 111.4.13.1




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

5. Main Voltage Selection
The Model 252 has been designed to run on voltages from 1VAC to 240VAC 50/60Hz. No
voltage selector switching or changes to the applicator are required. Refer to the printer
manual for possible required changes.

6. Motor Direction Selection
The Model 252 rewind assemblies (left hand or right hand) use the same motor, the direction
of which can be easily reversed to match the required rotation direction. If the motor is
rotating in the wrong direction, the rewind assembly will not work. The directional arrow
located on the end of the rewind spindle indicates the rotation direction required. Reversing
the motor rotation direction is as simple as plugging the motor into the provided connector on
the PCB in the electronics assembly.

Start by removing all power and air from the applicator. Next, remove the back cover from
the applicator using a 3mm hex wrench.

Before attempting to service machinery, the machine must be turned off
and the power and air locked out.

On the PCB, locate the connectors labeled RH (J14A) and LH (J14B). Remove the motor lead
wire plug from the connector it is now plugged into, (LH or RH), and plug it into the
connector labeled for the opposite direction. The motor should now be rotating in the opposite
direction. After the correct motor rotation direction has been selected, carefully reinstall the
back cover.

Most of the illustrations in this manual depict a Right Hand applicator. When

viewing the operator interface such that the print engine or apply only module is

directly below it, if the peel tip or the label feed direction is to the right, itis a
Right Hand applicator. If the peel tip or label feed direction is to the left, it is a Left
Hand applicator.

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

7. Changing the Fuses
The Model 252 has one set of fuses. The pair is on each leg of the incoming power. They are
accessible from the outside of the applicator.

Before attempting to service machinery, the machine must be turned off
and the power and air locked out.

The AC Main fuses are located in a tray in the power entry module. Remove the power cord
from the applicator, then, using a small flat blade screwdriver, pry the tray out of the power
entry module. The tray is located between the power cord socket and the power switch. Test
and replace any blown fuses with 5x20mm Slow Acting (or Time Lag) fuses of the appropriate
rating for the incoming voltage being used.

a]

HNOLOGY




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

8. Electronics Assembly
Start by removing all power and air from the applicator. Next, remove the back cover from
the applicator using a 3mm hex wrench.

Before attempting to service machinery, the machine must be turned off
and the power and air locked out.

BACK COVER
SCREWS

Disconnect the external components with removable connections from the PCB (Solenoid
valves, Rewind motor, Low Label Sensor, etc.) and carefully remove them through the
grommeted holes. Disconnect the permanently attached power cord from the print engine.
Loosen the screws securing the “D” style connectors to the rear panel and remove the cable
assemblies. Disconnect the network connection and the system status output connector if
equipped. Using a 3mm hex wrench, remove the four M4 socket head screws securing the
electronics assembly to the baseplate.

\ ELECTRONIC MODULE
MOUNTING SCREWS




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

9. 252 Firmware Update

Before attempting to service machinery, the machine must be turned off
and the power and air locked out.

. l

Note JP1 is shown at the bottom of the picture.

=
=
TEC

HNOLOGY




Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

TECHNOLOGY

3) Power the uniton. A link is indicated on the RX and ACT LEDs near the

network connector.

When using a crossover cable it may be necessary to change the PC Ethernet
adapter settings in order to establish a connection. In the network adapter
settings, change the Speed from Auto to 10Mb Full or 200Mb Full

- o W c—
- —

||E' v Control Panel » Metwork and Internet » Metwork Connections »

o - — —
Organize » Disable this network device Diagnose this connection Rename t
o-_ _— _
L-'. ocal Area Connection l- Local Area Connection 2
I i e T =D a2 --a = :' Disabled
2 Broadcom MetXtreme 57xx Gigabi... = lomega Virtual Ethernet Adapter
I i«
Broadcom MNetXtreme 57xx Gigabit Controller Properties ﬁ
General F@ Drriver | Details | Power Managemerrtl

The following properties are available for this network adapter. Click
the property you want to change on the left, and then select its value
on the right.

Property:

Flow Contral
Priority & VLAN
Prooy ARP Cffload
Preeas b1 Sl o= o




Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

NOLOGY

4) In a web browser, navigate to 192.168.0.9 to open the uploader. It may be
necessary to modify the computer’s IP address and subnet mask in order to

obtain a connection.

(e ¥ -
[} Ethernet loader B :

€& {7} 19216808 bidh 4 (‘:]

Erese Appicaton
R -

5) The existing firmware must first be erased. Enter the password WW65ss and
press “Erase Application”.

Erase-Application

6) After a successful erase, the page will show “No Application SW present”

Ersse-Agpicaton ——

7) Select the Browser button to locate the desired .bin file for the firmware
version being installed.

Erase-Applcaion
op\LP-252Version_1.00Upload.bin Update




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

8) Select “Update”. The file will be sent and the unit will restart.
L.P-252 _sw Update

Upload successful. The device will now reset and start the new program_ Please wait 5s...

9) The page will refresh and show that the software has been detected.
Ethernet - roader (v1.0.0)

Erase-Application ]mpagsmﬂ R Software Detected

10) Turn off power, remove the Ethernet connector, and remove the jumper from
JP1.

-t
=]
0

HNOLOGY

10



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

11) Turn the power back on and check the display for the proper firmware
version.

5
I

CHMOLOGY
MODEL 252
YERSION 1.00

12) Recall the factory default settings. Refer to section 111.6.2 of this manual.

11



Model 252
Label Printer/Applicator
Operators/Technical Manual

TECHNOLOGY
10. Printer/Applicator Interface Cable Pin Mapping
3
F=
al
g g = .
S z = T
°5 S35 g5
= S 0 S T
&S =298 5 S
o= PEN n e
Q2 o 39 w2 S
T £ s = S S =
3o Bls S o Bl o
gt I ISt Sld I
FUNCTION PIN PIN PIN
ov 1 1 2
5VDC 2 2 13
Print enable 3 3 5
Feed 4 4
Pause 5 5
Reprint 6 6 7
N/C 7 7
N/C 8 8
Low ribbon 9 9 10
Service 10 10,14 4
Required
Print end 11 11 6
Label out 12 12 1
Ribbon out 13 13 3
Online 14 9*
N/C 15 15

ﬂ * Sato “Se” series printers require “Ext Pin 9” configured to Mode 2. Consult printer
manual “Service Mode Configuration” section for setup procedure.

TECHNOLOGY

12



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

11. Unwind Brake and Dancer Arm
The unwind brake and dancer arm are designed to have no adjustments.

DANCER SPRING —
—=
\

SPRING ANCHOR STUD

If the brake band is being replaced, begin by unhooking the dancer spring from the spring
anchor stud. Remove the old brake band from the anchor pin and, using a 5mm hex wrench,
remove the retaining screw holding the brake band to the shaft collar. Install the new brake
band on the anchor pin and around the unwind shaft, taking care to face the smooth shiny side
of the band inwards against the collar and unwind shaft. Be sure the brake band is routed
according to the illustration below for the appropriate hand applicator. Next, rotate the dancer
shaft and collar until the brake band attachment hole lines up with the hole in the collar. Install
the retaining screw and secure the brake band.

LEFT HAND CONFIGURATION  RIGHT HAND CONFIGURATION

Most of the illustrations in this manual depict a Right Hand applicator. When

viewing the operator interface such that the drive roller is directly below it, if the

peel tip is to the right or the drive roller it is a Right Hand applicator. If the peel
tip is to the left of the drive roller, it is a Left Hand applicator.

Finally, rotate the dancer away from the peel tip end of the applicator, stretch the dancer spring
and reattach it to the spring anchor stud. The loop end of the spring should rest in the groove
of the stud.

13



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

The dancer roller should rest in a position near the edge of the faceplate. In this position, the
unwind shaft should offer resistance to spinning by hand unless the dancer arm is manually
rotated towards vertical.

14



Model 252
Label Printer/Applicator

TECHNOLOGY Operators/Technical Manual

12. Rewind Assembly Maintenance
Refer to the drawings and diagrams section for assistance when performing maintenance on
the rewind assembly. No adjustments are needed.

REWIND BELT

REWIND
ROLLER

Rewind Flange not shown for illustration purposes.

12.1 Drive Belt Removal
After removing the rewind clip, remove the screw and directional washer retaining the rewind
spindle on the shaft. Rotate the tensioner arm to remove tension on the belt and remove the
belt from the drive pulley. Slide the rewind spindle off of the shaft making sure that the shim
remains on the shaft. The drive belt can be removed and replaced at this point.

REWIND CLIP

REWIND

SPINDLE DRIVE MOTOR
MOUNTING SCREWS
DIRECTIONAL
WASHER

DRIVE PULLEY

TENSIONER
ARM

Rewind Flange not shown for illustration purposes.

15



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

12.2 Drive Belt Replacement
To replace the drive belt, place the belt in the drive groove on the rewind spindle. Holding the
belt from the top of the flange, slide the rewind spindle onto the shaft. Rotating the tensioner
arm as before, rotate the belt toward the drive pulley, ensuring that the belt is placed properly
over the bearings. Slip the top portion of the belt over the top of the drive pulley and pull the
belt or rotate the pulley until the belt is seated in the drive pulley. Release the tensioner arm
and verify that tension is applied to the belt.

12.3 Drive Pulley Replacement
To replace the drive pulley, remove the drive belt and rewind spindle. Rotate the drive pulley
until the set screw holding the pulley in place on the motor shaft is exposed. Remove the set
screw, and slide the drive pulley off of the motor shaft. Place the new drive pulley on the
motor shaft, install the set screw, and tighten, positioning the drive pulley hub as shown.

0.08 - 0.10—| |—

\/
Once the new drive pulley is correctly installed, reinstall the drive belt and rewind spindle.

HNOLOGY

16



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

12.4 Drive Motor Replacement
To replace the drive motor, the drive belt and the drive pulley must be removed. Remove both
by following the above removal processes. Using a 3mm hex wrench, remove the four M4
screws and washers and the secured rear cover to expose the motor. With a 4mm hex wrench,
remove the M5 screw and washers securing the cable clamp. Remove the cable clamp from
the motor power lead. The motor can now be detached from the rewind mounting plate. With
a 2.5mm hex wrench, remove the four M3 screws retaining the drive motor. To install a new
drive motor, perform the steps in reverse order.

To prevent damage to the motor mount threads, use caution to not over-
tighten the M3 screws.

REMOVE SCREWS,
WASHERS, AND COVER

17



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

V. DRAWINGS AND DIAGRAMS

TECHNOLOGY




Model 252
Label Printer/Applicator
Operators/Technical Manual

D
c
4 14.
- ™ LeneTH
# K
_LABEL
WIDTH
[ STANDARD TAMP
DIMENSIONS
8 8
16.96
14.
DRAWN 5
clari l2/2/2012 H 2051 FRANKLIN DR.
F )

THE INFORMATION CHECKED, Bl TECHNOLOGY ~ FORT WORTH, TX 76106

CONTAINED IN THIS o TITE
ADRAWING IS THE SOLE A

PROPERTY OF I D e

[FECHNOLOGY. STANDARD. 252 RH TAMP DIMENSIONS

REPRODUCTION IN PART OR APPROVED

HOLE WITHOUT THE 0 |02
RITTEN PERMISSION OF ID Size OWG NO REV
[TECHNOLOGY IS o0 |+ 005 C
PROHIBITED. o | =1 [SCALE I

SHEET 1 OF 2
1

4 3 N 2 I




Model 252
Label Printer/Applicator
Operators/Technical Manual

1
25.!
D
ADD OR SUBTRACT
AS NEEDED FOR OTHER
STROKE LENGTHS
e ¢
145
. LABEL
LENGTH
+ N
HEAVY DUTY TAMP
DIMENSIONS
B ‘ ®
I
]
|
|
‘ 14.22 — ‘
24,
DRAWN 5
clari [2/2/2012 ] 2051 FRANKLIN DR
CHECKED B TECHNOLOGY FORT WORTH, TX 76106
TITE
A QA A
STANDARD | MFG 252 RH TAMP DIMENSIONS
TOLERANCE
APPROVED
o |02
SIZE BWG NO REV
000 |% 005 C
ANGLE | £1 SCALE | SHEET 2 OF 2

4 3 A 2 I




Figure 3: 252N Basic Dimensions

Model 252

Label Printer/Applicator
Operators/Technical Manual

THE INFORMATION
CONTAINED IN THIS
ADRAWING IS THE SOLE
PROPERTY OF I D
[TECHNOLOGY
REPRODUCTION IN PART OR

HOLE WITHOUT THE

RITTEN PERMISSION OF ID
TECHNOLOGY IS
PROHIBITED.

30.1 REF.

12" C
WRAP UNIT

LABEL

17.82

TLENGTH -

¢ or
LABEL

52

1/2 LABEL
LENGTH

1/2 LABEL
LENGTH - .52

NOTE: 18.35-32.35 W/TS4000
22.3-61.3 W/TS1000

DRAWN
clari

8/23/2012

CHECKED

TECHNOLOGY
TITE

QA

STANDARD
TOLERANCE

WFG

ASSY,252N RH

0 |+02

(APPROVED

2051 FRANKLIN DR.
FORT WORTH, TX 76106

SIZE DWG NO

000 | %005

252N LAYOUT

REV

ANGLE| £1

[SCALE ‘

[sreer 1 or 1
1



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Figure 4: 252E Basic Dimensions

4 3 v 2 1
[—13.28——|~—12.12—|
D D
e % .
15.47
:} 28.11
o b
30.39———————| "
25.40,
c c
0= _ = —  om
®
q i g il 0 D F
- <+
43.49
®
g —
17.19
8 8
1 i \ g i i i
% - % i t
DRAVIN 5
lclari [Lo/20/2011 iD 2051 FRANKLIN DR
H,

THE INFORMATION cHeckeD | SBaf TECHNOLOGY FORTWORTHTX76106 |

CONTAINED IN THIS R T
ADRAWING IS THE SOLE A

PROPERTY OF | D STANDARD|MFG RINTER APPLICATOR,252E RH

TECHNOLOGY. TOLERANCE

REPRODUCTION IN PART OR [APPROVED

HOLE WITHOUT THE o |2
RITTEN PERMISSION OF ID o e =
FECHNOLOGY IS o0 |+ .005 [ 10100070
PROHIBITED. neLe| +1 [SCALE [sueer 1 or 5
4 3 ;N 2 T 1




Model 252
Label Printer/Applicator
Operators/Technical Manual

4 3 ¥ 2 1
38. 39. ‘
= L
D D
39.88
l\REMOVABLE
DOOR
C c
o
e
- -
B <
B B
- -
) '@
DRAWN 5
clari [L0/20/2011 ED 2051 FRANKLIN DR.
CHECKED lmirmm_om FORT WORTH, TX 76106
e
A oA A
STANDARD (MG RINTER APPLICATOR,252E RH
ToLERANCE
APPROVED
w |+
SizE WG No REV
00 |+ .005 C 1D100070
avie| +7 SCALE I [sueeT 2 oF 6
4 3 LN 2 I 1




Model 252
Label Printer/Applicator
Operators/Technical Manual

=

TAMP LENGTH - 1.8"

27.2

D
4‘ —21
c
=
SN
B
= L
ORAWN 5
o 10/20/2011 H 2051 FRANKLIN DR
HECKED TECHNOLOGY FORT WORTH, TX 76106
FE
o A
STANDARD |MFG RINTER APPLICATOR,252E RH
ToLERANCE
[APPROVED
w |z02
Sz oW o =]
000 |+ 005 C 1D100070
WNGLE| £1 [scALE | [sueer 3 or 5
1




Model 252
Label Printer/Applicator
Operators/Technical Manual

3 hvd 2 1
o b)
1853
33.24 ‘
2811
|
5.75
|
&g =]
i E—
25.40
c ‘ —1119— ‘ c
— —
b W
° .
. i 8 i 0 D F
RS e N &+
4537 43.49
L3
B O ] 8
17.19
L /’%
DRAWN =
i 16/20/2013 i 2051 FRANKLIN DR
[CHECKED B TECHNOLOGY FORT WORTH, TX 76106
e
A oA A
nnnnnnnn [MFG 252E U-ARM INSTALLATION
ccccccccc
RPPROVED
P P
SiZE UG 0
0 |20 c ’5100070_| D100172assy
ANGLE | 1 jscALE | [seer 2 or 3
4 3 LN 2 I 1




Model 252
Label Printer/Applicator
Operators/Technical Manual

4 3 ¥ 2 1
D D
32.95
| 44.09 =
"\__REMOVABLE
c DOOR .
- —2.09
-
L =) L=
- =
B B
L= L=
DRAWN
clari 6/20/2013 2051 FRANKLIN DR.
CHECKED M FORT WORTH, TX 76106
e
A QA A
S i 252E U-ARM INSTALLATION
Tottonee
[ APPROVED
o |so
SIZE G NO REV
- ¢ ‘fiﬁl%omo_lmoonzassy
ANGLE| %1 SCALE \ \SHEH 3 oF3
7 3 4; 2 I 1




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

4 I 3 ¥ 2 1

c c
_ ] 2 ., L 1 LI : i
B <+
8 252E NOSE UP 252E NOSE DOWN 252E NOSE UP 252E NOSE DOWN B
EXTENDED HT. EXTENDED HT. STANDARD HT. STANDARD HT.
PEDESTAL PEDESTAL PEDESTAL PEDESTAL
1D100168 1D100168 1D100167 1D100167
THE INFORMATION e e Ii W
CONTAINED IN THIS e
ADRAWING IS THE SOLE - "
:ESSES{E@: 1D STANDARD _[WIFG [252E/PEDESTAL BASE DIMENSIONS
REPRODUCTION IN PART OR e | APPROVED
HOLE WITHOUT THE ® e SizE WG N REV
B LD EUISSION OF 1D w0 |+ 05 c [252E PEDESTAL TAMP HTS
PROHIBITED. weLe| 1 SCALE [ [sueer 1 or 2
4 3 [N 2 T 1




Model 252
Label Printer/Applicator
Operators/Technical Manual

4 3 ¥ 2 1
D
30, 38.
l—13.4—| [—12.2—
- |21 21— =
1% T 8 [
i B 8 o
[ I°7
24.6 o} o 246
44.0 44.0 ¢
B ] 226 6 R
M REMOVABLE REMO\SAOBOL: M
1 DOOR —
1
Q,
25. =
NOSE UP NOSE DOWN
CONFIGURATION —13.4— CONFIGURATION
—122—
8
e °
126
28.11 \
246
p L
] o
‘ 25.6
7. =
cari [6/21/2013 H 2051 FRANKLIN DR
CHECKED Bl TECHNOLOGY FORT WORTH, TX 76106
ITITLE
oA A
STANDARD | WFG 52E/PEDESTAL BASE DIMENSIONS
TOLERANCE
o leo, [FPROVED
SIZE DWG NO REV
000|005 [ 52E PEDESTAL TAMP HTS
ANGLE | +1 SCALE | [sveer 2 o 2
4 3 LN 2 I 1

10



-

E

O
-
Z
o
—_
Qo
9]
-

Figure 7: 252 Wiring Diagram

Model 252

Label Printer/Applicator
Operators/Technical Manual

4 3 vd 2 1
MAN POVER ID100001 ELECTRONIC MODULE
CONN..
® ~ N oo
Ll VALE
D 2 COND.CONN. acuoN
] T = VI S
égnsé,;ﬂﬂ G: 2 COND.CONN..
(OPTIONAL) " ,_,/\/.‘,_‘ AR ASSiST
| VALE
2 COND.CONN..
TaNPuET
] = V1 e
o] - coan
(OPTIONAL) < )B; REWIND
— J14 A/B MoToR
| (RH/LH)
— 2 COND.CONN..
BLOWBOX
SuART sensor
o ([ = C rnona
PRESSJ 3 COND. 2 COND.CONN.
ANALGE I . .
L i ANALDS oUTPUT
¥ COND.
ANPfLEDSGS ‘ﬁ CONN. 2 COND.CONN.
c JUMPER DESIGNATIONS r N T
JP1 UPLOAD MODE NOT CONNECTED
JP2 USE PRNT PWR GND  NOT CONNECTED ‘ ‘
JP3 USE PRNT PWR +24V  NOT CONNECTED 3 ST sehcon
JP4 GND UN-ISOLATE NOT CONNECTED
JP5 AUTO/HARD RESET NOT CONNECTED - il ‘
SPARE 2 P2 Lo
JP2, JP3 USE REQUIRES MAIN PSU DISCONNECT ANALDS N Py ‘
e b
+ ANALDG IN N
=
o8
CONN.
SYSTEM STATUS
Ssor ([ INTERFACE PCB s iR
- =
= P ; I
— >
B B poon o
peC 1 Chelk ASSY.
SENSOR oBg
CONN.. ETHERNET
> CONN..
o8 >
CONN.
>
peC 2
SENSOR
PRINT ENGINE OR
APPLY ONLY MODULE
DUAL PRODUCT
DETECTOR OPTION
BRAW 5
R.CLARK 5/4/2012 D 2051 FRANKLIN DR
fTHE INFORMATION CHECKED I TECHNOLOGY FORT WORTH, TX 76106
CONTAINED IN THIS - e
APRAWING IS THE SOLE
PROPERTY OF 1D e
[ECHNOLOGY. ToLERANCE 252 WIRING SCHEMATIC
REPRODUCTION IN PART OR T oS
HOLE WITHOUT THE o
RITTEN PERMISSION OF ID Stz WG NO REV
TECHNOLOGY IS 00|+ 005 9 1D100002-SCHEM
PROHIBITED. | i B T sreer 1 ora
4 3 & 2 I

11



Model 252
Label Printer/Applicator
Operators/Technical Manual

TECHNOLOGY

Figure 8: Interface Board Layout

Q ° c000000 (B3
O SBE5555 =8 1O

i~3~3
000 @ﬂ!ﬁ " SPare1 PRE!
o], mmnf®
O |w =
O |V

:

R R
0000 O 0000 O
00000 7 00000
oo®

S 5

o
™
5
=
5
=
5
=
3

1
1
N
i

(m} o
g or: > Jes Ji2 Jeg
QEH E”El ; 080 I.u|:||]|]|l|]|l|]|l|] g 0 Oﬁ o) O]% O O|
<002 gy 0V ieeHle Bc %17() I:IJSC) i DJSO
— ° [ mfo o} [0 o}f_ [0 O}., [0 ©
00 ' o o |o ofF | o [p off
[8 8 B = +JI4B J26 J25 JR4 J21  J20
00 = - 8|7 8] 8]{8]{8]18];
00 I |: 2
gge%sg%:eaﬂi
dole0 S 65 BmE )
= 1
@ ununuuu 0 M @: %%%% o T8
= by’ 5
g 0 nE B szl




Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Figure 9: External Connectors

External Connector (2X) 9 pin Female D Connector
PIN |[FUNCTION

1 [Product Detect Signal 2 |Sinking (NPN) Input
2 |Red Beacon Lamp Sinking (NPN) Output
3 |Product Detect Signal 1 [Sinking (NPN) Input
4 |Accessory Signal Sinking (NPN) Input
5 |0V
6 |[+24 VDC
7 |Amber Beacon Lamp  [Sinking (NPN) Output
8 |Green Beacon Lamp Sinking (NPN) Output
9 |Reserved

The external connectors and signals are designed to work with 1D Technology standard
accessories. Use of non-approved components may give unexpected results, may lead to

equipment damage and may void warranty.

13



Optional System Status Output Connection

Model 252
Label Printer/Applicator

Operators/Technical Manual

Outputs 16 pin connector
PIN FUNCTION NORMAL STATUS
Form-C
1 OUtpUt 2 Open Max. Switch Power 60W, 125VA
2 Output 2 Closed Max. Switch Voltage ~ 220VDC, 250VAC
Max. Switch Current  2A DC, AC
3 Output 2 Common Max. Carry Current ~ 3ADC, AC
Form-C
4 OUtpUt 3 Open Max. Switch Power 60W, 125VA
5 Output 3 Closed Max. Switch Voltage ~ 220VDC, 250VAC
Max. Switch Current  2A DC, AC
6 Output 3 Common Max. Carry Current _3A DC, AC
Form-C
10 OUtPUt 4 Open Max. Switch Power 60W, 125VA
11 Output 4 Closed Max. Switch Voltage ~ 220VDC, 250VAC
Max. Switch Current  2A DC, AC
12 OUtpUt 4 Common Max. Carry Current 3ADC, AC
7 Output 1 -DC Load So“g g(t)as DSéVitChO 0210 A
8 Output 1 +DC Load o
9 No Connection Future Upgrades
13 No Connection Future Upgrades
14 No Connection Future Upgrades
15 No Connection Future Upgrades
16 No Connection Future Upgrades

14



Figure 10: Internal Connectors

Model 252
Label Printer/Applicator
Operators/Technical Manual

Inputs 4 pin connector

FUNCTION
J4 | Accessory Pin 1: +24V Pin 2 & 3: Signal (NPN) Pin 4: OV
J5 | Tamp Home Pin 1: +24V Pin 2 & 3: Signal (NPN) Pin 4: OV
J6 | Smart Sensor | Pin 1: +24V Pin 2 & 3: Signal (NPN) Pin 4: OV
J12 | Reserved Pin 1: +24V Pin 2 & 3: Signal (NPN) Pin 4: OV
J17 | Low Label Pin 1: +24V Pin 2 & 3: Signal (NPN) Pin 4: OV
J22 | Reserved Pin 1. +24V Pin 2 & 3: Signal (NPN) Pin 4: OV
J23 | Reserved Pin 1: +24V Pin 2 & 3: Signal (NPN) Pin 4: OV
Inputs 3 pin connector

FUNCTION
J1 | Pressure 1 Pin 1. +5V Pin 2: Signal Pin 3: 0V
J2 | Pressure 2 Pin 1: +5V Pin 2: Signal Pin 3: 0V
J3 | Pressure 3 Pin 1: +5V Pin 2: Signal Pin 3: 0V
J32 | Reserved Pin 1: +5V Pin 2: Signal Pin 3: 0V
J33 | Reserved Pin 1: +5V Pin 2: Signal Pin 3: 0V
J34 | Reserved Pin 1: +5V Pin 2: Signal Pin 3: 0V

The internal connectors and signals are designed to work with ID Technology standard
accessories. Use of non-approved components may give unexpected results, may lead to

equipment damage and may void warranty.

15



Outputs 2 pin connector

FUNCTION
J7 Fan Pin 1. +24V Pin 2: Signal (NPN)
J8 Air Assist Valve Pin 1. +24V Pin 2: Signal (NPN)
J9 Tamp Valve Pin 1: +24V Pin 2: Signal (NPN)
J10 Tampjet Valve Pin 1: +24V Pin 2: Signal (NPN)
J11 Vacuum Valve Pin 1: +24V Pin 2: Signal (NPN)
J14A | Rewind Motor RH Pin 1: Signal (+24V) Pin 2: 0V
J14B | Rewind Motor LH Pin 1: OV Pin 2: Signal (+24V)
J20 Reserved Pin 1: +24V Pin 2: Signal (NPN)
J21 Reserved Pin 1. +24V Pin 2: Signal (NPN)
J24 Reserved Pin 1. +24V Pin 2: Signal (NPN)
J25 Reserved Pin 1. +24V Pin 2: Signal (NPN)
J26 Analog Output Pin 1. +5V Pin 2: 0V
J27 Reserved No Function

The internal connectors and signals are designed to work with ID Technology standard
accessories. Use of non-approved components may give unexpected results, may lead to

equipment damage and may void warranty.

16

Model 252
Label Printer/Applicator

Operators/Technical Manual



R b E A bbb

FEE PR R ARt

+
+
+
+
+
+
+

Figure 11:

Exploded View, 252 Base Module 1D100002/1D100003
4 | 3 b4

>

PARTS LIST

MODULE

ITEM QY PART NUMBER DESCRIPTION PART NUMBER DESCRIPTION
1 10100013 ASSY,UNWIND RH 14" 10100014 ASSY,UNWIND LH 14"
2 1D100021 ASSY,REWIND 252RH 14" 1D100022 ASSY,REWIND 252LH 14"
3 1D100033 ASSY,FRAME 252 RH BASE 1D100034 ASSY,FRAME 252LH BASE

MODULE

[THE INFORMATION
CONTAINED IN THIS
DRAWING IS THE SOLE
PROPERTY OF | D
[TECHNOLOGY.
REPRODUCTION IN PART OR
HOLE WITHOUT THE
RITTEN PERMISSION OF ID
[TECHNOLOGY IS

PROHIBITED.

DRAWN
clari

[L2/2/2010

CHECKED

QA

MFG

ASSY,252 BASE MODULE

(APPROVED

DWG NO
‘I D100002/1D100003

2

17

Model 252

Label Printer/Applicator
Operators/Technical Manual



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Figure 12: Exploded View, 252 Faceplate Assembly 1D100033/1D100034
4 | 3 v 2

H & =
S & .
DRAWN =
o 11071072012 ;D 2051 FRANKLIN DR.
ke mFormATION Bl TECHNOLOGY FORT WORTH, TX 76106
CONTAINED IN THIS o £
ADRAWING IS THE SOLE A
PROPERTY OF | D STANDARD NEG IASSY,FRAME 252 BASE MODULE
[TECHNOLOGY. TOLERANCE
REPRODUCTION IN PART OR [APPROVED
HOLE WITHOUT THE o |x SIE WG NG
RITTEN PERMISSION OF ID
WRITTEN PERUI o c ‘ID100033 /10100034
PROHIBITED. ANGLE| £T SCALE | [seer 1 or 2
4 3 [N 2 I 1

18



-

E

0
-
Z
o
—_
Qo
9]
-

Model 252

Label Printer/Applicator
Operators/Technical Manual

4 3 2 1
PARTS LIST
ITEM [ QTY PART NUMBER DESCRIPTION
D 1 | 1 [15134a ELECTRICAL HAZARD LABEL
2 | 1 [6010 LABEL ELECTRICAL HAZARD
3 2 |60224 WASHER,DIRECTIONAL .8 OD X .25 1D
4 1 |62011 BASE PLATE BRACKET
5 | 1 |62015-08 COLLAR, GUIDE 1"
6 | 1 |62030-16 ROLL,IDLER
7 | 2 |62031 SHAFT.IDLER
8 | 2 [62034 ROLL,SPACER
9 | 1 [62120 FILTER REGULATOR ASSEMBLY
_ 10 | 1 |62180 TUBE.AIR ASSIST
11 1 [ID100001 ASSY,252 ELECTRONIC MODULE
12 1 [1D100004 BASEPLATE, 252
13 1 [1D100005 BRACKET,UNIVERSAL
14 | 1 |ID100006 BLOCK, TRUNION - SET ROTATION
15 | 1 |ID100007 COVER,BACK 252 RH
1D100008 COVER,BACK 252 LH
16 | 1 |ID100009 NAMEPLATE, 252 RH
10100010 NAMEPLATE, 252 LH
17 1 [1D100011 BRACKET,AIR ASSIST
¢ 18 | 1 |ID100035 ASSY,IDLER ROLLER
19 | 1 [ID100037 ASSY,PNEUMATICS 252 RH
1D100038 ASSY,PNEUMATICS 252 LH
20 | 1 |ID100048 Label, Threading Diagram 252 RH
1D100049 Label, Threading Diagram 252 LH
21 | 2 M20x50 HHCS
22 1 M4x10 SHCS
23 4 M4x20 SHCS
24 | 2 M4x25 SHCS
- 25 | 2 Max8 SHCS
2% | 2 M5x12 SHCS
27 | 5 M5x14 SHCS
28 | 2 M5x20 SHCS
29 2 M6x10 PPHS
30 | 4 M6x20 SHCS
31 | 2 M6x35 SHCS
2 | 4 MBX55 SHCS
33 | 2 MBX60 SHCS
8 34 |1 MBx45 SHCS
35 2 Washer,Flat M20 Zc Pit
36 4 Washer,Flat M4 SS
37 | 2 Washer Flat M5 SS
38 | 8 Washer Flat M6 SS
39 |1 Washer Flat M8 SS
20 | 2 Washer,Lock Split M20 SS
a1 | 2 Washer,Lock Split M4 SS
42 | 2 Washer,Lock Split M5 SS
43 8 Washer,Lock Split M6 SS
] 44 1 Washer,Lock Split M8 SS.
;:“NN [L0/10/2012 D 2051 FRANKLIN DR.
CHECKED TECHNOLOGY FORT WORTH, TX 76106
TITE
A QA
STANDARD _|MIFG ASSY,FRAME 252 BASE MODULE
TOLERANCE
o s [PPROVED
SIZE DWG NO REV
o0 |+ 005 c ‘I D100033 / 1D100034
ANGLE | £1 SCALE \suggr 2 oF2
4 3 A 2 I 1

19



Figure 13:

Exploded View, 252 Unwind Assembly 1D100013/1D100014
4 | 3 ¥ 2

Model 252
Label Printer/Applicator
Operators/Technical Manual

[THE INFORMATION
CONTAINED IN THIS
RAWING IS THE SOLE
PROPERTY OF | D
TECHNOLOGY.
REPRODUCTION IN PART OR
HOLE WITHOUT THE
RITTEN PERMISSION OF ID
[TECHNOLOGY IS
PROHIBITED.

110/9/2012

|}
Bl TECHNOLOGY FORT WORTH, TX 76106

rrrrr

ASSY,UNWIND 14"

2051 FRANKLIN DR.

BWG NO
‘IDlOOOlE /1D100014

sssss

[sneeT 1 or 2
1

4

BN




-

E

0
-
Z
@)
-
Qo
(9]
-

Model 252

Label Printer/Applicator
Operators/Technical Manual

4 3 ¥ 2 1
D
PARTS LIST
ITEM | QTY PART NUMBER DESCRIPTION
— 1 1 |60224 'WASHER,DIRECTIONAL .8 OD X .25 ID
2 162005 HUB,UNWIND
3 1 [62007 LABEL,UNWIND HUB
4 1 |62022 SHAFT,UNWIND
5 1 |62024 BAND,BRAKE
6 1 [62027 PIN, SPRING ANCHOR
7 162028 SPRING EXTENSION
8 2 |62029 BEARING
9 1 |62030-08 ROLL,IDLER
10 | 1 [62031 SHAFT,IDLER
¢ 11 | 2 |62032 BUSHING, FLANGED 1/2" BRONZE
12 1 |62036 HUB,UNWIND OUTER LOCKING
13 | 1 [62037 INSERT,HUB LOCKING
14 1 [1D100015 BLOCK,UNWIND
15 1 [1D100016 /ARM,DANCER 14.5" UNWIND
16 | 1 [1D100017 SHAFT.DANCER
17 1 [1D100018 COLLAR, SPRINGBREAK
18 | 1 [ID100019 SPUR HUB
19 | 1 [1D100020 SPUR,LOCKING
‘9 20 1 [1D100036 DISC,UNWIND 14.5"
21 1 [1D100047 KEEPER,MEDIA SUPPLY 14.5"
22 | 1 DRIVE PIN (SPRING)
23 2 DRIVE PIN (BRAKE BAND ANCHOR)
24 | 2 Internal Retaining Ring, 1.653"
25 6 M4x12 SBHCS
26 1 M6x10 PPHS
27 [ 1 M6x12 SHCS
28 1 M6x20 SFHCS
B 29 [ 1 M6x20 SHCS
0 [ 2 MB8x8 SSS Cup SS
31 1 External Retaining Ring, 1"
2 | 2 External Retaining Ring, 1/2"
33 | 1 External Retaining Ring, .781"
;:..WN L0/9/2012 D 2051 FRANKLIN DR
CHECKED TECHNOLOGY FORT WORTH, TX 76106
e
A oA
STANDARD | MFG ASSY,UNWIND 14"
TOLERANCE
o |00 [FPFOVED
SIZE DWG NO REV
o000 |00 c ‘IDlOOOlS /1D100014
ANGLE | #1° SCALE \ \suggr 2 oF2
4 3 L 2 I 1

21



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Figure 14: Exploded View, 252 Rewind Assembly 1D100021/1D100022
4 | 3 vd 2

a8 & aq HHOOODODD
D D
c c
+ S
B B
GRAWN =
clari fLo/as2012 ] 2051 FRANKLIN DR
THE INFORMATION CHECKED B TECHNOLOGY  FORT WORTH, TX 76106
CONTAINED IN THIS 3 TITLE
DRAWING IS THE SOLE REVISION FISTORY A
b .
ngsﬁgggf 10 REV DESCRIPTION DATE | spoowo —[VFG ASSY,REWIND 252 14'
REPRODUCTION IN PART OR 3 Ttem 39 1D100251 was 62028 1172072013
#11 - .030"Thk was #10 - .010"ThK, Items renumbered - #8 was 0 |40 [WPPROVED
HOLE WITHOUT THE D 11/5/2013
RITTEN PERMISSION OF ID #3142 was #25 SiZE BWG KO REV
C Ttem 24 was M3x12 SHCS, Remove M3 Lock Flat washers 32272013 || g5 |1 005 c 10100021 / 1D100022 E
[ECHNOLOGY IS B Ttems 1 was 38,M6x40 SHCS 10/4/2012
ROHIBITED. A Ttem 29 was Soc Hd, Item 38 was M6x45 SHCS 6/28/2012 J Aot 1 SCALE I [snee 1 or 2
4 3 [N 2 I 1

22



-

E

0
-
Z
@)
-
Qo
(9]
-

Model 252
Label Printer/Applicator
Operators/Technical Manual

2 1
PARTS LIST PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION ITEM QTY PART NUMBER DESCRIPTION
1 4 M3x10 SHCS 21 2 62031 SHAFT,IDLER
2 2 Mdx12 PFHCS 22 2 62032 BUSHING, FLANGED 1/2"
3 4 M4x8 SHCS BRONZE D
4 1 M5x10 SHCS 23 1 62055 CLIP.REWIND
5 3 M6x10 PPHS 24 1 62058 BELT,V 60DEG.
6 2 M6x20 SHCS 25 1 7621 CLAMP,CABLE 0.125
7 1 M6x30 SHCS 26 1 1D100023 PLATE,REWIND MOUNTING
8 1 M6x45 SHCS 27 1 10100024 |COVER,REWIND
9 1 M6x6 SSS CUP SS 28 1 1D100025 ARM,DANCER REWIND
10 1 Retaining Ring,Ext. 5101 TENSION
Series 29 1 1D100026 HUB, TENSIONER BEARING
11 1 shim, 30 1 1D100027 PIVOT,REWIND DANCER —
5"IDx.75"0Dx.03"THK SS 31 1 10100028 PULLEY,V-BELT
12 4 Washer Flat M4 SS 32 1 1D100029 SHAFT,REWIND
13 1 Washer,Flat M5 SS 33 1 10100030 |SPACER,REWIND SHAFT
14 3 Washer Flat M6 SS 34 1 10100031 |SPINDLE,REWIND
15 4 Washer,Lock Split M4 SS 35 1 1D100039 GEARMOTOR,24VDC
16 1 Washer,Lock Split M5 SS 140RPM
17 3 Washer,Lock Split M6 SS 36 2 1D100041 BEARING,BALL FLANGE
18 3 60224 WASHER, DIRECTIONAL .8 1/2x1-1/8x5/16x1.225x1/16
oD X .25 ID 37 1 1D100042 DISK,REWIND 14" c
19 2 62027 PIN, SPRING ANCHOR 38 2 1D100043 BEARING, BALL
20 2 62030-08 ROLL,IDLER 1/2x1-1/8x5/16
39 1 1D100251 Spring,Extension
.437x.0475x3.0 ZP A
K
B
Z:“NN [L0/4/2012 ID 2051 FRANKLIN DR.
CHECKED TECHNOLOGY FORT WORTH, TX 76106
.
QA A
STANDARD | MFG ASSY,REWIND 252 14"
TOLERANCE
0 o APPROVED
SizE BWG NO REV
000 |+ 005 c ‘IDlOOOZl /1D100022 £
ANGLE | £ SCALE ‘ ‘SHEET 2 0F2
3 ; 2 I 1

23



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual
Figure 15: Assembly View, ID100001 Electronics Assembly
ETHERNET
COMMUNICATION

CONNECTOR
(OPTIONAL)

PEC1/PEC2/3 STAGE
BEACON CONNECTOR (2)
SYSTEM STATUS
OUTPUT CONNECTOR
(OPTIONAL)

PRINT ENGINE
COMMUNICATION
CONNECTOR

TOUCHSCREEN
DISPLAY

FRONT VIEW BACK VIEW

24



Figure 16:

Exploded View, 252 Pneumatics Module ID1

>

¥

2

00037/1D100038

Model 252
Label Printer/Applicator

Operators/Technical Manual

TAMP VALVE (9)
AIR ASSIST VALVE (8)

[THE INFORMATION
CONTAINED IN THIS
DRAWING IS THE SOLE
PROPERTY OF I D
TECHNOLOGY.
REPRODUCTION IN PART OR

HOLE WITHOUT THE

RITTEN PERMISSION OF ID
[TECHNOLOGY IS
PROHIBITED.

VACUUM VALVE (11)

STANDARD
TOLERANCE

+.02

+.005

£1

PARTS LIST
ITEM Qry PART NUMBER DESCRIPTION
1 1 |e2108 SOLENOID WIRING
HARNESS LEAD
2 3 |o2104 VALVE SOLENOID 5 PORT
3 3 |e2105 REGULATOR W/ GAUGE D
4 1 |e2106 TRANSDUCER VACUUM
5 1 [e2110 MUFFLER VACUUM
c
<
8
GRAVIN 5
clari 8/31/2011 H 2051 FRANKLIN DR.
CHECKED Sl TECHNOLOGY  FORT WORTH, TX 76106
TiTE
o A
PG ASSY,PNEUMATICS 252
RPPROVED
SizE BWG o REV
C 1D100037and38 A
SCALE [ [seer 1 oF 1
1

2

25



Model 252

Label Printer/Applicator
Operators/Technical Manual

4 | 3 ¥ 2 1
D
c * REPLACE THE -XX WITH THE
APPROPRIATE TAMP STROKE.
-02, -04, -06, -08
-+
PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION
1 1 1143¢ LABEL,HAND CRUSH
B 2 1 62251 BLOCK, TAMP
3 1 62252 BRACKET, TAMP
* 4 2 62253-XX SHAFT, TAMP
5 3 62256 BUSHING,LINEAR
1/2"X7/8"x1.25"
* 6 1 62257-XX CYLINDER,AIR 2"
7 2 62259 FLOW CONTROL, TAMPER
PROOF ELB 1/4Tx1/8UNI
8 4 Internal Retaining Ring, 7/8"
— 9 1 BLACK CAP
10 1 GREY CAP
11 2 M6x20 SHCS M6x20 SHCS
12 4 M8x30 SHCS M8x30 SHCS
13 4 \Washer,Flat M8 Washer,Flat M8 SS
14 4 Washer,Lock Split M8 \Washer,Lock Split M8 SS

>

[THE INFORMATION
CONTAINED IN THIS
DRAWING IS THE SOLE
PROPERTY OF | D
TECHNOLOGY.
REPRODUCTION IN PART OR
HOLE WITHOUT THE
RITTEN PERMISSION OF ID
[TECHNOLOGY IS

PROHIBITED.

10/18/2012

DRAWN
clari
CHECKED

TECHNOLOGY
TITLE

QA

STANDARD
TOLERANCE

MFG

' TAMP ASSEMBLY

0 |+02

[APPROVED

2051 FRANKLIN DR.
FORT WORTH, TX 76106

SiZE DWG NO

000 [+.005

C

REV

62200-XX*

aNGLe | £1

SCALE I

26

[sreer 1 or 1
1



-
(@)

Model 252
Label Printer/Applicator
HNOLOGY Operators/Technical Manual

Figure 18: Exploded View, 62260-XX Heavy Duty Tamp Assembly

4 ! 3 v 2 L
D D
J
q €
c & | c
< 2
1
*
REPLACE THE -XX WITH THE
-12, -18, -24, -30
- <
Parts List
ITEM[QTY[PART NUMBER DESCRIPTION
1 [ 1 [1143c LABEL,HAND CRUSH
* 2 |1 |62257xx CYLINDER, 12" STROKE
s 3 | 2 [62259 FLOW CONTROL.TAMPER PROOF ELB 1ATXI/BUN |
4| 1 |62261 |BLOCK,TAMP HEAVY DUTY
5 | 1 [62262 BRACKET,TAMP
6 | 1 [62263 STABILIZER TAMP SHAFT
* [ 7 | 2 [e2264-xx HEAVY DUTY TAMP SHAFT
8 | 1 [62266 BRACKET, CABLE CARRIER
9 | 4 [62267 BEARING LINEAR 5/8"IDX1-1/8"ODX1-1/2'"LG
10 | 2 |62268 SLEEVE, TAMP BLOCK
11 | 4 |98409A221 __|RING,RETAINING 1-1/8" BORE
12 | 1 |KQ2C-078 BLACK CAP
— 13 | 1 |KQ2C-07GR__|GREY CAP —
14 | 2 |M5x20 SCREW,PHILLIPS FLAT HEAD
15 | 4 |M6x20 SCREW,SOCKET HEAD CAP
16 | 4 |m8 WASHER PLAIN
17 | 4 |m8 WASHER SPRING
18 | 4 [M8x30 SCREW,SOCKET HEAD CAP
PRAN
Imenmi [1/15/2004
[EFECKED MODEL 250
TITLE
A QA A
HEAVY DUTY
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE APPROVED
PROPERTY OF ID TECHNOLOGY,CORP. ANY REPRODUCTION IN SIz& [DWG NO REV
PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF ID TECHNOLOGY C 62260-XX
IS PROHIBITED. ISCAE ‘ e 1 o 1
4 3 [N 2 I 1

27



Model 252
Label Printer/Applicator
Operators/Technical Manual

-]
m
(@)
pe =
Z
]
p—4
@]
0
-

Figure 19: Exploded View, 62190-XX Service Tamp Assembly
4 | 3 ¥

2 1
D D
*REPLACE THE -XX WITH THE
APPROPRIATE TAMP
% STROKE. -02, -04, -06, -08
36 1 M6x10 ‘Hex Socket Button Head Cap Screw
35 1 |GREY cap
34 1 [BLACK cAP
c 33 4 [m8 Flat Washer c
% 32 1_|Me Flat Washer
31 4 M5 Flat Washer
% 30 | 2 |wa Flat Washer
29 4 M6X12 Phil. Flat Head Screw
28 1 |M5x10 Phil. Flat Head Screw
27 4 Internal Retaining Rings
26 4 M8 Lock Washer
25 1_|Me Lock Washer
49 ‘ 24 4 M5 Lock Washer
23 2 |wa Lock Washer N
21 4 M8x25 Socket Head Cap Screw
/ 20 2 |M6x20 Socket Head Cap Screw
= 19 4 M5x25 Socket Head Cap Screw
% 18 2 M4x20 Socket Head Cap Screw
17 1 [Maxio Socket Head Cap Screw
16 2 62259 FLOW CONTROL,TAMPER PROOF ELB 1/4Tx1/8UNI
*[ 15 1 |62257-XX CYLINDER AIR XX"
% 14 3 62256 BUSHING,LINEAR 1/2"X7/8"x1.25"
B *| 13 2 |62253-XX SHAFT, TAMP XX 8
SHIM BETWEEN ITEM 3 AND 6 12 1 62252 BRACKET, TAMP
AS NECESSARY SO ITEM 6 AND
7 ARE PARALLEL WHEN ASSEMBLY 11 1 62196 TUBE,AIR ASSIST 250 SWING AWAY TAMP
IS CLOSED 10 1 62195 BRACKET,AIR ASSIST SWING AWAY TAMP
9 1 62194 BLOCK,TAMP SWING AWAY
8 2 |62193 MOUNT PIVOT BEARING
7 1 62192 PLATE, TAMP PIVOT
6 1 |62191 PLATE,TAMP MOUNTING
o 5 2 62188 BUSHING,FLANGE 5/16x7/16x1/2x5/8x3/32
— 2 2 |62187 BOLT,SHOULDER 312x.64 —
3 1 62186 WASHER,FENDER ZP 2.5"
<) ’ 2 1 62185 MAGNET,CERAMIC
1 2 1143c LABEL,HAND CRUSH
ITEM Q1Y PART NUMBER DESCRIPTION
PARTS LIST
:::x’; [12/23/2008 iD 2051 FRANKLIN DR
I'HE INFORMATION CHECKED TECHNOLOGY FORT WORTH, TX 76106
A[FONTAINED IN THIS o TITLE .
PRAWING IS THE SOLE
PROPERTY OF | D STANDARD [ MFG ASSY, TAMP SWING AWAY SERVICE
[TECHNOLOGY. TOLERANCE
REPRODUCTION IN PART OR |2 o [P0V
:\(')rgr%r‘f EEHROMul;;gEN OF ID size DWG NO * REV
TECHNOLOGY IS RIGHT HAND ASSY SHOWN Sl ¢ f2190-XX
PROHIBITED. eie| xx ScaE [sueer 1 or 1
4 3 L 2 T 1

28



-
(@)

PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION

1 2 External Retaining Ring,
/2"

2 6 M4x16 SFHCS

3 10 M4x20 PFHCS

a 10 M5x18 PFHCS

5 8 M6x12 SHCS

6 2 M6x25 SHCS

7 4 MBX50 SHCS

8 1 Nut,Hex Jam SS M8

9 2 Washer Flat M6 SS

10 4 Washer Flat M8 SS

11 2 Washer,Lock Split M6 S5

12 4 Washer,Lock Split M8 S5

13 2 00111 Z 20000 FITTING, BRASS BARB

14 1 1143c LABEL,HAND CRUSH

15 1 250-0266 BUTTON,NYLON

16 1 62202 BRACKET,DAMPENING

17 2 62203 BRACKET,CYLINDER
MOUNTING

18 1 62204 BRACKET,CYLINDER
MOUNTING (BACK)

19 2 62206-XX PLATE SIDE

20 1 62207-XX PADDLE, TAMP

21 1 62208 SHAFT,TAMP PIVOT

22 1 62209 ROD,SPACER

23 1 62210 BLOCK,SPACER

24 1 62211 PLATE,BOTTOM

25 1 6391K131 BEARING SLEEVE OILITE
1/4x3/8x1/4

26 1 9546K242 BUMPER MALE

27 1 MC-150 [ASSY,SHOCK ABSORBER

28 1 NCM-PCO75 PIVOT BRACKET

29 1 NCM-PEO75 BRACKET,PIVOT

30 1 NCME106-0600C 6" PNUEMATIC CYLINDER

31 1 NY-106 CLEVIS,ROD

32 2 RF8-18-12PP BEARING,FLANGED

* REPLACE THE -XX WITH THE
APPROPRIATE LENGTH -08, -10,

-12, etc.
DRAWN
clari [L1/16/2012 D 2051 FRANKLIN DR.
FORT WORTH, TX 76106
[THE INFORMATION CHECKED TECHNOLOGY
CONTAINED IN THIS o TITE
DRAWING IS THE SOLE
PROPERTY OF | D e
frECHNOLOGY. ASSY,SWING TAMP
REPRODUCTION IN PART OR APPROVED
HOLE WITHOUT THE
RITTEN PERMISSION OF ID SIzE [DWG NO
TECHNOLOGY IS C 62201-XX
PROHIBITED. SCALE I [sheer 1 or 1
4 L 2 T 1

Model 252
Label Printer/Applicator
Operators/Technical Manual




-
m
0
-
Z
@)
-
Qo
(9]
-

Model 252
Label Printer/Applicator
Operators/Technical Manual

Figure 21.:

Exploded View, 1D100240-12-XX Dual Panel Tamp Assembly NU/ND
4 | 3 ¥ 2 |

1
PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION
1 2 External Retaining Ring,
POD D O OSBB
8 2 14 M4x25 SHCS
4 8 M5x20 SFHCS
5 2 M5x20 SHCS
o 6 7 M6x12 SHCS o
7 2 |M6x20 SHCS
8 8 M6x25 SHCS
9 7 M6x30 SHCS
10 7 M8x30 SHCS
11 4 M8x40 SHCS
12 6 \Washer,Flat M6 SS
13 4 Washer,Flat M8 SS
14 7 \Washer,Lock Split M6 SS
— 15 4 \Washer,Lock Split M8 SS —
16 2 00111 Z 20000 FITTING, BRASS BARB
17 2 00730 B 40818 BEARING,FLANGED
18 1 250-0266 BUTTON,NYLON
19 2 62203 BRACKET,CYLINDER
MOUNTING
20 1 62208 SHAFT,TAMP PIVOT
21 1 62209 ROD,SPACER
22 1 62237 |BLOCK, ATTACHMENT
c 23 1 62262 BRACKET, TAMP c
24 1 62360 KIT,SMART TAMP LASER
25 1 62651 PLATE, MOUNTING
26 1 62653-XX PADDLE, TAMP
27 2 62654-XX PLATE SIDE
28 1 62655 CLEVIS
29 AR 62656 BRACKET,DAMPENING
30 1 62657 BRACKET,CYLINDER
MOUNTING (BACK)
31 1 6391K131 BEARING,SLEEVE OILITE
AE 1/4x3/8x1/4 67
32 1 9546K242 BUMPER,MALE
33 1 MC-150 ASSY,SHOCK ABSORBER
34 1 NCM-PEO75 BRACKET,PIVOT
35 1 NCME106-0600 6" PNUEMATIC CYLINDER
36 1 NY-106 CLEVIS,ROD
. * REPLACE THE -XX WITH THE R
APPROPRIATE LENGTH PART
-08, -12, -16
cD\Ra‘:\WN 8/5/2013 'D 2051 FRANKLIN DR.
THE INFORMATION crecken WM'w
T
ABRAWING 15 THE ‘SoLE o IMODULE,DUAL TAMP,252 12"Stk XX"Swg |4
PROPERTY OF I D
TE(C:)HNOLO(E:)V STvoRTD WG u/d
REPRODUCTION IN PART OR o -0 POV
HOLE WITHOUT THE
RITTEN PERMISSION OF ID stz e o e
TECHNOLOGY IS 000 |+ 005 C 1D100240-12-XX
PROHIBITED. o | 11 SCALE ] [t or2
4 3 L 2 I 1

30



-
(@)

Model 252
Label Printer/Applicator

HNOLOGY Operators/Technical Manual

4 3 ¥ 2 | 1

PARTS LIST PARTS LIST
ITEM QrY PART NUMBER DESCRIPTION ITEM QrY PART NUMBER DESCRIPTION
2 14 Max25 SHCS 7 1 62257-12 CYLINDER, 12" STROKE
8 M5x20 SFHCS 18 2 62250 FLOW CONTROL, TAMPER
2 M5x20 SHCS PROOF ELB 1/4Tx1/8UNI
7 M6x12 SHCS 19 1 62261 BLOCK,TAMP HEAVY DUTY
2 M6x20 SHCS 23 1 62262 BRACKET, TAMP
b 8 M6x25 SHCS 21 1 |e2263 STABILIZER, TAMP SHAFT _|°
7 M6x30 SHCS 2 2 62264-12 HEAVY DUTY TAMP SHAFT
7 MBx30 SHCS 23 4 62267 BEARING,LINEAR
4 MBx40 SHCS 5/8"1DX1-1/8"0DX1-1/2"LG
6 Washer,Flat M6 SS 24 2 62268 SLEEVE, TAMP BLOCK
4 Washer,Flat M8 SS 25 1 62651 PLATE, MOUNTING
7 Washer, Lock Split M6 SS 26 1 62652-EXT PLATE,EXTENDED 90 DEG.
4 WasherLock Spiit M8 SS 30 1 62657 BRACKET CYLINDER
1 1143 LABEL,HAND CRUSH MOUNTING (BACK)
— 1 62237 BLOCK, ATTACHMENT 28 1 62658 PLATE.CLAMPING —
29 4 98409A221 RING,RETAINING 1-1/8"
BORE
33 1 KQ2c-078 BLACK CAP
34 1 KQ2C-07GR GREY CAP
c c
- S8
B 8
8
, _» L
&
DRAWN
clari [8/5/2013 2051 FRANKLIN DR
CHECKED TECHNOLOGY ~FORT WORTH, TX 76106
e
A A ODULE,DUAL TAMP,252 12"Stk XX"Swg A
STANDARD | MFG u/d
TOLERANCE
APPROVED
o |+o
SizE WG NO REV
0o |+ 005 C 1D100240-12-XX
ANGLE] #1 SCALE I [sreer 2 o 2
4 3 ; 2 I 1

31



-
rm
(@)

4

ID100241-12-XX Dual Panel

Tamp Ass
v

2

Model 252

Label Printer/Applicator
Operators/Technical Manual

embly Reels Up

* REPLACE THE -XX WITH THE

° APPROPRIATE LENGTH PART
-08, -12, -16
PARTS LIST
ITEM[QTY] _ PART NUMBER DESCRIPTION
- T2 External Retaining Ring, 1/2"
2 [10 M4x25 SHCS
3 4 M5x18 PFHCS
4 [10 V5x20 SHCS
5|8 M6x12 SHCS
6 |4 M6x25 SFHCS
7 |6 M6x25 SHCS
s |4 M6x30 SHCS
9 [4 MBx20 SFHCS
¢ 106 Washer Flat M6 58
e Washer,Lock Split M6 S5
12 | 2 001112 20000 FITTING, BRASS BARB
13 | 2 00730 B 40818 BEARING, FLANGED
14 [ 1 14z LABEL, HAND CRUSH
15 1 [250-0266 BUTTON,NYLON
16 | 1 [62202 BRACKET DAMPENING
17 | 2 [62203 |BRACKET CYLINDER MOUNTING
18 | 1 [62207-16 PADDLE, TAMP
i 19 [ 1 [62208 SHAFT,TAMP PIVOT
20 | 1 [62209 ROD,SPACER
21 | 1 |62236 ADAPTER, TAVP
22 1 [62237 BLOCK, ATTACHMENT
23 | 1 |62238 |BRACKET CYLINDER MOUNTING (BACK)
24 | 2 |62239-16 PLATE SIDE
25 | 1 |62240 PLATE, STIFFENER
26 1 [62257-12 CYLINDER,12" STROKE
27 | 2 [62259 FLOW CONTROL, TAMPER PROOF ELB 1/4Tx1/8UNI
26 | 1 |6o261 BLOCK, TAMP HEAVY DUTY
8 29 | 1 |oo262 |BRACKET. TAMP
30 | 1 |62263 STABILIZER, TAMP SHAFT
31| 2 |oo04-12 HEAVY DUTY TAMP SHAFT
32 4 62267 BEARING,LINEAR 5/8"IDX1-1/8"0DX1-1/2"LG
33 | 2 |62208 SLEEVE,TAMP BLOCK
34 1 [6391K131 BEARING,SLEEVE OILITE 1/4x3/8x1/4
35 | 1 |osdoKad2 BUMPER MALE
36 | 4 |9sa09Azal RING,RETAINING 1-1/8" BORE
37 | 1 [kQ2c-078 BLACK CAP
- 38 | 1 [KQ2C-07GR ’EREV cA
39 | 1 |mc-150 |ASSY.SHOCK ABSORBER
40 | 1 |NcM-Peo7S |BRACKET PIVOT
41 | 1 |NCcM-PEOTS BRACKET PIVOT
42 | 1 |NCME106-0600 }E PNUEMATIC CYLINDER
[ NY-106 [cLevis.ROoD
menmi [L2/6/2012 2051 FRANKLIN DR.
IHE INFORMATION CHeckeD _ BB TECHNOLOGY  FORT WORTH, TX 76106
ABRANING 15 THE SoLe DETAIL A & MODULE, DUAL TAMP,252 12"Stk XX"Swg
PROPERTY OF 1 D SCALE 0.38 : 1 STAvDARD WG eels Up
[FECHNOLOGY. ToLERANGE
REPRODUCTION IN PART OR T, o
gﬁl?ir\lwpgfr\#\;;gi OF ID size e No ReY
TECHNOLOGY IS 000 | 005 C 1D100241-12-XX
PROHIBITED. anoLe| =1 SCALE [ [seer 1 o 2
4 N 2 I 1

32



-
(@)

Model 252
Label Printer/Applicator
Operators/Technical Manual

2 1
* REPLACE THE -XX WITH THE D
APPROPRIATE LENGTH PART
-08, -12, -16
PARTS LIST
D ITEM|QTY PART NUMBER DESCRIPTION
D 1|2 External Retaining Ring, 1/2" =
2 10 M4x25 SHCS
3 4 M5x18 PFHCS
4 10 M5x20 SHCS
5 |8 M6x12 SHCS
6 4 M6x25 SFHCS
716 M6x25 SHCS
8 4 M6x30 SHCS
9 |4 MBx20 SFHCS
10 6 \Washer,Flat M6 SS c
1|6 Washer,Lock Split M6 SS
12 | 2 |001117 20000 FITTING, BRASS BARB
13 2 |00730 B 40818 BEARING,FLANGED
14| 1 [1143c LABEL,HAND CRUSH
15 1 |250-0266 BUTTON,NYLON
16 1 (62202 BRACKET,DAMPENING
17 2 |62203 BRACKET,CYLINDER MOUNTING
* | 18 1 |62207-16 PADDLE, TAMP
19 1 |62208 SHAFT,TAMP PIVOT
20 | 1 [62209 ROD,SPACER
21 1 |62236 ADAPTER, TAMP
22 | 1 [62237 BLOCK, ATTACHMENT
23 1 |62238 BRACKET,CYLINDER MOUNTING (BACK)
* 24 2 |62239-16 PLATE SIDE
25 1 |62240 PLATE, STIFFENER
26 | 1 [62257-12 CYLINDER, 12" STROKE
27 2 |62259 FLOW CONTROL,TAMPER PROOF ELB 1/4Tx1/8UNI
28 1 |62261 BLOCK,TAMP HEAVY DUTY
29 | 1 [62262 BRACKET, TAMP 8
30 1 |62263 STABILIZER, TAMP SHAFT
31 2 |62264-12 HEAVY DUTY TAMP SHAFT
32 4 62267 BEARING,LINEAR 5/8"1DX1-1/8"0DX1-1/2"LG
33 2 |62268 ’STEE\/E,TAMP BLOCK
34 1 |6391K131 BEARING,SLEEVE OILITE 1/4x3/8x1/4
35 1 |9546K242 BUMPER,MALE
36 | 4 |98400A221 RING,RETAINING 1-1/8" BORE
37 1 |KQ2C-07B BLACK CAP
38 | 1 |KQ2C-07GR GREY CAP -
39 1 |MC-150 ASSY,SHOCK ABSORBER
40 1 |[NCM-PCO75 BRACKET,PIVOT
41 1 |NCM-PEO75 BRACKET PIVOT
42 1 |NCME106-0600 6" PNUEMATIC CYLINDER
43 NY-106 CLEVIS,ROD
menmi [12/6/2012 'D 2051 FRANKLIN DR
CHECKED TECHNOLOGY FORT WORTH, TX 76106
T
A ODULE,DUAL TAMP,252 12"Stk XX"Swg A
STANDARD | MFG eels Up
TOLERANCE
[APPROVED
DETAIL C i Sz VT NO REv
SCALE .375 000 |.005 C 1D100241-12-XX
ancte | 1 SCALE [ [sreer 2 or 2
4 I 3 L 2 I

33



Model 252
Label Printer/Applicator
TECHNOLOGY Operators/Technical Manual

Figure 23: Exploded View, 62870-XX Corner Wrap Assewmbly

2 1
D o
AT FINAL ASSEMBLY TIE WRAP —— &
THE ELECTRICAL
WIRES TO THIS SCREW
SHAFT WHEN ROUTING WIRES.

c C
s =8
B B

DRAWN =
clari 1/17/2011 H 2051 FRANKLIN DR.
B FORT WORTH, TX 76106
THE INFORMATION CHECKED B TECHNOLOGY
CONTAINED IN THIS o TITLE
DRAWING IS THE SOLE A
PROPERTY OF I D
STANDARD ~ [MFG -
FECHNOLOGY. S CORNER WRAP ASSY.-RH
REPRODUCTION IN PART OR AFROVED
HOLE WITHOUT THE w |so
RITTEN PERMISSION OF ID S e o e
PURITTEN PERMIS P C 62870-XX RH
PROHIBITED. ol | 1 SCALE [ [sueeT 1 oF 3
4 3 A 2 I 1

34



Model 252
Label Printer/Applicator
Operators/Technical Manual

4 | ﬁ7 2 L
5 €% D
; & °
&
© 2
S
&
7 @ i
B 26 8
3 - :
b
i
& i
%
e [oRAWN =
clari [L/17/2011 H 2051 FRANKLIN DR.
CHECKED B TECHNOLOGY  FORT WORTH, TX 76106
e e,
A QA A
sTaowrD —WFS ICORNER WRAP ASSY.-RH
APPROVED
0 |02
SIZE DWG NO REV
000 C 62870-XX RH
AAAAAAA SCALE [ [steer 2 oF 3
4 4§ 2 I 1

35



-
(@)

Model 252
Label Printer/Applicator

HNOLOGY Operators/Technical Manual

PARTS LIST PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION ITEM QTY PART NUMBER DESCRIPTION
1 1 19155K96 COVER, FAN 34 1 External Retaining Ring,
2 1 1930K26 FAN (24VDC) (100 CFM) 34"
b 3 1 3/8 - 16 Hex Nut 35 2 AN103-X235 SILENCER,1/4" DIA. D
4 1 6 - 32x3/8 Phil Pan Head Machine 36 1 €0720-055-0620S COMPRESSION SPRING
Screw 37 1 E0300-31-1000 SPRING,EXTENSION
5 1 607232 BALL JOINT,HD 38 1 DRIVE PIN (SPRING)
6 3 62027 PIN, SPRING ANCHOR 39 1 M3x5 Hexagon Socket Set Screw
7 1 62028 SPRING EXTENSION - Cone Point
8 2 62259 FLOW CONTROL, TAMPER 40 22 |4 Plain washer
PROOF ELB 1/4Tx1/8UNI 41 16 M4 Spring Washer
* 9 1 62871-XX GRID 42 2 M4x16 Socket Head Cap Screw
* 10 2 62872-XX PLATE,SIDE 43 2 M4x20 Phil Flat Head Machine
B * 1 1 62873-XX PLATE,TOP Screw [
12 2 62874 PLATE END 44 10 |Max3s Socket Head Cap Screw
13 1 62875 BLOCK,MOUNT 45 4 M4x45 Socket Head Cap Screw
14 1 62876 SHAFT,MAIN 46 1 M5 Plain washers
15 1 62877 ROLLER a7 1 M5 Spring Washer
16 1 62878 SHAFT,ROLLER 48 1 M5x12 Socket Head Cap Screw
17 1 62879 SPACER 49 4 M6 Plain washers
18 1 62880 PIVOT,CYLINDER 50 6 M6 Spring Washer
19 1 62881 ARM,ROCKER 51 1 M6 Fender Washer WASHER, FENDER M6
c 20 1 62882 PLATE, ADJUSTMENT 52 1 M6x12 Socket Head Cap Screw c
21 1 62883 GRID,STOP BLOCK 53 1 M6x20 Hex Socket Flat Head Cap
22 1 62884 GRID,STOP PIN Screw
23 1 62885 BLOCK,BUMPER 54 2 M6x25 Socket Head Cap Screw
* 24 1 62886-XX BOX SHOE 55 2 M6x35 Socket Head Cap Screw
* 25 1 62887-XX ARM,ROLLER 56 1 M6x40 Socket Head Cap Screw
26 2 6338K472 BUSHING, FLANGE 57 6 M8 Plain washer
3/4x7/8x5/8x1-1/8x1/8 58 6 M8 Spring Washer
27 2 90500-88 BEARING,SHAFT 59 7 MB8x30 Socket Head Cap Screw
BN 60 1 MB8x45 Socket Head Cap Screw =N
28 1 9541K8 BUMPER,RUBBER 61 1 NCME106-0200C AIR CYLINDER, 2" STROKE
29 1 9546k66 BUMPER,MALE (RED) 1-1/16" DIA,
30 3 1/2" X 0.010 SHIM 62 1 External Retaining Ring,
31 1 3/4 X 0.025 12
32 1 983802546 PIN.DOWEL 1/4" X 1.5" S/S
33 1 External Retaining Ring,
/8"
B B

* REPLACE THE -XX WITH THE
APPROPRIATE LENGTH NUMBER.
i.e. -08, -10, -12 [

DRAWN
clari [L/17/2011 2051 FRANKLIN DR.
CHECKED TECHNOLOGY FORT WORTH, TX 76106
TITLE
A QA A
STANOARD WG CORNER WRAP ASSY.-RH
[APPROVED
w0 [t
SIZE DWG NO REV
000 |+ 005 C 62870-XX RH
ANGLE | £1 SCALE [ [seeT 3 o 3
7 3 i) 2 I 1

36



Model 252
Label Printer/Applicator
HNOLOGY Operators/Technical Manual

-
rm
(@)

Figure 24: Exploded View, 252N Assembly 1D100060/ID100065
4 ! 3 hvd

2 1
PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION
1 2 60224 WASHER,DIRECTIONAL .8
OD X .25 ID
D 2 1 60803 PLATE, 250 N ATTACHMENT b
3 1 [60804 GUSSET, 250 N
4 1 60805 GUSSET, 250 N
5 1 60806 GUSSET, 250 N
6 1 60807 PLATE, 250 N ADJUSTMENT
7 4 62015-08 COLLAR, GUIDE 1"
8 2 62030-08 ROLL,IDLER
9 2 62031 SHAFT,IDLER
10 2 |62034 ROLL.SPACER
11 1 CL-41-SHS SCREW, SWIVEL HEAD
- 5/16-18 X 3 I~
12 1 10100001 ASSY,252 ELECTRONIC
MODULE
13 1 1D100013/1D100014 ASSY,UNWIND 14"
14 1 1D100061 BASEPLATE, 252N
15 1 1D100062/1D100066 ASSY,REWIND 252N 14"
16 1 10100064 COVER,BACK 252N
17 6 M4x16 Socket Head Cap Screw
18 5 M5x14 Socket Head Cap Screw
c 19 20 |Me Plain washer c
20 20 M6 Spring Washer
21 2 M6x10 Phil Pan Head Screw
22 4 M6x20 Socket Head Cap Screw
23 3 |Mexes Socket Flat Head Cap Screw
24 3 M6x25 Socket Head Cap Screw
25 4 M6x30 Socket Flat Head Cap Screw
% 9 [M6x30 Socket Head Cap Screw
27 2 M6x40 Socket Head Cap Screw
9 28 2 M6x60 Socket Head Cap Screw Q’
B B
Clari [L0726/2011 D 2051 FRANKLIN DR.
I'HE INFORMATION CHECKED TECHNOLOGY FORT WORTH, TX 76106
ONTAINED IN THIS & TITLE A
PRAWING IS THE SOLE
PROPERTY OF | D STANDARD | MFG ASSY,252N
[TECHNOLOGY. ToLERANCE
fermoienoum e on w Jea [
SiZE WG O REV
PeoLoay e O OF 1P S c ‘ ‘I D100060/1D100065
PROHIBITED. AGLE| £T SCALE | [sreer 1 or 2
4 3 L 2 I 1

37



Model 252
Label Printer/Applicator

Operators/Technical Manual

| =

Figure 25: Exploded View, 252E Assembly 1D100070

2051 FRANKLIN DR.
FORT WORTH, TX 76106

D TECHNOLOGY
TTLE

RINTER APPLICATOR,252E RH

D100070

DWG NO

110/20/2011

38



-

E

0
-
Z
o
—_
Qo
9]
-

Model 252

Label Printer/Applicator

4 3 2 1
D
PARTS LIST PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION ITEM QTY PART NUMBER DESCRIPTION
1 2 60224 WASHER, DIRECTIONAL .8 20 1 10100072 ASSY, ENCLOSURE 252E RH
0D X .25 1D 21 2 M20 Plain Washer
2 1 62015-08 COLLAR, GUIDE 1" 22 2 M20 Spring Washer
3 1 62030-16 ROLL,IDLER 23 2 M20x50 Hex-Head Bolt
4 2 62031 SHAFT,IDLER 24 2 M4 Plain washer
5 2 62034 ROLL,SPACER 25 2 M4 Spring Washer
6 1 62120 FILTER REGULATOR 26 1 M4x10 Socket Head Cap Screw
] ASSEMBLY 27 4 M4x16 Socket Head Cap Screw
7 2 62162 BLOCK,TRUNION 28 2 Mdx25 Socket Head Cap Screw
8 1 62180 TUBE.AIR ASSIST 29 2 M5x12 Socket Head Cap Screw
9 2 92141A056 'WASHER,PLAIN 3/4" S.S, 30 5 M5x14 Socket Head Cap Screw
10 2 93303A113 WASHER, ARAMID FIBER 1 31 10 [we Plain washer
x 1-1/2 x .062 32 19 |me Spring Washer
11 1 CF24 12 (CABLE GLAND, 33 2 M6x10 Pozidriv Pan Head Screw
RECTANGULAR ROTEX 34 9 M6x12 Socket Head Cap Screw
12 1 1D100001 ASSY,252 ELECTRONIC 35 4 M6x20 Socket Head Cap Screw
c MODULE 36 2 M6x40 Socket Head Cap Screw
13 1 1D100009 NAMEPLATE, 252 RH 37 4 M6X55 Socket Head Cap Screw
14 1 1D100011 BRACKET AIR ASSIST 38 2 M6x60 Socket Head Cap Screw
15 1 1D100013 ASSY,UNWIND RH 14"
16 1 1D100021 ASSY,REWIND 252RH 14"
17 1 1D100035 ASSY,IDLER ROLLER
18 1 10100037 ASSY,PNEUMATICS 252RH
19 1 1D100071 PLATE, BASE 252E
49
8
CD;“NN L0/20/2011 2051 FRANKLIN DR
CHECKED TECHNOLOGY FORT WORTH, TX 76106
ITITLE
A oA
STANDARD | FG RINTER APPLICATOR,252E RH
TOLERANCE
o |eo [FPROVED
SIZE DWG NO REV
o |+ c 1D100070
ANGLE| 1 SCALE ‘ ‘SHEET 5 OF5
4 3 LS 2 I 1

39

Operators/Technical Manual



Model 252
Label Printer/Applicator
Operators/Technical Manual

Figure 26: Installation Instructions, 62130 Main Air Cutoff Assembly
4 | 3 ¥ 2

\ 1
COMPLETED ASSEMBLY OF THE FILTER
EXISTING FILTER REGULATOR ASSEMBLY 62120 REGULATOR AND THE AIR CUTOFF ASSEMBLY’
b /FILTER REGULATOR ASSEMBLY b
SPACER CLAMP
AIR CUTOFF VALVE
1) /
REMOVE QUICK
— DISCONN(I-E)CT EITTING QUICK DISCONNECT FITTING —
c c
REPLACE THE QUICK DISCONNECT FITTING WITH 4)
Bl THE SPACER CLAMP. THE SPACER CLAMP ATTACHES TO APPLY THREAD TAPE TO THE THREADS ON -
GROOVES IN THE FILTER REGULATOR BODY. (SHOWN BELOW) THE QUICK DISCONNECT FITTING. THREAD THE
3) FITTING INTO THE AIR CUTOFF VALVE.
ATTACH THE AIR CUTOFF VALVE
TO THE SPACER CLAMP. (SHOWN BELOW)
B B
SPACER CLAMPS HERE ON THE~]
FILTER REGULATOR. (BOTH SIDES) ORATN —
menmi 8/14/2008 2051 FRANKLIN DR
THE INFORMATION (CHECKED S8’ TECHNOLOGY ~ FORT WORTH, TX 76106
CONTAINED IN THIS o TITLE
ABRAWING IS THE SOLE SPACER CLAMPS HERE ON THE A
FRCHNoLOSY. AIR CUTOFF VALVE. (BOTH SIDES) ST MAIN AIR CUTOFF INSTALLATION
?EHFgLOEDV‘LIl‘(?rEglI}I!NrEEART OR o |0 [APPROVED
SizE WG NO REV
TERCILL%\}L(F)’(EBF\%(V\%SSION OF ID DETAIL A o000 |+.005 C 62130
PROHIBITED. woie| &1 SCALE | [seer 1 oF 1
4 3 & 2 I

40



Figure 27: Installation Instructions, 62150 Water Separator Assembly
4 | 3 ¥ 2

Model 252

Label Printer/Applicator
Operators/Technical Manual

2)
OPEN THE ASSEMBLY CLAMP ON THE INLET END

OF THE 62150. MATE THE 62120 (FILTER REGULATOR)
TO THE 62150 (WATER SEPARATOR ASSEMBLY). CLOSE
DOWN THE CLAMP ON BOTH ASSEMBLIES AND SECURE
THEM IN PLACE.

REMOVE GAUGE FACE
C AND PLACE ON THE

OPPOSITE SIDE IF DESIRED.
SEE THE FOUR STEPS BELOW

)

REMOVE THE AIR
4 TUBE FITTING FROM
THE EXISTING FILTER
REGULATOR (62120)
PORT MARKED "OUT".

3)
INSTALL THE AIR FITTING
FROM STEP 1 IN THE OUT
PORT OF THE WATER
SEPARATOR ASSY.

TIGHTEN FINGER TIGHT
THEN 30-60° WITH A WRENCH

4B)
B 4A) REMOVE SCREWS
ronsr & e o TneFrott
COVER. 2 FRONT & 2 BACK.
FRONT l\3//|*é3v*§/
VIEW DRAWN H
4C) 4D menmi 8/14/2008 D 20SLERANCLNDR.
RE-INSTALL CHECKED TECHNOLOGY 3
[THE INFORMATION | =¥ TECHNOLOGY FR°WORTR AR |
A\ FONTAINED IN THIS IBNLiL;I\(IikIgglI-_Jg'EE& GAUGE COVER. = TTLE
DRopeRIY or 1D O ON OPPISITE SIDES
ROPERTY OF | D .
FECHNOLOGY. S WATER SEPARATOR INSTALLATION
REPRODUCTION IN PART OR o o IAPPROVED
HOLE WITHOUT THE
RITTEN PERMISSION OF ID SZE ZV;Glhgo REV
[TECHNOLOGY IS 000 |+ 005
PROMIBITED aioie] ex SAE I [sreer 1 oF 1
4 3 S 2 \

41



-+
-+
4
-
4
-+
-t
-+
-+
4
pe
-
-+
-
4

Figure 28: Risk Assessment

Model 252

Label Printer/Applicator
Operators/Technical Manual

42

Risk Risk
Task Hazard Category Hazard Cause/Failure Mode Severity Probability Level Reduce Risk Severity Probability Level

Production line running

Normal Electrical / Unexpected Start Up / | without operator

Operation Electronic Motion knowledge Minor Unlikely Negligible Minor Unlikely Negligible

Normal Ergonomics / Unfamiliarity with Operator training, manuals,

Operation Human Factors Hazards and Risks Minor Unlikely Negligible | warnings on machine. Minor Unlikely Negligible
User placing hand

Normal Pinch Point - between machine and Warnings on machine and in

Operation Mechanical Extension target Moderate | Unlikely manual Moderate | Unlikely
User placing hand

Normal Pinch Point - between machine and Warnings on machine and in

Operation Mechanical Retraction target Moderate | Unlikely manual Moderate | Unlikely

Load / Unload Ergonomics / Lifting / Bending / Weight of customer

Materials Human Factors Twisting media. Minor Unlikely Negligible Minor Unlikely Negligible

Load / Unload Ergonomics / Language / Cultural

Materials Human Factors Difficulties Minor Unlikely Negligible | Icon Based where possible Minor Unlikely Negligible
User placing hand

Load / Unload Pinch Point - between machine and Lock Out Tag Out Pneumatics.

Materials Mechanical Extension target Moderate | Likely Medium Warnings in manual Minor Remote Negligible
User placing hand

Load / Unload Pinch Point - between machine and Lock Out Tag Out Pneumatics.

Materials Mechanical Retraction target Moderate | Likely Medium Warnings in manual Minor Remote Negligible

Electrical / Unexpected Start Up / | Procedure done while Lock Out Tag Out. Warnings on
Clear Jams Electronic Motion unit active Moderate | Likely Medium machine and in manual Minor Remote Negligible
Ergonomics / Language / Cultural

Clear Jams Human Factors Difficulties Minor Unlikely Negligible | Icon Based where possible Minor Unlikely Negligible

User placing hand
Pinch Point - between machine and Lock Out Tag Out Pneumatics.

Clear Jams Mechanical Extension target Moderate | Likely Medium Warnings in manual Minor Remote Negligible

User placing hand
Pinch Point - between machine and Lock Out Tag Out Pneumatics.

Clear Jams Mechanical Retraction target Moderate | Likely Medium Warnings in manual Minor Remote Negligible

Minor

adjustments to | Electrical / Unexpected Start Up / | Operator unfamiliar with

machine Electronic Motion operation of controls Moderate | Unlikely Operator training & manuals. Moderate | Unlikely

Minor Pinch Point - User placing hand Warnings on machine and in

adjustments to | Mechanical Extension between machine and Moderate | Unlikely manual Moderate | Unlikely




Model 252

Label Printer/Applicator
Operators/Technical Manual

TECHNOLOGY
machine target
Minor User placing hand
adjustments to Pinch Point - between machine and Warnings on machine and in
machine Mechanical Retraction target Moderate | Unlikely manual Moderate | Unlikely
User placing hand
Pinch Point - between machine and Lock Out Tag Out Pneumatics.
Clean Machine | Mechanical Extension target Moderate | Unlikely Warnings in manual Minor Remote Negligible
User placing hand
Pinch Point - between machine and Lock Out Tag Out Pneumatics.
Clean Machine | Mechanical Retraction target Moderate | Unlikely Warnings in manual Minor Remote Negligible
Normally Energized Lock Out Tag Out Electricity.
Periodic Electrical / Equipment (direct Power on machine with Warnings on machine and in
Maintenance Electronic contact) covers removed Minor Unlikely Negligible | manual Minor Remote Negligible
Periodic Electrical / Unexpected Start Up / | Procedure done while Lock Out Tag Out. Warnings on
Maintenance Electronic Motion unit active Minor Unlikely Negligible | machine and in manual Minor Unlikely Negligible
User placing hand
Periodic Pinch Point - between machine and Lock Out Tag Out Pneumatics.
Maintenance Mechanical Extension target Moderate | Unlikely Warnings in manual Minor Remote Negligible
User placing hand
Periodic Pinch Point - between machine and Lock Out Tag Out Pneumatics.
Maintenance Mechanical Retraction target Moderate | Unlikely Warnings in manual Minor Remote Negligible
Normally Energized Lock Out Tag Out Electricity.
Parts Electrical / Equipment (direct Power on machine with Warnings on machine and in
Replacement Electronic contact) covers removed Minor Unlikely Negligible | manual Minor Remote Negligible
Set-up or Electrical / Unexpected Start Up / | Procedure done while Lock Out Tag Out. Warnings on
Changeover Electronic Motion unit active Minor Likely machine and in manual Minor Remote Negligible
User placing hand
Set-up or Pinch Point - between machine and Lock Out Tag Out Pneumatics.
Changeover Mechanical Extension target Moderate | Likely Medium Warnings in manual Minor Remote Negligible
User placing hand
Set-up or Pinch Point - between machine and Lock Out Tag Out Pneumatics.
Changeover Mechanical Retraction target Moderate | Likely Medium Warnings in manual Minor Remote Negligible
Ergonomics / Lifting / Bending / Weight of machine
Installation Human Factors Twisting and/or install location. Moderate | Likely Medium Instruct and Warn in manual. Moderate | Unlikely
Ergonomics / Unfamiliarity with Install should be performed by
Installation Human Factors Hazards and Risks Moderate | Unlikely trained technician. Moderate | Unlikely
Weight of machine
Installation Crushing Machine weight and/or install location. Moderate | Unlikely Instruct and Warn in manual. Moderate | Unlikely

43




V1. COMPONENT INFORMATION



Model 252
Label Printer/Applicator
Operators/Technical Manual

MiniBeam Photocell

®
A N IN EXER

more sensors, more solutions

MINI-BEAM® de-Voltage Series

Self-contained photoelectric sensors

Installation
Guide

Additional information on this product is immediately available online at www.bannerengineering.com/69943

View or download additional information, including excess gain curves, beam patterns and accessories.
For further assistance, contact a Banner Engineering Applications Engineer at (763) 544-3164 or (888) 373-6767.

c E @-c N Sensing Mode Range LED Model*
Opposed Emilter SMAE
) - 3m (10
Glass Fiber Opposed Receiver SM31R
Optic sensor Opposed Emitter - Long Range ?;Ea;e': SM3I1EL
— Opposed Receiver - 30 m (100°)
:;..;? l_l - Long Range SMIRL
- Dpposed Emitter 010 300 mm (0 to 12)
Clear Plastic Detection Actual range varies, SHSIERD
depending on the light
Convergent-mode 4 transmission properties
sensor o Upp::elt_ﬂ;e?w:! of the plastic material SM31RPD
ear Flasuic Uelection b?ing sensed.
= Visible Red
| - Non-Polarized .
- 1 Retrorellective 5m (15°) 650 nm smatzwy
. . Polarized S0mmto2m
Emitters with Attached Cable B 1 Reticrofloctivn (@to7) SM312LVAG
-
Extended-Range 10mmto 3 m
Ay + Polarized Retroreflective (0.4° to 10°) SM12LP
. 10-30V de = 380 mm (157) SM3120
= ifuse
B 300 mm (127) SM312082
o Infrared
Divergent Diffuse 130 mm (5% 380 nm Smazw
16 mm (0.65%) Focus SMai2c
Al Other Models e
with Attached Cable 43 mm (1.7") Focus smatzcz
" 16 mm (0.65") Focus Visible Red SM3tzcv
n
/ IIJTSIW de | -y | " 5 43 mm (1.7°) Focus 650 nm sma1zcvz
) -
j_ - 16 mm (0.65") Focus Visible Blue SM312CVE
L 49 mm (1.9) Focus 475 nm SM312cV2e
16 mm (0.657) Focus Visible Green | SM312CVG
49 mm (1.9°) Focus 525 nm SM312cvae
Emitters with Quick Disconnect Infrared SM3H2F
(4-Pin Euro-Style) 830 nm
b Visible Red SM312FV
= o i Glass Fiber Oplic 650 nm
- - Visible Blue SM312FUB
) wh 3 475 nm
Ik B \isibla Green
- t I_—j Range varies, depending 525 nm SM3I2FVG
on sensing mode and e
i L :I -_-l fiber optics used. V';'ﬁ‘ge Red SM312FP
All Other Models with Quick Disconnect o
(4-Pin Euro-Style) Plastic Fiber Oplic V'j']?;enﬂ"e SM312FPB
bn
- = Visible Green
! - - 10-30V w0 | SM312FPG
| wh Special High-Power Option Visible Red
[ " (Toad] Plastic Fiber Optic 650 nm SM2FPH
L — ™= L *Standard 2 m (6.5) cable models are listed.

+9 m (30') cable: add suffix “W/30” (e.g., SM31EW/30).

= 4-pin Eura 0D models: add suffix “0D" {e.q., SM31EQD).
+150 mm (6) QD Pigtail: add suffix “QDP" (e.g., SM31EQDP).
For 0.3 ms response: add suffic “MHS" (eq., SM31EMHS).

NOTES: Cutput Type for all models is
Bipolar NPN/PNP. Load
150 mA max., each output.

See Safety Use Warning on Back Page

Printed in USA 11/04 P/N 69943 rev. B

TECHNOLOGY




Model 252
Label Printer/Applicator
Operators/Technical Manual

— MINI-BEAM® dc-Voltage Series

Installation

Guide

Dimensions

Models with suffix E, EL, EPD, R, RL, RPD, LV, LVAG, LP,
D, C, C2, CV, CV2, CVG, CV2G, CVB, and CV2B

Models with suffix DBZ and W

4.2 mm (0,157 — 122 mm [0.467)
-

) ~
0T ]
l ’fﬁ_‘skﬁ" — \ . @3 mm Clesrancs (2)
- - E M18x 12 15 min Thread
"5.;:.\ =3 . / [Mounting Nt Suppliad)
2m (8.5 Gable
Mousting Pog — 1=
[nu.Jmme.:qmlngl | \ .
10.0 mm (0.75) —~._| -] \J.
T
|
\\\_
S ™— 7.4 mm (1,087
2.3 (2.40)

T

Models with suffix F, FV, FVB, and FVG

a3 mm Clearsca {7)

o Bezel

#
— 108 (0,717

Models with suffix FP, FPB, FPG, and FPH

o M8 11119 mm Theend
7 (Mowmting Mt Supped)

1.5 man (2,777

M.
- S 313 mm (1.2
T

D Models

3 2mm{9AF) 12,2 mm (0467
L

2m (6.5) Cable

Mourlin
{0 8.3 mm 12.E'nm %

Sensor Features

12 min Thiead —
Ouick-discoanect

{shown with gasketed acrylic cover removed)
Gain (Sensilivity] Adjusiment Serew ‘\‘1\’ .

Alignment Indicator Device (AIDJ* ___

LE

Light/Dark Operate Select Switch
Clockwise: Light Operate
{oulpuls conduc! when sensing =
light is received). F-_
Counterclockwize: Dark Operale
(outpuls conduet when sensing
light is nat received). ]

U5, Patend 8. 4356393

MOTE: Please ohserve proper ESD precautions {grounding)
when adjusting gain pot or LO/DO switch.

Banner Engineering Corp. + Mi polis, MK U.S.A,

2 PINGOM3ren. B

TECHNOLOGY

www.bannerengin;eﬂng.c.:om » Tel: 763.544.3164




TECHNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual

___Installation

Guide

MINI-BEAM® dc-Voltage Series ——

Sensor Mounting and Alignment

MINI-BEAM sensors perform most reliably if they are properly aligned and securaly

ted. For hanical stability, final-mount MINI-BEAM sensors
through 18 mm diameter holes by their threaded barrel (where available), or use
a ing bracket. A I lection of ing brackets is available. Visit

wwaw.bannerengingering. com/69943, or contact the factory for information on
mounting options.

Begin with line-of-sight positioning of the MINI-BEAM sensor to its emitter
(opposed-mode sensing) or to its target (all other sensing modes). When using a
retroreflective sensor, the target is the retroreflector (“retro target”). For diffuse or
convergent sensing modes, the target is the object to be detected,

Apply power to the sensor (and to the emitter, if using the opposed mode).
Advance the 15-turn Gain control to maximum (clockwise end of rotation), using
a small flat-blacle screwdriver. The Gain control is clutched at both ends to avoid
damage, and will “free-wheel” when either endpoint is reached. See Sensor
Features illustration on page 2,

If the MINI-BEAM sensor is receiving its light signal, the red LED Alignment
indicator will be ON and flashing at a rate proportional to the signal strangth
(faster = more signal). Move the sensor (or move the retro target, if applicable)
up-down-right-left (including angular rotation) to find the center of the movement
zone within which the LED indicator remains ON. Reducing the Gain setting will
reduce the size of the movement zone, and enable more precisa alignment,

Repeat the alignment motions after each Gain reduction. When optimum
alignment is achieved, mount sensor(s) (and the retro target, if applicable) solidly
in that position. Increase the Gain to maximum,

Test the sensor by placing the object to be detected in the sensing position, then
remaving it. The Alignment indicator LED should come ON when the sensing beam
is established (Light condition), and go OFF when the beam is broken {Dark
condition). If the Alignment indicator LED stays ON for both sensing conditions,
consider the following tips for each sensing mode,

Alignment Tips

Opposed-Mode Alignment
Light condition: no object in beam
Dark condition: objact in beam

“Flooding” oceurs when a portion of

the sensing beam passes around the object to
be sensed. “Burn-through” occurs when a portion
of the emitter's light energy passes through a thin or
translucent object, and is sensed by the receiver,

To correct either problem, do one or more of the following to
reduce the light energy:
+ Reduce the Gain adjustment on the receiver,

+ Add an aperture to one or both lenses. (MINI-BEAM apertures, available from
Bannar, fit neatly inside the lens assembly.)

+ Intentionally misalign the emitter and receiver.

Retroreflective-Mode
Alignment

Light condition: no object in beam
Dark condition: objact in beam

A highly reflective
object may reflect enough light

back to a retroreflective sensor o allow
that object to slip through the beam,
without being detected. This problem is called
“proxing,” and the following methods may be
used to correct it:

+ Position the sensor and retro target so the beam will not
strike a shiny surface perpendicular to the sensor lens,

+ Reduce the Gain adjustment,
+ fdd a polarizing filter (for model SM3120LV),

Diffuse-Mode Alignment
Light condition: object in beam
Dark condition: no object in beam

If the Alignment LED does not go

OFF when the object is removed

from the beam, the sensor is prabably
detecting light reflected from some
background object. To remedy this problem:

* Reduce the reflectivity of the background by painting the
surface(s) flat-black, scutfing any shiny surface, or
drilling a large hole, directly opposite the diffuse sensor,

= Move the sensor closer to the object to be detected and reduce the Gain
adjustment. Rule of thumb for diffuse sensing: The distance to the nearest
background object should be at least three fimes the sensing distance.

(L)

W Convergent-Mode Alignment

Light condition: object in beam
Dark condition: no object in beam

The sensing energy of a convergent-

mode sensor is concentrated at the specified
focus point (see page 1). Convergent-mode
Sensors are less sensitive to background reflections,
compared with diffuse-mode sensors. However, if
background reflections are a problem:

+ Skew the sensor position at a 10° to 25° angle to eliminate direct
reflections from shiny background surfaces.

* Reduce the reflectivity of the background by painting the surface(s)
flat-black, scuffing any shiny surface, or drilling a large hole, directly
opposite the sensor,

* Reduce the Gain adjustment.

__ Banner Engineering Corp. » Minneapolis, MN U.5.A.
www.bannerengineering.com » Tel: 763.544.3164

PNEAS43re B 3




TECHNOLOGY

Model 252
Label Printer/Applicator
Operators/Technical Manual

Installation

MINI-BEAM® dc-Voltage Series

Guide

Fiber Installation

Glass Fiber Installation

1) Install the O-ring (supplied with the fiber) on each fiber end, as shown in the
drawing.

2) While pressing the fiber ends firmly into the ports on the sensor front, slide
the U-shaped retaining clip (supplisd with the sensor) into the slot in the
sensor's barrel, until it snaps into place.

&

|1 Retaining Clip

Plastic Fiber Installation

1) With supplied fiber cutter, make a clean cut at control ends of fibers.

2) Unlock the fiber gripper as shown below. Apply appropriate fiber adaptors prior
to fiber insertion, if needad.

3) Gently insert the prepared fiber ends into the ports, as far as they will go.
4) Slide the fiber gripper back to lock. as shown below.

Grippar
Unka
7 Adapbers fer )
0.25- and 0.5-mm fibars
Senzar Faco Trimmad fibor
contrel ands

Plaatic fibar

Specifications

Supply Voltage and Current 10 to 30V dc (10% maximum ripple) at less than 25 mA
(exclusive of load)
Supply Prolection Circuitry
Protected against reverse polarity and transient voltages
Qutput Configuration
Bipolar; One current sourcing (PNP) and one current sinking (NPN) open collector
transistor
Dutput Raling
150 mA maximum each output at 25° G, derated to 100 mA at 70° G
(derate = 1 mA per ° C)
OFF-gtate leakage current: less than 1 microamp
Output saturation vollage (PNP output): < 1 volt at 10 mA, < 2 volts at 150 mA
Dutput saturation voltage (NPN outpul): < 200 millivolts at 10 mA, < 1 volt at 150 mA
Qutput Protection Circuitry
Protected against false pulse on power-up and continuous overload or
short-circuit of outputs
Dutput Response Time

Senzors will razpond to either a “light” or “dark™ signal of 1 millisecond or longer duration,

500 Hz maximum, Modification for 0.3 millisacond responsa is available (MHS-suffic

models: these models also feature reduced sensitivity range and reduced repeatability.}

NOTE: Qutputs are non-conducting during 100 millisecond delay on power-up.

Repealahility

Opposed: 0.14 milliseconds

Mon-Polarized and Polarized Retro, Diffuse, Convergent, Glass Fiber Dplic, and

Plaslic Fiber Dplic: 0.3 milliseconds
time and il ifications are ind d

of signal strength.

neeaiar porl
Plastic fiber | \
amitter port

Adjustmenis

Light/Dark Dperate Select switch
15-tumn slotted brass screw Gain (sensitivity) adjustment potentiometer (clutched at both
ends of travel)
Located on the rear panel, protected by a gasketed, clear acrylic cover.
Indicators
Patented alignment Indicator Device systam (AID™, US patent #4356393) lights a rear-
panel-mounted LED indicator when the sensor sees light. s pulse rate is proportional to
the light signal strength (the stronger the signal, the faster the pulse rate).
Construction
Reinforced thermoplastic polyester housing, totally encapsulated, o-ring sealing, acrylic
lenses, stainless steel screws
Environmental Rating
Meets NEMA standards 1. 2, 3, 35, 4. 4X, 6.12, and 13: IEC IPGT.
Connections
PVC-jacketed 4-conductor 2 m (6.5) or 9 m (30°) cables, or 4-pin Euro-style QD fitting;
QD cables available separately.
Dperaling Conditions

Temperature: -20° to +70°C {-4* 10 +158°F)

Maximum relative humidity: 90% at 50°C (nen-condanszing)
Application Nole
The NPN {current sinking) cutput of dc MINI-BEAM sensors is directly compatible as an
input to Banner logic modules, including all non-amplified MAXI-AMP and MICRO-AMP
modules. MINI-BEAMs are TTL compatibla.

Cenlifications CE @m N

Additional information on this product is immediately available online at www.bannerengineering.com/69943

View or download additional infarmation, including excess gain curves, beam patterns and accessores.
For further assistance, contact a Banner Engineening Applications Engineer at (763) 544-3164 or (888) 373-6767.

WARNING . . . Not To Be Used for Personnel Protection

Never use these products as sensing devices for personnel protection. Doing so could lead to serious injury or death.

These sensors do NOT include the self-checking redundant circuitry necessary to allow their use in personnel safety applications. A

sensor failure or malfunction can cause either an energized or de-energized sensor output condition. Consult your current Banner
Safety Products catalog for safety products which meet OSHA, ANSI and IEC standards for personnel protection.

WARRANTY: Banner Engineering Corp. warranis its products to be free from defects for one year. Banner Engineering Corp. will repair or replace, free
of charge, any product of its manufacture found to be defective at the time it is returned to the factory during the warranty period. This warranty does not
cover damage or liability for the improper application of Banner products. This warranty is in lisu of any other warranty either expressed or implied.

F/N 59943 rev. B

Banner Engineering Corp., 9714 Tenth Ave. No., Minneapalis, MN 55441 « Phone: 763.544.3164 « www bannerengineering.com = Email: sensors@bannerengineering.com




	I. GENERAL
	1.  Introduction   
	2.  Initial Operation of Equipment
	3.  Safety Symbols
	4.  Safety Tips - General    
	5.  Safety Tips – General Service & Maintenance
	6.  Safety Tips – General Electrical
	7.  Cleaning Of Equipment

	II. OPERATING FUNDAMENTALS
	1.  Introduction   
	2.  Unwind Assembly
	3.  Rewind Assembly
	4.  Electronics Assembly
	4.1 Operator Interface
	4.2 PCB
	4.3 Main Power Connection

	5.  Pneumatic Assembly
	6.  Optional Accessories
	6.1 Low Label Sensor
	6.2 Three Stage Beacon
	6.3 System Status Output
	6.4 TS Series Mounting System
	6.5 Tamp Module
	6.6 Heavy Duty Tamp Module
	6.7 Service Tamp Module
	6.8 Tampjet Upgrade
	6.9 Smart Tamp Sensor
	6.10 Tamp Home Sensor
	6.11 Swing Tamp Module
	6.12 Dual Panel Module
	6.13 Corner Wrap Module
	6.14 Main Air Cutoff
	6.15 Water Separator


	III. INITIAL SETUP
	1.  General Specifications
	1.1 Standard Features
	1.2 Overall Dimensions
	1.3 Weight
	1.4 Electrical
	1.5 Air Requirements
	1.6 Label Roll Size
	1.7 Label Style
	1.8 Standard Label Size
	1.9 Environmental Requirements
	1.10 Noise
	1.11 Safety
	1.12 Declaration of Conformity

	2.  Lifting and Moving
	2.1 Assembling the Stand Components
	2.2 Mounting the 252 Applicator
	2.3 Mounting the 252N Applicator
	2.4 Mounting the 252E Applicator 
	2.4.1 252E U-Arm Installation
	2.4.2 252E Pedestal Base Installation


	3  Installing the Accessories
	3.1 Inner Unwind Flange
	3.2 Extra (Support) Hub
	3.3 Outer Unwind Media Retainer
	3.4 Rewind Clip
	3.5 Product Detect Photocell
	3.6 Interface and Power Cables
	3.7 Three Stage Indicator Beacon
	3.8 Filter/Regulator 
	3.9 Tamp Module / Heavy Duty Tamp Module
	3.9.1 Tamp Module Installation
	3.9.2 Air Assist Bracket and Tube

	3.10 Service Tamp Assembly
	3.11 Tampjet Upgrade
	3.11.1 Tampjet Upgrade Installation

	3.12 Smart Tamp Sensor Installation
	3.13 Tamp Home Sensor Installation
	3.14 Swing Tamp Assembly
	3.15 Dual Panel Tamp Assembly
	3.16 Corner Wrap Assembly
	3.17 System Status Output
	3.18 Low Label Detector Installation

	4  User Interface Overview
	4.1 Initial Startup Screen
	4.2 Main Menu
	4.2.1 ID Logo  /
	4.2.2 Status  /
	4.2.3 Security  /
	4.2.4 Online/Offline  /
	4.2.5 Save Setup  /
	4.2.6 Vacuum Mode  /
	4.2.7 Print Mode  /
	4.2.8 Apply Mode  /
	4.2.9 Recall Setup  /
	4.2.10 Outputs  /
	4.2.11 Dwells/Delays  /
	4.2.12 Multiplier  /
	4.2.13 Back/Cancel  /
	4.2.14 Enter  /
	4.2.15 Jog  /
	4.2.16 Dual Panel  /


	5  Application Setup
	5.1 Loading Labels
	5.2 Vacuum Mode / 
	5.3 Printer Mode  /
	5.3.1 Normal Mode
	5.3.2 Reverse Mode
	5.3.3 Data Driven Mode

	5.4 Apply Mode  /
	5.4.1 Tamp Mode
	5.4.2 Tampjet Mode
	5.4.3 Reverse Tampjet Mode
	5.4.4 Airjet Mode

	5.5 Setting Online/Offline  /
	5.6 Setting the Label Sensor (Apply Only Module)
	5.7 Air Assist Delay   /
	5.8 Tamp Dwell   /
	5.9 Blast Dwell  /
	5.10 Label Feed Delay  /
	5.11 Apply Delay  / / 
	5.12 Smart Delay / Smart Tamp
	5.13 Tamp Home Sensor Setup
	5.14 Setting up Tamp Applications
	5.14.1 Setting the Tamp Position
	5.14.2 Setting the Pressures
	5.14.3 Setting the Tamp Motion
	5.14.4 Adjusting the Air Assist
	5.14.5 Setting the Vacuum

	5.15 Swing Tamp Setup
	5.16 Dual Panel Tamp Setup
	 5.17 Corner Wrap Setup
	5.17.1 Label Dispense Adjustments
	5.17.2 Label Application Adjustments

	5.18 Low Label Detection Verification

	6  Save/Recall 
	6.1 Save Configuration /
	6.2 Recall Configuration /
	6.3 System Configuration Information

	7  Dual Panel Application 
	7.1 Dual Panel Mode /
	7.1.1 Mode 1
	7.1.2 Mode 2
	7.1.3 Mode 3
	7.1.4 Mode 4
	7.1.5 Mode 5

	7.2 Dual Panel Tamp Dwell /
	7.3 Dual Panel Smart Delay /


	IV. CARE, MAINTENANCE AND TROUBLESHOOTING
	1.  Maintenance Schedule
	2.  General Cleaning and Inspection
	3.  Bearings
	4.  Troubleshooting
	5.  Main Voltage Selection
	6.  Motor Direction Selection
	7.  Changing the Fuses
	8.  Electronics Assembly
	9.  252 Firmware Update
	10.  Printer/Applicator Interface Cable Pin Mapping
	11.  Unwind Brake and Dancer Arm
	12.  Rewind Assembly Maintenance
	12.1 Drive Belt Removal
	12.2 Drive Belt Replacement
	12.3 Drive Pulley Replacement
	12.4 Drive Motor Replacement


	V. DRAWINGS AND DIAGRAMS
	Figure 1: 252 with Standard Tamp Dimensions
	Figure 2: 252 with Heavy Duty Tamp Dimensions
	Figure 3: 252N Basic Dimensions
	Figure 4: 252E Basic Dimensions
	Figure 5: 252E/U-Arm Basic dimensions
	Figure 6: 252E/Pedestal Base Basic Dimensions
	Figure 7: 252 Wiring Diagram
	Figure 8: Interface Board Layout
	Figure 9: External Connectors
	Figure 10: Internal Connectors
	Figure 11: Exploded View, 252 Base Module ID100002/ID100003
	Figure 12: Exploded View, 252 Faceplate Assembly ID100033/ID100034
	Figure 13: Exploded View, 252 Unwind Assembly ID100013/ID100014
	Figure 14: Exploded View, 252 Rewind Assembly ID100021/ID100022
	Figure 15: Assembly View, ID100001 Electronics Assembly
	Figure 16: Exploded View, 252 Pneumatics Module ID100037/ID100038
	Figure 17: Exploded View, 62200-XX Tamp Assembly
	Figure 18: Exploded View, 62260-XX Heavy Duty Tamp Assembly
	Figure 19: Exploded View, 62190-XX Service Tamp Assembly
	Figure 20: Exploded View, 62201-XX Swing Tamp Assembly
	Figure 21: Exploded View, ID100240-12-XX Dual Panel Tamp Assembly NU/ND
	Figure 22: Exploded View, ID100241-12-XX Dual Panel Tamp Assembly Reels Up
	/
	Figure 23: Exploded View, 62870-XX Corner Wrap Assembly
	Figure 24: Exploded View, 252N Assembly ID100060/ID100065
	Figure 25: Exploded View, 252E Assembly ID100070
	Figure 26: Installation Instructions, 62130 Main Air Cutoff Assembly
	Figure 27: Installation Instructions, 62150 Water Separator Assembly
	Figure 28: Risk Assessment

	VI. COMPONENT INFORMATION

